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U.G. DEGREE EXAMINATION, NOVEMBER 2015 

Commerce — Allied 

SECRETARIAL PRACTICE — II 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define shareholder. 

 £[Suõμº Áøμ¯ÖUPÄ®. 

2. What is meant by share capital? 

 £[S •uÀ GßÓõÀ GßÚ?  

3. Mention the number of directors required for a company. 

 {Ö©zvØS ÷uøÁ¯õÚ SøÓ¢u£m\ C¯US|ºPÎß 

GsoUøPø¯U SÔ¨¤kP. 

4. Who can appoint the first director of a company? 

 {Ö©zvß •uÀ C¯US|øμ {¯ª¨£Áº ¯õº? 

5. What do you mean by report? 

 AÔUøP GßÓõÀ GßÚ?  
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6. Mention the types of report. 

 AÔUøP°ß ÁøPPøÍ SÔ¨¤kP. 

7. What do you mean by final dividend? 

 CÖv £[Põuõ¯® GßÓõÀ GßÚ?  

8. What do you mean by reserves? 

 Põ¨¦ GßÓõÀ GßÚ?  

9. What is defunct company? 

 ö\¯À£hõ {Ö©® GßÓõÀ GßÚ?  

10. Who is called liquidator? 

 Pø»¨£õÍº GßÖ AøÇUP¨£k£Áº ¯õº? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Distinguish between member and shareholder. 

  EÖ¨¤Úº ©ØÖ® £[Suõμº ÷ÁÖ£kzxP. 

Or 

 (b) Explain various methods of raising capital. 

  •uø» E¸ÁõUSu¼ß £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

12. (a) Explain the nature of a company. 

  {Ö©zvß ]Ó¨¦PøÍ ÂÍUSP. 

Or 

 (b) Discuss the disqualification of a director. 

  J¸ C¯US|›ß uSv°ßø©PøÍ ÂÁõvUPÄ®. 
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13. (a) Write about ordinary resolution. 

  \õuõμn wº©õÚ® £ØÔ GÊxP. 

Or 

 (b) Write about the contents of minutes. 

  {PÌa] SÔ¨¤ß EÒÍhUP[PøÍ ÂÍUSP. 

14. (a) Elucidate the steps to be followed by the secretary 
in declaring dividend. 

  £[Põuõ¯® ÁÇ[S® ÷£õx {Ö©a ö\¯»º Pøh¤iUP 

÷Ási¯ {ø»PøÍ ÂÁ›.  

Or 

 (b) Differentiate Interest and Dividend. 

  Ámi ©ØÖ® £[Põuõ¯® ÷ÁÖ£kzxP. 

15. (a) Explain the consequences of winding up order. 

  {Ö©U Pø»¨£õøn°ß ÂøÍÄPøÍ ÂÍUSP. 

Or 

 (b) Describe about the members voluntary winding up. 

  {Ö©U Pø»¨¤øÚ £ØÔ ÂÍUSP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain about the rights and liabilities of members. 

 EÖ¨¤Ú›ß E›ø©PÒ ©ØÖ® ö£õÖ¨¦PøÍ ÂÍUSP. 

17. Explain about the duties and liabilities of a director. 

 C¯US|›ß Phø©PÒ ©ØÖ® ö£õÖ¨¦PøÍ ÂÍUSP. 
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18. Describe the different types of reports. 

 AÔUøP°ß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

19. Explain the duties of secretary regarding payments of 
dividends. 

 £[Põuõ¯® ÁÇ[SÁx öuõhº£õP {Ö©a ö\¯»›ß 

Phø©PøÍ ÂÍUSP. 

20. Describe the different modes of winding up of a company. 

 {Ö©U Pø»¨¤ß £À÷ÁÖ ÁÈPøÍ ÂÍUSP. 

 
 
 

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2015 

First Semester 

Commerce 

BUSINESS ORGANIZATION 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is the essence of trade? 

 ÁºzuPzvß \õn®\® GßÚ? 

2. What is ‘Business’? 

 Â¯õ£õμ® GßÓõÀ GßÚ?  

3. Define partnership concern. 

 TmhõÎPÒ {ÖÁÚ® – Áøμ¯øÓ u¸P. 

4. What is ‘joint stock company’? 

 Tmk£[S {ÖÁÚ® GßÓõÀ GßÚ?  

5. What is ‘firm’? 

 {ÖÁÚ® GßÓõÀ GßÚ?  

6. Define management. 

 ÷©»õsø© Áøμ¯øÓ u¸P. 

7. What is an ‘organisation’? 

 Aø©¨¦ GßÓõÀ GßÚ?  
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8. What is an ‘optimum firm’? 

 \›¯õÚ AÍÄ {Ö©® GßÓõÀ GßÚ?  

9. Who is an ‘chief executive’? 

 uø»ø© {ºÁõQ Gß£Áº ¯õº? 

10. What is ‘democeratization’? 

 ©UPÒ {ÖÁÚ ©õUSuÀ GßÓõÀ GßÚ?  

 Part B  (5  5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) State the features of business. 

  Â¯õ£õμzvß C¯À¦PøÍ öu›Â.  

Or 

 (b) State the various types of industry. 

  öuõÈÀ £À÷ÁÖ ÁøPPøÍ öu›Â. 

12. (a) State the features of sole properietership. 

  uÛ BÒ {ÖÁÚzvß C¯À¦PøÍ öu›Â. 

Or 

 (b) Sketch the features of cooperatives. 

  TmkÓÄPÎß C¯À¦PøÍ öu›Â. 

13. (a) State the elements of optimum business. 

  \›¯õÚ AÍÄ {ÖÁÚ[PÎß ‰»¨ ö£õ¸mPøÍ 

öu›Â. 

Or 

 (b) What are the factors that affecting the optimum 
firm? 

  \›¯õÚ AÍÄ {ÖÁÚzøu £õvUS® PõμoPÒ ¯õøÁ? 
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14. (a) State the need for company management. 

  P®ö£Û ÷©»õsø©°ß ÷uøÁø¯ öu›Â.  

Or 

 (b) What are the powers of board of directors? 

  {ºÁõP C¯USÚºPÎß AvPõμ[PÒ ¯õøÁ? 

15. (a) State the advantages of vertical combination. 

  ö\[Szx öuõÈÀ ÷\ºUøP°ß |ßø©PøÍ öu›Â. 

Or 

 (b) State the aim of rationalisation movement. 

  £SzuÔÁõUP C¯UPzvß SÔU÷PõÒPøÍ öu›Â.  

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the various objectives of modern business. 

 |ÃÚ Â¯õ£õμzvÀ  £À÷ÁÖ ÷|õUP[PøÍ ÂÍUSP. 

17. Differentiate private company from public company. 

 uÛ¯õº {Ö©zøu ö£õx {Ö©zvh® C¸¢x ÷ÁÖ£kzxP. 

18. Bring out the factors responsible for the survival of small 
scale business. 

 ]Ø£ AÍÂ»õÚ Â¯õ£õμzvß E°º¨¦ ußø©US 

ö£õÖ¨÷£ØP Ti¯ PõμoPøÍ öÁÎ öPõnºP. 

19. Chalkout the functions of ‘chief executive’. 

 uø»ø© {ºÁõQ°ß £oPøÍ GÊxP. 

20. Explain the important problems of public utilities. 

 ö£õx £¯ß£õmk {ÖÁÚ[PÎß •UQ¯©õÚ ¤μa\øÚPøÍ 

ÂÁ›. 

——————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2015 

Second Semester 

Commerce 

ADVANCED ACCOUNTANCY – II 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Accommodation bill? 

 £n Á\v ©õØÖa^mk GßÓõÀ GßÚ? 

2. What is dishonour of bill of exchange? 

 ©õØÖa^mk ©ÖUP¨£kuÀ GßÓõÀ GßÚ? 

3. What is average due date? 

 \μõ\› uÁøn |õÒ GßÓõÀ GßÚ? 

4. What is red ink interest? 

 ]Á¨¦ ø© Ámi GßÓõÀ GßÚ? 

5. What is abnormal loss? 

 A\õuõμn |mh® GßÓõÀ GßÚ? 

6. What is account sales statement? 

 ÂØ£øÚU PnUPÔUøP GßÓõÀ GßÚ? 
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7. What is Joint venture? 

 CønÂøÚ GßÓõÀ GßÚ? 

8. What is separate set of book method in joint venture? 

 CønÂøÚ°À uÛ Hk•øÓ GßÓõÀ GßÚ? 

9. What is Statement of affairs? 

 {ø» AÔUøP GßÓõÀ GßÚ? 

10. What is Net worth method? 

 {Pμ ©v¨¦ •øÓ GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What is renewal of bill of exchange? Give the 
journal entries in the books of the drawer. 

  ©õØÖa^møh ¦x¨¤zuÀ GßÓõÀ GßÚ? AuØS›¯ 

£vÄPøÍ Áøμ£Áº HkPÎÀ u¸P. 

Or 

 (b) On 1.4.2013 Sekar sold goods to Sarathy for  
Rs. 8,000 and on the same day drew upon a bill at 
three months for the amount. Sarathy accepted the 
bill and returned it to Sekar. On 2.4.2013, Sekar 
discounted the bill with his bank at Rs. 7,900. On 
the due date the bill was dishonoured and bank 
paid Rs. 50 as noting charges. Pass journal entries 
in the books of Sekar. 

  1.4.2013 AßÖ ÷\Pº Gß£Áº \õμvUS ¹. 8,000US 

ÂØ£øÚ ö\´QÓõº. A÷u |õÎÀ \õμv «x 3 ©õu 

Põ»zvØS ©õØÖa^miøÚ GÊxQÓõº. \õμv AuøÚ 

HØQÓõº. 2.4.2013® ÷uv¯ßÖ ÷\Pº A®©õØÖa 

^miøÚ ¹. 7,900US Á[Q°À uÒÐ£i ö\´QÓõº. 

uÁøn ÷uv¯ßÖ ©õØÖa^mk ©ÖUP¨£mhx. Á[Q¯º 

¹. 50 SÔ¨¦U Pmhn® ö\¾zvÚõº. ÷\Pº HkPÎÀ 

÷uøÁ¯õÚ •uØSÔ¨÷£mk¨ £vÄPøÍz u¸P. 
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12. (a) Under what circumstances account current is 

prepared? 

  G¢öu¢u `Ì{ø»PÎÀ |øh•øÓU PnUS 

u¯õ›UP¨£kQÓx? 

Or 

 (b) A partner has withdrawn the following sums of 
money during the half year ending 30.6.2013. Find 
out the average due date. 

 Rs.  Rs. 

15-1-2013 1,000 05-4-2013 1,600 

10-2-2013 800 20-5-2013 2,000 

12-3-2013 1,400 18-6-2013 1,500 

  J¸ TmhõÎ ¤ßÁ¸® öuõøPø¯ 30.6.2013® 

|õ÷Íõk •iÁøh²® Aøμ¯õsiÀ Gk¨£õP 

Gkzuõº. \μõ\› uÁøn |õøÍU PõsP. 

 ¹.  ¹. 

15-1-2013 1,000 05-4-2013 1,600 

10-2-2013 800 20-5-2013 2,000 

12-3-2013 1,400 18-6-2013 1,500 

13. (a) How will you treat bad debts in the consignees book 
when del credere commission is involved and not 
involved? Show it through journal entries.  

  ¤ønUPÈÄ C¸US® ÷£õx ©ØÖ® CÀ»õu ÷£õx 

AÝ¨¥k ö£Ö|›ß HkPÎÀ ÁμõUPhß GÆÁõÖ 

øP¯õÍ¨£k® Gß£øu £vÄPÒ ‰»® PõmkP. 

Or 
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 (b) Sekar consigned to Sayee 48 cases of goods costing 

Rs. 500 per case. He incurred the following expenses 
in sending the consignment. 

  Freight Rs. 850; Insurance Rs. 1,350 

  Sayee the consignee forwarded an account sales 
showing the following : Sale price of 32 cases  
Rs. 21,000. 

  Expenses incurred : 

   Clearing charges Rs. 175 

   Cartage  Rs. 121 

   Storage  Rs. 200 

  Sayee is entitled to a commission of 7% on sales. 
The market price of the goods prevailing at Sayee’s 
place shows Rs. 540 on the accounting date. 

  Show the valuation of unsold stock. 

  AhUPÂø»¯õÚ ¹. 500 Ãu® ÷\Pº Gß£Áº \õ° 

Gß£¸US 48 \μUS¨ ö£mhP[PøÍ AÝ¨¥k ö\´uõº. 

AÝ¨¥k SÔzx AÁº ö\´u ö\»ÄPÍõÁÚ : 

  \zu® ¹. 850; Põ¨¥k ¹. 1,350 

  AÝ¨¥k ö£Ö|μõÚ \õ° AÝ¨¤¯ ÂØ£øÚU 

PnUPÔUøP EÒÍh[Q¯ ö\´vPÍõÁÚ : 

  32 ö£mhP[PÒ ÂØÓ öuõøP ¹. 21,000. ö\´u 

ö\»ÄPÒ : 

  APØÖU Pmhn®   ¹. 175 

  ÁsiU Pmhn®   ¹. 121 

  £sh¨ £õxPõ¨¦a ö\»Ä  ¹. 200 

  \õ° Gß£Á¸US›¯ PÈÄ ÂØ£øÚ°À 7% BS®. 

PnUQk® |õÎÀ \õ° Gß£Á›ß ChzvÀ {»Ä® 

\¢øu Âø» ö£mhP® JßÖUS ¹. 540 BP EÒÍx. 

  ÂØPõu \μUQ¸¨¦ GÆÁõÖ ©v¨¤h¨£k® 

GÚUPõmkP. 
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14. (a) What are the differences between joint venture and 

partnership? 

  Cøn ÂøÚUS® Tmhõsø©USªøh÷¯ EÒÍ 

÷ÁÖ£õkPÒ ¯õx? 

Or 

 (b) Karthik and Savathy entered into a joint venture to 
share the results as to 2 : 1. The joint venture 
transactions were as under : 

 Karthick 
Rs. 

Sarathy 
Rs. 

Goods supplied 30,000 15,000 

Expenses paid 4,000 1,000 

Sale proceeds received 40,000 28,000 

  Show ledger accounts in the books of Karthik, 
assuming that the venture came to an end and the 
accounts settled. 

  PõºzvU, \õμv GßÓ C¸Á¸® CønÂøÚ JßøÓ 

÷©ØöPõsk C»õ£ |mh[PøÍ 2 : 1 GÝ® ÂQuzvÀ 

£Qº¢x öPõÒÍ J¨¦U öPõshÚº. AÁºPÒ ö\´u 

CønÂøÚ |hÁiUøPPÒ ¤ßÁ¸©õÖ : 

 PõºzvU

¹. 

\õμv 

¹. 

\μUS AÎzux 30,000 15,000 

ö\»Ä ö\´ux 4,000 1,000 

ÂØÓ £n® ö£ØÓx 40,000 28,000 

  CønÂøÚ •ØÖ¨ö£ØÓx GÚÄ®, AÁºPÒ PnUS 

wºzxU öPõshÚº GÚÄ® öPõsk PõºzvU Gß£Á›ß 

HkPÎÀ ÷uõßÖ® ÷£÷μmkU PnUSPøÍ PõmkP. 



AFC–7257 

  

  6

Sp 6 
15. (a) What are the advantages of single entry system?  

  JØøÓ¨ £vÄ •øÓ°ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Calculate stock at the end :  

  Stock in the beginning Rs. 20,000; cash sales  
 Rs. 40,000; credit sales Rs. 35,000; purchases  
 Rs. 50,000; rate of gross profit on cost 331/3%.  

  CÖv \μUQ¸¨ø£ PnUQkP : 

  öuõhUPzvÀ \μUS ¹. 20,000; öμõUP ÂØ£øÚ  

¹. 40,000; Phß ÂØ£øÚ ¹. 35,000; öPõÒ•uÀPÒ  

¹. 50,000; ö©õzu C»õ£® ÂQu® AhUPzvß «x 

331/3%. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. State the differences between trade bill and 
accommodation bill. 

 ÁõoP ©õØÖa^mkUS® ©ØÖ® £nÁ\v ©õØÖa ^mkUS® 

EÒÍ ÷ÁÖ£õkPøÍ TÖP. 

17. Sarathy had the following transactions with Sayee. 
  Rs. 

1.1.2013 Opening balance due to Sarathy 1,500 

10.2.2013 Sold goods to Sayee 1,000 

15.3.2013 Bought goods from Sayee 500 

20.4.2013 Received cash from Sayee 600 

15.5.2013 Sold goods to Sayee 700 

 Prepare an account current to be rendered by Sarathy to 
Sayee on 30.6.2013, charging interest at 10% p.a. 
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 \õμv, \õ° Gß£Á¸hß ¤ßÁ¸® |hÁiUøPPøÍ 

öPõskÒÍõº. 

  ¹. 

1.1.2013 \õμvUS öPõkUP ÷Ási¯ öuõhUP C¸¨¦ 1,500 

10.2.2013 \õ°US \μUS ÂØÓx 1,000 

15.3.2013 \õ°&°hª¸¢x \μUS Áõ[Q¯x 500 

20.4.2013 \õ°&°hª¸¢x öμõUP® ö£ØÓx 600 

15.5.2013 \õ°US \μUS ÂØÓx 700 

 \õ°US \õμv¯õÀ u¯õ›UP¨£k® |øh•øÓU PnUøP 

30.6.2013 AßÖ u¯õ›UPÄ®. Ámi BskUS 10%. 

18. Karthik of Chennai consigned 150 tins of oil to Sekar of 

Nellai, invoiced at Rs. 200 per tin. Karthik paid Rs. 1,000 

as carriage and other expenses. The consignor drew a bill 

of exchange for Rs. 8,000 which was later discounted at 

Rs. 7,850. The consignee rendered an account sales 

showing the following details : 

 140 tins sold at Rs. 250 per tin 

 10 tins sold at Rs. 260 per tin 

 Storage and selling expenses Rs. 2,500 

 Clearing and cartage Rs. 800 

 Commission at 6% 

 The consignee sent a draft for the balance. 

 Show the important ledger accounts in the books of 

consignor. 
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 ö\ßøÚ°¾ÒÍ PõºzvU, ö|Àø»°¾ÒÍ ÷\Pº Gß£Á¸US 

iß JßÖUS ¹. 200 GÚ Chõ¨¤mk 150 iß Gsön´ 

AÝ¨¥k ö\´uõº. _ø© T¼ HøÚ¯ ö\»ÄPÒ GÚ AÁº 

ö\»ÁÈzux. ¹. 1,000. AÁº ¹. 8,000&US ©õØÖa^mk GÊv, 

Aøu¨ ¤ÓS ¹. 7,850 US Ámh® ö\´uõº. AÝ¨¥k ö£Ö|º 

AÝ¨¤¯ ÂØ£øÚU PnUPÔUøP uõ[Q°¸¢u 

uPÁÀPÍõÁÚ : 

 iß JßÖ ¹. 250 Ãu® ÂØ£øÚ ö\´ux 140 ißPÒ 

 iß JßÖ ¹. 260 Ãu® ÂØ£øÚ ö\´ux 10 ißPÒ 

 £shPU Põ¨¦a ö\»Ä®, ÂØ£øÚ ö\»ÄPÐ® ¹. 2,500 

 APØÖU Pmhn•®, ÁsiU Pmhn•® ¹. 800 

 PÈÄ Ãu® 6% 

 E›¯ {¾øÁUS AÝ¨¥k ö£Ö|º Á[Q¨£nÂøh AÝ¨¤ 

øÁzuõº. AÝ¨¥k ö\´|º HkPÎÀ ÷uõßÓzuUP 

•UQ¯©õÚ ÷£÷μmkU PnUSPøÍ²® PõmkP. 

19. Sayee and Sarathy underbook jointly to construct  
a building for a company for a contract price of  
Rs. 1,80,000. The price was to be paid 50% in cash and 
50% in shares of a company. A banking account was 
opened jointly, Sayee contributing Rs. 45,000 and 
Sarathy Rs. 40,000. They agreed to share profit or loss in 
the proportion of 3/5 and 2/5 respectively. The joint 
venture transactions were as under : 

 Materials purchased   Rs. 74,000 

 Wages paid    Rs. 46,000 

 Establishment expenses paid  Rs. 6,000 

 The contract was completed and the price received. The 
shares were sold for Rs. 70,000. Sarathy took over the 
unused materials at Rs. 2,000. 

 Show the necessary ledger accounts in the books of the 
joint venture. 
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 \õ°, \õμv GßÓ C¸Áº J¸ {Ö©zvØS ¹. 1,80,000US 

Pmih® JßÖ Pmizu¸® CønÂøÚø¯ ÷©ØöPõsk 

•øÓ÷¯ 3-/5, 2/5 GÚ C»õ£ |mhzøu¨ £Qº¢x öPõÒÍ 

J¨¦U öPõshÚº. J¨£¢u Âø¯õQ¯ ¹. 1,80,000, £õv 

öμõUP©õPÄ®, £õv {Ö©zvß £[SPÍõPÄ® ö\¾zu¨£h 

÷Ásk®. \õ° ¹. 45,000•®, \õμv ¹. 40,000•® Cmk 

Cøn Á[QU PnUöPõßÖ xÁ[QÚº. CønÂøÚ 

|hÁiUøP ¤ßÁ¸©õÖ : 

 ‰»¨ö£õ¸Ò Áõ[Q¯x  ¹. 74,000 

 T¼ ÁÇ[Q¯x   ¹. 46,000 

 {ÖÄøPa ö\»ÄPÒ ö\¾zv¯x ¹. 6,000 

 J¨£¢u® •iUP¨ö£ØÓx. J¨£¢u Âø» ö£Ó¨£mhx. 

J¨£¢u Âø»°ß J¸ £Sv¯õQ¯ £[SPÒ ¹. 70,000US 

ÂØP¨£mhÚ. £¯ß£kzuõu ‰»¨ ö£õ¸ÒPøÍ ¹. 2,000 

GßÓ ©v¨¥miÀ \õμv GkzxU öPõshõº. 

 CønÂøÚ°ß HkPÎÀ ÷uõßÓzuUP ÷£÷μmkU 

PnUSPøÍU PõmkP. 

20. Sekar a trader does not keep proper books of accounts. 
However, he furnishes you the following particulars. 

 2012 
December 31 

Rs. 

2013 
December 31 

Rs. 

Cash at bank 4,500 3,000 

Cash in hand 300 4,000 

Stock in trade 40,000 45,000 

Debtors 12,000 20,000 

Office equipment 5,000 5,000 

Sundry creditors 30,000 20,000 

Furniture 4,000 4,000 
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 During the year Sekar introduced Rs. 6,000 as further 

capital in the business and withdraw Rs. 4,000 as 
drawings write off depreciation on furniture 10% and 
office equipment at 5%. 

 Prepare a statement showing the profit and loss made by 
him for the ended 31st December 2013. 

 ÷\Pº GÝ® ÁoPº •øÓ¯õÚ PnU÷PkPøÍ 

øÁzv¸UPÂÀø». GÛÝ® RÌUPsh ÂÁμ[PøÍ AÁº 

AÎUQÓõº. 

 2012 

i\®£º 31

¹. 

2013 

i\®£º 31

¹. 

Á[Q 4,500 3,000 

öμõUP® 300 4,000 

\μUS 40,000 45,000 

PhÚõÎPÒ 12,000 20,000 

A¾Á»P \õuÚ® 5,000 5,000 

PhÜ¢÷uõº 30,000 20,000 

AøÓP»ß 4,000 4,000 

 Bsiøh÷¯ ÷\Pº ¹. 6,000 TkuÀ •u»õP ÷£õmhõº. 

öuõÈ¼¸¢x Gk¨£õP ¹. 4,000 GkzxUöPõshõº. 

AøÓP»ß «x 10%, A¾Á»P \õuÚ® «x 5% ÷u´©õÚ® 

AÝ©vUP. 

 2013 i\®£º 31À •i²® BskUPõÚ C»õ£|mhzøu 

öÁÎ¨£kzx® AÔUøP JßøÓ u¯õº ö\´P. 

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2015 

Second Semester 

Commerce 

MARKETING 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is meant by Market segmentation? 

 \¢øu £S¨¦ Gß£uß ö£õ¸Ò ¯õx? 

2. Define the term marketing mix. 

 \¢øu°køPU P»øÁ GßÓ £uzvøÚ Áøμ¯ÖUPÄ®. 

3. What is financing? 

 {v°kuÀ GßÓõÀ GßÚ? 

4. What are the different types of buying? 

 Áõ[Su¼ß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

5. Define product policy. 

 ö£õ¸m öPõÒøP Áøμ¯ÖUPÄ®. 

6. List out any four advantages of branding. 

 ö£¯›ku¼ß |ßø©PÎÀ HuõÁx |õßQøÚ¨ £mi¯¼kP. 

Sub. Code 
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7. Define the term salesmanship. 

 ÂØ£øÚz vÓß GßÓ £uzvøÚ Áøμ¯ÖUPÄ®. 

8. What are the objectives of sales promotion? 

 ÂØ£øÚ¨ ö£¸UPzvß ÷|õUP[PÒ ¯õøÁ? 

9. Define pricing. 

 Âø»°kuÀ Áøμ¯ÖUPÄ®. 

10. What is meant by dual pricing? 

 CμmøhÂø»°kuÀ Gß£uß ö£õ¸Ò ¯õx? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the differences between marketing and 
selling? 

  \¢øu°køP ©ØÖ® ÂØ£øÚUSªøh÷¯ EÒÍ 

÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) Analyse the evolution of marketing. 

  \¢øu°køP°ß £›nõ©zvøÚ¨ £S¨£õ´P. 

12. (a) Discuss the importance of Transportation. 

  ÷£õUSÁμzvß •UQ¯zxÁzøu ÂÁõvUPÄ®. 

Or 

 (b) Differentiate standardisation from grading. 

  uμ¨£kzxuø» ÁøP¨£kzxu¼¼¸¢x ÷ÁÖ£kzxP. 
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13. (a) Discuss the features of a new product. 

  J¸ ¦v¯ ö£õ¸Îß ußø©PøÍ ÂÁõvUPÄ®. 

Or 

 (b) Explain the different classification of goods. 

  \μUSPÎß £À÷ÁÖ ÁøPP¨£kzxuø» ÂÍUSP. 

14. (a) Analyse the different media of advertisement. 

  ÂÍ®£μzvß £À÷ÁÖ \õuÚ[PøÍ¨ £S¨£õ´P. 

Or 

 (b) Explain the importance of personal selling. 

  ÷|º•P ÂØ£øÚ°ß •UQ¯zxÁzøu ÂÍUSP. 

15. (a) Explain the objectives of pricing. 

  Âø»°ku¼ß ÷|õUP[PøÍ ÂÍUSP. 

Or 

 (b) At the time of introducing a new product. What 
kind of pricing will you adopt? State its reasons. 

  J¸ ¦v¯ ö£õ¸Ò AÔ•P¨£kzu¨£k® Põ»zvÀ 

GÆÁøP¯õÚ Âø»°kuø» }Ãº ¤ß£ØÖÃº? 

AuØS›¯ Põμn[PøÍU SÔ¨¤kP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the different bases of market segmentation. 

 \¢øu¨ £S¨¤ß £À÷ÁÖ Ai¨£øhPøÍ ÂÍUSP. 

17. Explain the different functions of marketing. 

 \¢øu°køP°ß £À÷ÁÖ £oPøÍ ÂÍUSP. 
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18. Discuss the different stages involved in product life cycle. 

 ö£õ¸Îß ÁõÌUøPa _ÇØ]°À EÒÍ £À÷ÁÖ {ø»PøÍ¨ 

£S¨£õ´P. 

19. Explain the different methods of sales promotion. 

 ÂØ£øÚ¨ ö£¸UPzvß £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

20. Analyse the different factors which influence pricing 
decisions. 

 Âø»°kuÀ •iÄPøÍz ysk® £À÷ÁÖ PõμoPøÍ¨ 

£S¨£õ´P. 

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2015 

Third Semester 

Commerce 

PRINCIPLES OF INSURANCE 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. What is meant by risk? 

 Chº£õk GßÓõÀ GßÚ? 

2. What is a contract of insurance? 

 Põ¨¥k J¨£¢u® GßÓõÀ GßÚ? 

3. Write short notes on Life Insurance. 

 B²Ò Põ¨¥k £ØÔ ]ÖSÔ¨¦ ÁøμP. 

4. What is meant by endowment life policy? 

 E›ø© ÁÇ[SuÀ B²Ò Põ¨¦Öv £zvμ® GßÓõÀ GßÚ? 

5. Define the Term Assignment. 

 E›ø© AÎ¨£uØPõÚ E›¯ £zvμ® Áøμ¯Ö. 

Sub. Code 
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6. What do you understand by surrender value? 

 Âk ©v¨¦ £ØÔ }Âº AÔÁx ¯õx? 

7. Write short note on days of grace. 

 \¾øP |õmPÒ £ØÔ ]ÖSÔ¨¦ ÁøμP. 

8. What is meant by hazardous occupation? 

 A£õ¯Pμ©õÚ öuõÈÀ GßÓõÀ GßÚ? 

9. What is mean by voyage policy? 

 PhÀ £¯n vmhõÁn® GßÓõÀ GßÚ? 

10. Write short note on double insurance. 

 Cμmøh Põ¨¥k £ØÔ ]Ö SÔ¨¦ ÁøμP. 

 Section B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the features of Risk Management?  

  Chº£õk ÷©»õsø©°ß ]Ó¨¤¯À¦PÒ ¯õøÁ? 

Or 

 (b) Explain the scope of Insurance Management. 

  Põ¨¥mk ÷©»õsø©°ß GÆÁøPø¯ ÂÍUPÄ®. 

12. (a) How do you classify policies on the basis of 
endowment? 

  E›ø© ÁÇ[SuÀ Põ¨¦Öv Ai¨£øh°À GÆÁõÖ 

Põ¨¥miøÚ ÁøP¨£kzxÁõ´? 

Or 

 (b) What do you understand about pension plan? 

  K´Åv¯ vmhzøu £ØÔ }Ãº AÔ¢x öPõÒÁx ¯õx? 
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13. (a) When the policy holder under gone for medical 

examination? 

  £õ¼]uõμº G¨ö£õÊx ©¸zxÁ £›÷\õuøÚUS 

EmöPõÒÍ ÷Ásk®? 

Or 

 (b) What are the precaution to be taken by Policy 
Holder at the time of obtaining policy? 

  B²Ò Põ¨¥k £õ¼] GkUS®÷£õx £õ¼]uõμº 

PÁÚzvÀ öPõÒÍ ÷Ási¯ {£¢uøÚPÒ ¯õøÁ? 

14. (a) What are the features of Life Insurance Corporation 
of India? 

  C¢v¯ B²Ò Põ¨¥mk PÇPzvß ]Ó¨¤¯À¦PÒ 

¯õøÁ?  

Or 

 (b) What are the essential qualities require for a 
successful agent? 

  J¸ öÁØÔPμ©õÚ •PÁ›ß •UQ¯©õÚ 

Snõv\¯[PÒ ¯õøÁ? 

15. (a) What are the important characteristics of Marine 
Insurance? 

  PhÀ\õº Põ¨¥miß •UQ¯©õÚ Snõv\¯[PÒ 

¯õøÁ? 

Or 

 (b) Explain the difference kinds of Marine Insurance 
Policies. 

  PhÀ\õº Põ¨¥miß £À÷ÁÖ ÁøP¯õÚ Põ¨¦›v 

£zvμzøu ÂÁ›. 
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 Section C  (3  10 = 30) 

Answer any three questions. 

16. Discus the important benefits of Insurance Business. 

 Põ¨¥mk öuõÈ¼ß •UQ¯©õÚ |ßø©PøÍ ÂÁõvUPÄ®. 

17. What are the differences between Insurance Contract and 
wagering agreement? 

 Põ¨¥k J¨£¢u® ©ØÖ® £øn¯® J¨£¢uzvØPõÚ 

÷ÁÖ£õkPÒ ¯õøÁ? 

18. Explain in details about obtaining life policy. 

 B²Ò Põ¨¥k Gk¨£x öuõhº£õÚ uPÁÀPøÍ ÂÍUSP. 

19. Explain the role of LIC in National economy. 

 ÷u]¯ ö£õ¸ÍõuõμzvÀ C¢v¯ B²Ò Põ¨¥k PÇPzvß 

£[QøÚ ÂÍUSP. 

20. Discuss in detail the various kinds of marine lossess. 

PhÀ\õº Põ¨¥miß £À÷ÁÖ CÇ¨¦PøÍz öuÎÁõP 

ÂÁõvUPÄ®.  

   

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2015 
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Commerce 

BANKING THEORY 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define the term ‘Banking’ under the Banking Regulation 
act. 

 Á[Q°¯À GßÓ £uzøu Á[Q JÊ[PõØÖ® \mhzvß £i 

Áøμ¯Ö. 

2. What is Branch Bank System? 

 QøÍ Á[Q •øÓ GßÓõÀ GßÚ? 

3. What are the general utility services of commercial 
banks? 

 ÁoP Á[Q°ß ö£õx £¯ß£õmk £oPÒ ¯õøÁ? 

4. What is credit card? 

 Phß Amøh GßÓõÀ GßÚ? 

5. What are the various methods of credit creation? 

 Phß E¸ÁõUS® £À÷ÁÖ •øÓPÒ ¯õøÁ? 

6. Give any two objectives of Regional Rural Banks. 

 ©sh» Qμõ© Á[Q°ß ÷|õUP[PÒ H÷uÝ® CμsiøÚ 

u¸P. 

Sub. Code 
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7. What are the various methods of currency issued by 

Reserve Bank of India? 

 C¢v¯ ›\ºÆ Á[Q°ß £À÷ÁÖ £n öÁÎ±mk •øÓPÒ 

¯õøÁ? 

8. State the commercial banking functions of State Bank of 
India. 

 £õμu ì÷hm Á[Q°ß ÁoP Á[Q £oPøÍ TÖP. 

9. What are the objectives of banking ombudsman scheme? 

 Á[Q°¯À J®ö£mìö©ß vmhzvß ÷|õUP[PÒ ¯õøÁ? 

10. What do you mean by e-payments? 

 ªß ö\¾zuÀPÒ £ØÔ }Âº AÔÁx ¯õx? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the various advantages of unit banking 
system? 

  A»S Á[Q •øÓ°ß £À÷ÁÖ |ßø©PÒ ¯õøÁ? 

Or 

 (b) Explain the objectives of Industrial Development 
Bank of India. 

  C¢v¯ öuõÈÀ ÁÍºa] Á[Q°ß ÷|õUP[PÒ ¯õøÁ. 

12. (a) Discuss the demand deposits of commercial banks. 

  ÁoP Á[QPÎß ÷Pm¦ øÁ¨¦PøÍ ÂÁ›UP. 

Or 

 (b) State the various types of loans issued by 
commercial banks. 

  ÁoP Á[QPÒ ÁÇ[S® £À÷ÁÖ ÁøP PhßPøÍ 

TÖP. 
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13. (a) What are the financial resources of Regional Rural 

Banks? 

  ©sh» Qμõ© Á[Q°ß {v ÁÍ[PÒ ¯õøÁ? 

Or 

 (b) What are the problems of Regional Rural Banks? 

  ©sh» Qμõ© Á[Q°ß ¤μa\øÚPÒ ¯õøÁ? 

14. (a) Explain the term consumer credit rationing. 

  ~Pº÷Áõº Phß Pmk¨£õk £[Rk Gß£uøÚ ÂÍUSP. 

Or 

 (b) What are the differences between Reserve Bank of 
India and State Bank of India? 

  C¢v¯ ›\ºÆ Á[QUS® ©ØÖ® £õμu ì÷hm Á[QUS® 

Cøh÷¯¯õÚ ÷ÁÖ£õkPÒ ¯õøÁ? 

15. (a) What are the uses of E-banking? 

  ªßÚq Á[Q°¯¼ß £¯ß£õkPÒ ¯õøÁ? 

Or 

 (b) What is a smart card? What are its uses? 

  \õ©ºzv¯©õÚ Amøh GßÓõÀ GßÚ? Auß £¯ßPÒ 

¯õøÁ?  

 Part C  (3  10 = 30) 

Answer any three questions. 

16. State the advantages and disadvantages of Branch 
Banking. 

 QøÍ Á[Q •øÓ°ß |ßø©PÒ ©ØÖ® wø©PøÍ TÖP. 

17. Explain the role of commercial banks in the economic 
development of India. 

 C¢v¯õÂß ö£õ¸Íõuõμ •ß÷ÚØÓzvÀ ÁoP Á[QPÎß 

£[S¨ £ØÔ ÂÍUSP. 
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18. What is credit creation? What are its limitations?  

 Phß E¸ÁõUSuÀ GßÓõÀ GßÚ? Auß SøÓ£õkPÒ 

¯õøÁ? 

19. Explain the functions of Reserve Bank of India. 

 ›\ºÆ Á[Q°ß £oPøÍ ÂÍUSP. 

20. Explain the constraints of e-banking. 

 ªßÚq Á[Q°¯À ¤μa\øÚPøÍ ÂÁ›UP. 

——————— 
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BUSINESS STATISTICS 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Statistics. 

 ¦ÒÎ°¯À – Áøμ¯Ö. 

2. What is Secondary data? 

 Cμshõ® {ø» ÂÁμ[PÒ GßÓõÀ GßÚ? 

3. What is Range? 

 Ãa_ GßÓõÀ GßÚ? 

4. Mention any two demerits of standard deviation. 

 vmh Â»UPzvß wø©PÒ GøÁ÷¯Ý® Cμsøh SÔ¨¤kP. 

5. Define correlation. 

 Áøμ¯ÖUP : JmkÓÄ. 

6. Write any two differences between Correlation and 
Regression. 

 JmkÓÄUS® öuõhº÷£õUSUS® EÒÍ ÷ÁÖ£õkPÒ 

Cμsøh TÖP. 

Sub. Code 
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7. What is Consumer Price Index? 

 ~Pº÷Áõº Âø» SÔ±mk Gs GßÓõÀ GßÚ? 

8. Mention any two uses of Price Index. 

 SÔ±mk Gsoß £¯ßPÒ Cμsøh SÔ¨¤kP. 

9. What is Time series? 

 Põ»z öuõhº Á›ø\ GßÓõÀ GßÚ? 

10. Explain any two components of time series. 

 Põ»z öuõh›ß TÖPÐÒ Cμsøh ÂÍUSP. 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the characteristics of a good questionnaire.  

  |À» ÂÚõ¨£mi¯¼ß £s¦PøÍ ÂÍUSP. 

Or 

 (b) What are the sources of secondary data? 

  Cμshõ® {ø» uPÁÀ ÷\P›US® •øÓPÒ ¯õøÁ? 

12. (a) Find Geometric mean. 

X 12 18 48 61 

f 5 3 2 8 

  ö£¸USa \μõ\›ø¯ PõsP. 

X 12 18 48 61 

f 5 3 2 8 

Or 
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 (b) From the following data find Mean 

Marks 0-10 10-20 20-30 30-40 40-50 50-60 

No. of students  8 11 16 12 9 4 

  ¤ßÁ¸® ©v¨ö£sPøÍU öPõsk Tmk\μõ\›ø¯ 

PnUQkP. 

©v¨ö£s 0-10 10-20 20-30 30-40 40-50 50-60 

©õnÁºPÒ 8 11 16 12 9 4 

13. (a) Explain the importance of Correlation. 

  JmkÓÄUöPÊÂß •PQ¯zxÁzøu ÂÍUSP. 

Or 

 (b) Construct Regression equation of Y on X 

X 9 6 5 7 8 

Y 20 15 25 30 35 

  ¤ßÁ¸ÁÚÁØøÓU öPõsk X CÀ Y Cß öuõhº¦ 

÷£õUS \©ß£õmøh PshÔP. 

X 9 6 5 7 8 

Y 20 15 25 30 35 

14. (a) Construct index number using Fisher’s method. 

Article Price Quantity 

 1995 2000 1995 2000 

1 5 7 5 7 

2 3 2 5 4 

3 7 5 2 4 

4 12 10 3 8 

5 4 5 5 7 
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  ¤å›ß SÔ±möhsønU PõsP. 

ö£õ¸Ò Âø» AÍÄ 

 1995 2000 1995 2000 

1 5 7 5 7 

2 3 2 5 4 

3 7 5 2 4 

4 12 10 3 8 

5 4 5 5 7 

Or 

 (b) From the following data calculate fixed base index 
number. 

Year 2002 2003 2004 2005 2006 2007 

Price 50 55 60 65 70 75 

  ¤ßÁ¸® uPÁø»U öPõsk {ø» Ai¨£øh 

SÔ±möhsønU PshÔP. 

Year 2002 2003 2004 2005 2006 2007 

Price 50 55 60 65 70 75 

15. (a) Compute seasonal indices for various quarters 
 Quarterly production 

Year I II III IV 

2004 3.5 3.9 3.4 3.6 

2005 3.5 4.1 3.7 4.0 

2006 3.5 3.9 3.7 4.2 

2007 4.0 4.6 3.8 4.5 

2008 4.1 4.4 4.2 4.5 

Total 18.6 20.9 18.8 20.8 
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  Põ»õsk \μõ\› £¸ÁPõ» SÔ±mk Gsøn 

PnUQkP. 

 Põ»õsk EØ£zv 

Bsk I II III IV 

2004 3.5 3.9 3.4 3.6 

2005 3.5 4.1 3.7 4.0 

2006 3.5 3.9 3.7 4.2 

2007 4.0 4.6 3.8 4.5 

2008 4.1 4.4 4.2 4.5 

ö©õzu® 18.6 20.9 18.8 20.8 

Or 

 (b) Calculate 5 yearly moving average of the 
production. 

Year Production Year Production 

1999 30 2004 42 

2000 33 2005 43 

2001 35 2006 50 

2002 37 2007 55 

2003 40 2008 60 

  I¢x Bsk |P¸® \μõ\›ø¯ PõsP. 

Bsk EØ£zv Bsk EØ£zv

1999 30 2004 42 

2000 33 2005 43 

2001 35 2006 50 

2002 37 2007 55 

2003 40 2008 60 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the various methods of collecting primary data. 

 •uÀ{ø» uPÁÀPøÍ ÷\P›US® £À÷ÁÖ •øÓPøÍ 

ÂÍUSP. 

17. Calculate Quartile deviation for the following data  
Daily income 100-200 200-300 300-400 400-500 500-600 600-700 700-800 

No. of person 6 14 20 26 18 9 7 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x PõÀ©õß ÂÍUP® PnUQkP. 

Á¸©õÚ® 100-200 200-300 300-400 400-500 500-600 600-700 700-800 

GsoUøP 6 14 20 26 18 9 7 

18. Find correlation co-efficient for the following data : 

X 40 40 45 50 55 55 55 50 50 40 

Y 11 13 14 16 16 15 15 14 13 13 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x JmkÓÄU öPÊÂøÚU PõsP. 

X 40 40 45 50 55 55 55 50 50 40 

Y 11 13 14 16 16 15 15 14 13 13 

19. Construct Index number under Laspeyres and Paasche’s 
method. 

Item p0 p1 q0 q1 

A 4 7 3 5 

B 2 4 5 5 

C 5 5 3 4 

D 7 5 5 3 

E 9 10 2 2 
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 »õì¤¯º ©ØÖ® £õ÷å°ß SÔ±möhs PshÔP. 

ö£õ¸Ò p0 p1 q0 q1 

A 4 7 3 5 

B 2 4 5 5 

C 5 5 3 4 

D 7 5 5 3 

E 9 10 2 2 

20. Find out the least square equation 
Year 1998 1999 2000 2001 2002 2003 

Sales 40 38 42 45 44 47 

 SøÓ¢u ÁºUP•øÓ°ß £i ÷|º÷£õUSU÷Põk PshÔP. 

Á¸h® 1998 1999 2000 2001 2002 2003 

ÂØ£øÚ 40 38 42 45 44 47 

 

 
———————— 
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ADVANCED ACCOUNTANCY – III 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Partnership. 

 Tmhõsø©ø¯ Áøμ¯ÖUP. 

2. What do you mean by Profit & Loss appropriation 
account?  

 C»õ£ |mh £QºÄ PnUS £ØÔ }Âº AÔÁx GßÚ? 

3. What is Goodwill? 

 |ß©v¨¦ GßÓõÀ GßÚ?  

4. What is sacrificing ratio? 

 v¯õP ÂQu® GßÓõÀ GßÚ?  

5. What is Gaining Ratio? 

 Buõ¯ ÂQu® GßÓõÀ GßÚ?  

Sub. Code 
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6. What is meant by amalgamation of partnership firms?s 

 {ÖÁÚ Tmhõsø©°ß JßÔøn¨¦ £ØÔ AÔÁx GßÚ? 

7. What do you mean by dissolution of firm? 

 {ÖÁÚ Pø»¨¦ £ØÔ }Âº AÔÁx GßÚ? 

8. Who is an insolvent? 

 ö|õi¨¦ {ø»¯º Gß£Áº ¯õº? 

9. What is meant by piecemeal distribution? 

 ]ÖP ]ÖP £Qº¢uÎUS® •øÓ £ØÔ AÔÁx GßÚ? 

10. What do you understand by sale to a company? 

 J¸ {Ö©zvØS ÂØ£øÚ ö\´uÀ £ØÔ }Âº AÔÁx GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions by choosing either (a) or (b). 

11. (a) A, B and C are partners sharing profits and losses 
in the ratio of 2:3:5. A retires and D is admitted in 
his place. The new profit sharing ratio between B, C 
and D is 2:3:1. From the following prepare Capital 
accounts of partners. 

  Capital - A Rs.10,000; B Rs.15,000; C Rs.20,000 

  Profit on revaluation Rs. 10,000 General reserve 
Rs.40,000 

  Goodwill is raised at Rs.30,000 and written off at 
D’s admission. 
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  A, B  ©ØÖ® C  GßÓ TmhõÎPÒ 2:3:5 GßÓ ÂQuzvÀ 

C»õ£ |mh[PøÍ¨ £QºQßÓÚº. A K´Ä ö£ÖÁuõÀ 

AÁμx ChzvÀ D AÝ©vUP¨£kQÓõº. B,C ©ØÖ®  

D °ß ¦v¯ C»õ£ ÂQu®  2:3:1. RÌUPõq® 

ÂÁμ[PÎ¼¸¢x TmhõÎPÎß •uÀ PnUøP 

u¯õ›UPÄ®. 

  •uÀ A  : ¹. 10,000, B  : ¹. 15,000. C  : ¹. 20,000. 

  ©Ö©v¨¥miß «uõÚ C»õ£® ¹. 10,000 ö£õxUPõ¨¦ 

¹. 40,000 |Øö£¯º ¹. 30,000 BP ÷uõØÖÂUP¨£mk –

D–°ß ÷\º¨¤ØS ¤ÓS }UP¨£mhx. 

Or 

 (b) X,Y and Z are in partnership sharing profit and loss 
in the ratio 3:2:1. However Z’s share is guaranteed 
by X and Y at a fixed minimum of Rs.8,000. The net 
profit for the year ended 31st December 2004 was 
Rs36,000. Prepare profit and loss appropriation 
account and show the amount finally due to each 
partner. 

  X,Y ©ØÖ® Z GßÓ TmhõÎPÒ 3:2:1 GßÓ ÂQuzvÀ  

C»õ£ |mh[PøÍ £QºQßÓÚº. Z GßÓ C»õ£ £[S 

C¸¢uõ¾®, AÁ¸US ¹. 8,000 SøÓÄ {ø»z 

öuõøP¯õP C»õ£zv¼¸¢x ÁÇ[P¨£k® GßÖ  

X ©ØÖ® Y TmhõÎPÒ EzvμÁõu® u¸QßÓÚº. 2004 

i\®£º 31–® |õøÍ¯ {ÖÁÚzvß {Pμ »õ£® ¹. 

36,000. C»õ£ |mh £QºÄ PnUøP u¯õº ö\´x 

JÆöÁõ¸ TmhõÎUS® öPõkUP ÷Ási¯ öuõøPø¯ 

PnUQkP.  

12. (a) Enumerate the adjustments to be made before 
admitting a new partner in the firm. 

  J¸ ¦v¯ TmhõÎø¯ J¸ {ÖÁÚzvÀ ÷\ºUS® ÷£õx 

¤ß£ØÓ ÷Ási¯ \›PmkuÀPøÍ ÂÍUSP. 

Or 
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 (b) Kannan and Sundar share profits and losses in the 

ratio of 5:3, Madhavan joins on 1st April 1999. The 
following revaluations were made. 

  (i) Increase the value of building by Rs.l0,000 

  (ii) Raise goodwill for Rs.16,000 

  (iii)  Reduce the value of debtors by 
Rs.2,000.Prepare Revaluation account. 

  Psnß, _¢uº C¸Á¸® 5:3  GßÓ ÂQuzvÀ C»õ£ 

|mh[PøÍ ¤›zxU öPõÒQßÓÚº. 1999 H¨μÀ 1® |õÒ 

©õuÁß ÷\ºQÓõº. A¨÷£õx ¤ßÁ¸® ©Ö©v¨¥kPÒ 

ö\´¯¨£kQßÓÚ  : 

  (i) Pmih ©v¨ø£ ¹. 10,000 US E¯ºzxÁx 

  (ii) |ß©v¨¦ Rs.16,000US HØ£kzxÁx 

  (iii) PhÚõÎPÒ ©v¨ø£ ¹.2,000 SøÓ¨£x. 

©Ö©v¨¥mkU PnUøP u¯õ›UP. 

13. (a) Explain the various methods of treating goodwill on 
the retirement of a partner. 

  J¸ TmhõÎ Â»S® ÷£õx |Øö£¯øμ ©v¨¤k® 

£À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

Or 

 (b) A, B and C are in partnership sharing profits and 
losses equally. They take out a joint life policy for 
Rs.30,000 on 01.01.2005 and pay an annual 
premium of Rs.3,000. The books of account are 
closed on 31st December every year. C died on 
01.01.2007. The firm realized the policy amount the 
next day. Pass the necessary journal entries. 
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  A, B   ©ØÖ® C J¸ Tmhõsø©°À C»õ£ |mhzøu 

\©©õP £Qº¢x öPõÒÐ® TmhõÎPÒ. AÁºPÒ 

1.1.2005 AßÖ ¹. 30,000 ©v¨¤À J¸ Tmk B²Ò 

vmhõÁnzøu GkzuÚº. AuØS Bsk JßÖUS  

¹. 3,000  Ãu® •øÚ©® ö\¾zvÚº. PnUSPÍõÚx 

JÆöÁõ¸ Bsk® i\®£º ©õu® 31 AßÖ 

•iUP¨£kQÓx. 1.1.2007 AßÖ C Gß£Áº CÓ¢x 

Âmhõº. A¢u {ÖÁÚ©õÚx ©Ö|õÒ vmhõÁnzøu 

ÂØÓx. ÷uøÁ¯õÚ SÔ¨÷£mk £vÄPøÍ u¸P. 

14. (a) Padma, Kumudha and Vidhya are partners sharing 
profit and losses is the ratio of 2:1:1. respectively. 
Their balance sheet as an 31st December 2000 is as 
follows:  

Liabilities Rs. Assets Rs. 

Creditors 35,000 Sundry assets 1,00,000 

Capital accounts:    

Padma 25,000   

Kumudha 25,000   

Vidhya 15,000   

 1,00,000  1,00,000 

  On the above date, the firm is dissolved and the 
following were the terms agreed. The assets realized 
Rs.1,07,000. Creditors were paid Rs. 28,000, in full 
settlement. Realization expenses amounted to  
Rs. 2,000. Close the books of the firm. 

  £z©õ, S•uõ ©ØÖ® Âz¯õ C»õ£ |mhzøu •øÓ÷¯ 

2:1:1 GßÓ ÂQuzvÀ £Qº¢x öPõÒÐ® TmhõÎPÒ 

i\®£º 31,2000–À C¸¨¦ {ø» SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 35,000 £Ø£» ö\õzxUPÒ 1,00,000 

•uÀ PnUSPÒ  :    

£z©õ 25,000   
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ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

S•uõ 25,000   

Âz¯õ 15,000   

 1,00,000  1,00,000 

  ÷©ØPsh ÷uv°À {ÖÁÚ® Pø»UP¨£mk ¤ßÁ¸® 

{£¢uøÚPÒ J¨¦U öPõÒÍ¨£mhx. ö\õzxUPÒ  

¹. 1,07,000 US ÂØP¨£mhx. PhÜ¢÷uõºUS ¹. 28,000 

ö\¾zu¨£mk •Ê PnUS® wºUP¨£mhx. wºÄ ö\»Ä 

¹. 2,000. {ÖÁÚzvß HkPøÍ •izvkP. 

Or 

 (b) State the rule laid down in Garner VS Murray nile. 

  PõºÚº Gv› •º÷μ ÁÇUQÀ TÓ¨£mh Âv•øÓPøÍ 

SÔ¨¤kP. 

15. (a) What is Purchase consideration? Explain the 
various methods for calculating purchase 
consideration. 

  öPõÒ•uÀ ©Ö£¯ß GßÓõÀ GßÚ? AÁØøÓ 

PnUQkÁuØPõÚ £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

Or 

 (b) R, S and T share profits of a firm in the ratio of 

4
1

:
4
1

:
2
1

 respectively. On the date of dissolution 

their Balance Sheet stood as follows : 
Liabilities Rs. Assets Rs. 
Creditors 10,000 Sundry assets 60,000 
R’s loan 5,000 Cash in hand 1,000 
S’ s loan 3,000   
Capital :    
R 20,000   
S 15,000   
T 8,000   

 61,000  61,000 
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  The stock realized Rs. 45,000 which were received 

in instalments Rs. 15,000, Rs. 16,000 and  
Rs. 14,000. Show how proceeds should be 
distributed as and when received by following the 
proportionate capital method.  

R,S ©ØÖ® T C»õ£zøu 
4
1

:
4
1

:
2
1

 GßÓ ÂQuzvÀ 

¤›zxU öPõÒQßÓÚº. Pø»¨¤ß ÷£õx C¸¨¤ß 

{ø»U SÔ¨¦ öPõkUP¨£mkÒÍx. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõºPÒ 10,000 PhÚõÎPÒ 60,000 

R’–ß Phß P/S 5,000 öμõUP® 1,000 

S’ –ß Phß P/S 3,000   

•uÀ /S :    

R 20,000   

S 15,000   

T 8,000   

 61,000  61,000 

  ö\õzxUPÎß ÂØ£øÚ°¼¸¢x ¹. 15,000 ; ¹. 16,000 

¹. 14,000   GÚ ö©õzu® ¹. 45,000 Qøhzux. 

JÆöÁõ¸ •øÓ²® £n® ö£Ö® ÷£õx® GÆÁõÖ 

“•uÀ ÂQuzvß£i” ¤›zxU öPõkUP¨£mhx. 

Gß£øu Põs¤UPÄ®. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. X, Y and Z are partners in a firm. The net profit of the 
firm for the year ended 31st March 2007 is Rs.30,000 
which has been duly distributed amongst the partners in 
their agreed ratio of 3:1:1 respectively. It is discovered on 
10th April 2007 that the under mentioned transactions 
were not passed through the books of account of the firm 
for the year ended 31st March 2007. 
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 (a) Interest on capital at 6% per annum 

 (b) The capital of X, Y and Z being Rs.50,000, Rs.40,000 
and Rs.30,000 respectively. 

 (c)  Interest on drawings: X Rs.350; Y Rs.250; Z Rs.150 

 (d)  Partners salaries: X Rs.5000; V Rs.7,500 

 (e) Commission due to X (for some special transaction) 
Rs.3,000. 

  You are required to pass a single journal entry to be 
made on 10th April 2007. 

 J¸ {ÖÁÚzvß X,Y ©ØÖ® Z BQ¯ ‰Á¸® TmhõÎPÒ.  

31 ©õºa 2007 AßÖ •iÁøh¯ Ti¯ Põ»zvØPõÚ {Pμ 

»õ£® ¹. 30,000. C¢u C»õ£zøu 3:1:1 GÝ® ÂQuzvÀ 

TmhõÎPÒ £Qº¢x öPõshÚº. 31 ©õºa 2007 AßÖ 

öuõhº¦øh¯ ¤ßÁ¸® |hÁiUøPPøÍ PnUQÀ 

GkzxUöPõÒÍ¨£hõux H¨μÀ 10, 2007 AßÖ öu›¯Á¢ux. 

 (A) •uÀ «uõÚ Ámi Bsk JßÖUS 6%. 

 (B) X,Y ©ØÖ® Z BQ÷¯õ›ß •uÀ •øÓ÷¯ ¹. 50,000.  

¹. 40,000 ©ØÖ® ¹. 30,000 BS®. 

 (C) Gk¨¦ «uõÚ Ámi X-¹.350 ; Y-¹.250 ; Z-¹.150 

 (D) TmhõÎPÎß Fv¯® X-¹.5000 ; Y-¹.7500.  

 (E) XUS öPõk£h ÷Ási¯ PÈÄ (]» •UQ¯©õÚ 

|hÁiUøPPÐUPõP) ¹. 3,000 H¨μÀ 10, 2007 AßÖ 

÷©ØTÔ¯ |hÁiUøPPøÍ P¸zvÀ öPõsk J¸ 

SÔ¨÷£mk £vøÁz u¸P. 

17. A, B, C were partners entitled to 1/2, 1/3 and 1/6 share of 
profit respectively. Summary of their balance sheet on 31-
12-1998 was as follows : 
Liabilities Rs. Rs. Assets Rs. 

Sundry Creditors  15,000 Goodwill 50,000 

Capital :   Sundry assets 60,000 

A 70,000  Cash 55,000 
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Liabilities Rs. Rs. Assets Rs. 

B 50,000    

C 30,000 1,50,000   

  1,65,000  1,65,000 

 The following steps were taken on 31st January 1999. 

 (a) C retired and his interest in firm was valued at  
Rs. 40,000 it was purchased by A and B from their 
private resources in their profit sharing proportion. 

 (b)  D was admitted and become entitled to 1/6 share of 
profits on the condition that A and B should be 
credited in the profit ratio for goodwill amounting 
Rs. 30,000 he should bring in D capital equal to 1/5 
of combined capital of A and B for adjustment. 
Prepare partners capital accounts and show the 
opening balance sheet of the reconstituted firm as 
01-01-1999. 

 A,B,C TmhõÎPÒ 1/2,1/3 ©ØÖ® 1/6 AßÖ ÂQuzvÀ 

C»õ£zøu £Qº¢x öPõÒQßÓÚº. 31.12.1998 C¸¨¦ {ø»U 

SÔ¨¦ öPõkUP¨£mkÒÍx. 

ö£õÖ¨¦PÒ ¹. ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº  15,000 |ß©v¨¦ 50,000 

•uÀ :   £Ø£» ö\õzxUPÒ 60,000 

A 70,000  öμõUP® 55,000 

B 50,000    

C 30,000 1,50,000   

  1,65,000  1,65,000 

 RÌUPsh |hÁiUøPPÒ áÚÁ› 1, 1999 GkUP¨£mhx 

 (A) C K´Ä ö£ØÓõº. AÁ¸øh¯ £[S ¹. 40,000 GÚ 

©v¨¤h¨£mk A ²® B ²® A¨£[øP AÁºPÐøh¯ 

»õ£¨ £QºÄ •øÓ°À ö\õ¢u {v°¼¸¢x 

Áõ[P¨£mhx. 
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 (B) D, 1/6 C»õ£ £[QØS TmhõÎ¯õP HØÖU 

öPõÒÍ¨£mhx. A ²® B²® ¹. 30,000 ©v¨¦ÒÍ |ß 

©v¨ø£ »õ£ ÂQu¨£i £Qº¢x öPõÒÍ HØP¨£mhx. 

A,B °ß \›Pmh¨£mh ¤ßÝÒÍ •u¼ØS 1/5 

AÍÂØS D •uÀ öPõsk Áμ ÷Ásk®. TmhõÎPÒ 

•uÀ PnUSPøÍ²® ¦v¯ Tmhõsø©°ß öuõhUP 

01—01–1999ß C¸¨¦ {ø»U SÔ¨ø£²® u¸P. 

18. Prince, Queen and Raja share profits in the ratio of 3:2:2. 
On 30th April 2005 Raja died. Their Balance sheet on  
31st December 2004 was as follows : 

Liabilities Rs. Assets Rs. 

Creditors 12,900 Cash and Bank 5,000 

General reserve 5,200 Debtors 10,000 

Reserve for 
doubtful debts 

800 Stock 10,000 

Capital :  Investments 5,000 

Prince 30,000 Building 40,000 

Queen 20,000 Good will 18,900 

Raja 20,000   

 88,900  88,900 

 On the date of death it was found that; 

 (a) Building be valued at Rs.58,000 Investment at 
Rs.4,700; Stock Rs.9,400. 

 (b) Goodwill be valued at one year’s purchase of the 
average profits of the past five years. 

 (c)  Raja’s profit to the date of death be calculated on 
the basis of the average profits of the preceding 
three years. The profits of the last five years were: 
2000 – Rs. 11,500; 2001 – Rs.14,000; 2002 – 
Rs.9,000; 2003 – Rs.8,000; 2004. – Rs.l0,000 

  Prepare Raja’s account and show the new Balance 
sheet. 



AFC–7262 

  

  11

Sp4 
 ¤›ßì, S°ß ©ØÖ® μõáõ BQ¯ ‰Á¸® 3:2:2  GÝ® 

ÂQuzvÀ C»õ£zøu £Qº¢x öPõÒQßÓÚº. 30, H¨μÀ 2005 

AßÖ μõáõ C¯ØøP G´vÚõº. AÁºPÍx 31, i\®£º 2004 

AßøÓ¯ C¸¨¦ {ø»USÔ¨¦ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõºPÒ 12,900 öμõUP® ©ØÖ® 

Á[Q 

5,000 

ö£õx Põ¨¦ 5,200 PhÚõÎPÒ 10,000 

Áõμõ I¯UPhß 

JxUS 

800 \μUQ¸¨¦ 10,000 

•uÀ :  •u½kPÒ 5,000 

¤›ßì 30,000 Pmih® 40,000 

S°ß 20,000 |Øö£¯º 18,900 

μõáõ 20,000   

 88,900  88,900 

 μõáõ CÓ¢u ÷uv°À ¤ßÁ¸£ÁÚ öu›¯ Á¢ux : 

 (A) Pmih©õÚx ¹. 58,000 US®, •u½kPÍõÚx  

¹. 4,700US® \μUQ¸¨£õÚx ¹. 9,400 US® 

©v¨¥h¨£mhx. 

 (B) |Øö£¯μõÚx Ph¢u 5 BskPÎß \μõ\› C»õ£zvÀ 

Kº Bsk öPõÒ•uÀ GßÓ Ai¨£øh°À 

©v¨¥h¨£mhx. 

 (C) CÓ¢u ÷uv°À μõáõÂß C»õ£® Ph¢u ‰ßÖ 

BskPÎß \μõ\› C»õ£zvÀ PnUQh¨£kQÓx. 

Ph¢u I¢x BskPÎß C»õ£[PÒ •øÓ÷¯  ; 2000 – 

¹. 11,500 ; 2001– ¹. 14,000  ; 2002 – ¹. 9000; 2003 – 

¹. 8,000 ; 2004 – ¹. 10,000 μõáõÂß PnUøP 

u¯õºö\´x ¦v¯ C¸¨¦{ø»U SÔ¨ø£ PõmkP. 
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19. The following was balance sheet of A, B and C as on  

31-12-2002 : 

Liabilities Rs. Assets Rs. 

Creditors 12,000 Machinery 25,000 

General reserve 3,000 Stock 11,000 

Capital :  Debtors 9,500 

A 20,000 Good will 13,000 

B 15,000 Cash 1,500 

C 10,000   

 60,000  60,000 

 On the above date the firm was dissolved. The assets 

realized Rs. 50,000. The creditors were settled Rs. 11,500. 
Dissolution expenses amounted to Rs. 1,000. The 

partners had 3:2:1 as their profit sharing ratio. Give the 
necessary journal entries and ledger accounts to close the 

books. 

 2002 i\®£º 31 AßÖ A,B,C–°ß C¸¨¦{ø»U SÔ¨¦ 

¤ßÁ¸©õÖ EÒÍx. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 12,000 G¢vμ® 25,000 

ö£õxUPõ¨¦ 3,000 \μUQ¸¨¦ 11,000 

•uÀ :  PhÚõÎPÒ 9,500 

A 20,000 Áõo£ |Øö£¯º 13,000 

B 15,000 öμõUP® 1,500 

C 10,000   

 60,000  60,000 



AFC–7262 

  

  13

Sp4 
 C÷u |õÎÀ Tmhõsø© Pø»UP¨£kQÓx. GÀ»õ 

ö\õzxUPÐ® ¹. 50,000 US ÂØP¨£mhx. PhÜ¢÷uõ¸US ¹. 

11,500 öPõkUP¨£mhx. Pø»¨¦ ö\»Ä ¹. 1,000 BS®. 

TmhõÎPÒ C»õ£ |mh[PøÍ •øÓ÷¯ 3:2:1 GßÝ® 

ÂQuzvÀ £Qº¢x öPõshÚº. PnUSPøÍ •i¨£uØPõÚ 

SÔ¨÷£k ©ØÖ® ÷£÷μkPøÍz u¸P. 

20. A, B and C are partners in a partnership firm. They 
dissolved their partnership on 31.12.2005. They share  

profits in the ratio of 5:3:2. Their Balance sheet was as 
follows : 

Liabilities Rs. Assets Rs. 

Capital :  Premises 40,000 

A 50,000 Plant 30,000 

B 15,000 Stock 30,000 

C 45,000 Debtors 60,000 

Creditors 40,000   

A’s loan 10,000   

 1,60,000  1,60,000 

  The assets were realized as follows.  

 First instalment Rs. 30,000 Second instalment Rs. 73,000 

 Third instalment Rs. 47,000 

 Prepare a statement showing how the distribution to the 
partner should be made. 

 A, B ©ØÖ® C ‰Á¸® J¸ Tmhõsø©°À TmhõÎPÒ 

31.12.2005 ÷uv°ß  £i A¢{ÖÁÚ® Pø»UP¨£mhx. 

AÁºPÒ C»õ£ |èhzøu 5:3:2 GÚ £Qº¢uÚº. AßøÓ¯ 

C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ. 
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ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ :  ÁÍõP® 40,000 

A 50,000 ö£õÔÁøP 30,000 

B 15,000 \μUQ¸¨¦ 30,000 

C 45,000 PhÚõÎPÒ 60,000 

PhÜ¢÷uõºPÒ 40,000   

A’–ß Phß 10,000   

 1,60,000  1,60,000 

 ö\õzxUPøÍ ÂØÖ ¤ßÁ¸©õÖ £n® ö£Ó¨£mhx. 

 •uÀ uÁøn ¹. 30,000 CμshõÁx uÁøn ¹. 73,000 

 ‰ßÓõÁx uÁøn ¹. 47,000 

 TmhõÎPÎß £n® £QºÄ ÁÇ[PÀ £mi¯ø» u¯õ›UP. 

——————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2015. 

Fourth Semester 

Commerce 

PRINCIPLES OF MANAGEMENT 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is ‘Management’? 

 ÷©»õsø© GßÓõÀ GßÚ? 

2. What is ‘Staffing’? 

 £o¯õÍº {¯©Ú® GßÓõÀ GßÚ? 

3. What is Planning? 

 vmhªhÀ GßÓõÀ GßÚ? 

4. State the aim of Decision Making. 

 •iöÁkzu¼ß SÔU÷PõøÍ SÔ¨¤kP. 

5. What is the aim of Departmentalization? 

 xøÓ©¯©õUSuÀ SÔU÷PõÒ GßÚ? 

Sub. Code 
1BCO4C1 
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6. Who is an Authority? 

 AvPõμ® Eøh¯Áº Gß£Áº ¯õº? 

7. What is ‘Direction’? 

 C¯USÂzuÀ GßÓõÀ GßÚ? 

8. Define Communication. 

 uPÁÀ öuõhº¦ & Áøμ¯øÓ u¸P. 

9. Who is Herzberz? 

 öíUì£ºì Gß£Áº ¯õº? 

10. State and one control technique. 

 Pmk¨£õmk ~m£zvÀ JßøÓ SÔ¨¤kP. 

 Part B  (5  5 = 25) 

Answer all questions choosing either (a) or (b). 

11.  (a) State and explain the main features of management. 

  ÷©»õsø©°ß •UQ¯ ußø©PøÍU SÔ¨¤mk ÂÍUSP. 

Or 

 (b)  State the contribution of Peter F. Druckes for 
management. 

  ÷©»õsø©US ¥mhº G¨. iμõUP›ß £[QøÚ öu›Â. 

12. (a) State the importance of Planning. 

  vmhªh¼ß •UQ¯zxÁzøu öu›Â. 

Or 

 (b)  State the importance of Decision Making. 

  •iöÁkzu¼ß •UQ¯zxÁzøu öu›Â. 
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13. (a) Write a note on ‘Contribution of Authority’. 

  AvPõμ SÂ¨¦ & SÔ¨¦ ÁøμP. 

Or 

 (b)  Write a note on ‘Decentralisation of Authority’. 

  AvPõμ £μÁ»õUSuÀ – SÔ¨¦ ÁøμP. 

14. (a) State the importance of Direction. 

  C¯USu¼ß •UQ¯zxÁzøu öu›Â. 

Or 

 (b)  State the need for Motivation. 

  FUSÂzu¼ß ÷uøÁø¯ öu›Â. 

15. (a) State the importance of control. 

  Pmk¨£kzxu¼ß •UQ¯zxÁzøu öu›Â. 

Or 

 (b)  State the importance of Coordination. 

  J¸•P¨£kzxu¼ß •UQ¯zxÁzøu öu›Â. 

 Part C  (3  10 = 30) 

Answer any three questions. 
 

16. Explain the various functions of Management. 

 ÷©»õsø©°ß £À÷ÁÖ £oPøÍ ÂÁ›. 

17. Explain the characteristics of Planning. 

 vmhªh¼ß £s¦|»ßPøÍ ÂÍUSP. 
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18. Explain the various importance of Organisation. 

 Aø©¨¦PÎß £À÷ÁÖ •UQ¯zxÁzøu ÂÁ›. 

19. Explain the various types of Communication. 

 uPÁÀ öuõhº¤ß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

20. Explain the characteristics of a good system of control. 

 |À» •øÓ¯õP Pmk¨£kzxu¼ß £s¦ |»ßPøÍ ÂÁ›. 

————————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2015 

Fourth Semester 

Commerce 

BANKING LAW AND PRACTICE 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Who is a customer? 

 ÁõiUøP¯õÍº Gß£Áº ¯õº? 

2. What do you mean by Lien? 

 £ØÖ›ø© Gß£uß ö£õ¸Ò GßÚ? 

3. What is fixed deposit? 

 {ø» øÁ¨¦ GßÓõÀ GßÚ? 

4. What is Garnishee order? 

}v ©ßÓ uøh Bøn GßÓõÀ GßÚ? 

5. Define bill of exchange. 

 ©õØÖa^miß ÁøμÂ»UPn® u¸P. 

6. Who can draws a cheque? 

 J¸ Põ÷\õø»°À ¯õº RÓ¼h»õ®? 

Sub. Code 
1BCO4C2 



AFC–7264 

  

  2

Sp 3 
7. Define Endorsement. 

 ¦ÓUSÔ¨¤ß ÁøμÂ»UPn® u¸P. 

8. What is payment in due course? 

 •øÓ¨£i ö\¾zxuÀ GßÓõÀ GßÚ? 

9. Write a note on letter of credit. 

 |õn¯ ©õØÖ Piu® £ØÔ SÔ¨¦ ÁøμP. 

10. What is credit card? 

 Phß Amøh GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the term banker. 

  Á[Q¯º GÝ® £uzøu ÂÍUSP. 

Or 

 (b) Explain the rights of a banker. 

  J¸ Á[Q¯›ß E›ø©PøÍ ÂÍUSP. 

12. (a) What are the salient features of fixed deposit 
receipt? 

  {ø» øÁ¨¦ μ^vß ]Ó¨¦ ußø©PÒ ¯õøÁ? 

Or 

 (b) In what circumstances a banker can close the 
accounts of a customer? 

  G¢öu¢u `Ì{ø»PÎÀ J¸ Á[Q¯º ÁõiUøP¯õÍ›ß 

PnUøP •iÄUS öPõsk Áμ»õ®? 
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13. (a) Difference between cheque and bill of exchange. 

  Põ÷\õø» ©ØÖ® ©õØÖa ^møh ÷ÁÖ£kzxP. 

Or 

 (b) What is the legal position of a banker regarding 
material alteration? 

  P¸{ø»z v¸zu® öuõhº£õP J¸ Á[Q¯›ß {ø» 

¯õx? 

14. (a) Briefly explain the following types of endorsement 
with example 

  (i) partial endorsement 

  (ii) conditional endorsement. 

  RÌU SÔ¨¤mkÒÍ ¦ÓUSÔ¨¤h¼ß ÁøPPøÍ 

Euõμn[PÐhß ÂÍUSP. 

  (i) £Sv¨¦ÓU SÔ¨¦ 

  (ii) {£¢uøÚ¨ ¦ÓU SÔ¨¦. 

Or 

 (b) Narrate the precautions to be taken by a paying 
banker before making payment of a cheque. 

  J¸ Põ÷\õø»US¨ £n® ö\¾zx® •ß¦ J¸ Á[Q¯º 

÷©ØöPõÒÍ ÷Ási¯ •ßöÚa\›UøPPøÍ 

Á›ø\¨£kzxP. 

15. (a) Briefly explain about various forms used in day to 
day banking operation. 

  Á[Q°À |õÒ÷uõÖ® £¯ß£kzuUTi¯ £À÷ÁÖ 

£iÁ[PøÍ £ØÔ _¸UP©õP ÂÁ›. 

Or 

 (b) What are the features of a traveller's cheque? 

  £¯o¯º Põ÷\õø»°ß ußø©PÒ ¯õøÁ? 
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 Part C  (3  10 = 30) 

Answer any three of the following questions. 

16. Explain the general relationships between a banker and 
customer. 

 Á[Q¯¸US®, ÁõiUøP¯õÍ¸US ªøh÷¯ EÒÍ ö£õx 

EÓÄPÒ £ØÔ ÂÍUSP. 

17. What are the precautions to be followed while opening an 
account in the name of the Joint Stock Company? 

 Tmk¨ £[S {Ö©zvß «x Á[Q PnUøPz xÁ[S® 

ö£õÊx PÁÚzvÀ öPõÒÍ ÷Ási¯øÁPÒ ¯õøÁ? 

18. Explain special features of a cheque. 

 Põ÷\õø»°ß ]Ó¨¦ ußø©PøÍ ÂÍUSP. 

19. Explain different kinds of Endorsement. 

 ¦ÓUSÔ¨¤ß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

20. Explain the statutory protection available to a collecting 
banker. 

 Á`¼US® Á[Q¯¸USU QøhUP¨£k® \mh §ºÁ 

£õxPõ¨¤øÚ ÂÍUSP. 

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2015 

Fourth Semester 

Commerce 

BUSINESS MATHEMATICS 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. What is meant by Bankers Gain? 

 Á[Q¯›ß Buõ¯® £ØÔ AÔÁx GßÚ? 

2. What is Average due date? 

 \μõ\› uÁøn |õÒ GßÓõÀ GßÚ? 

3. Define Logarithm. 

 ©hUøPø¯ Áøμ¯ÖUP. 

4. Give any two laws of Logarithm. 

 ©hUøP°ß H÷uÝ® Cμsk ÂvPøÍ u¸P. 

5. What is meant by Empty set? 

 öÁØÖ Pn® £ØÔ AÔÁx GßÚ? 

6. What is Infinite set? 

 •iÂÀ»õ Pn® GßÓõÀ GßÚ? 

Sub. Code 
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7. What is simple and compound events? 

 \õuõμn ©ØÖ® Tmk {PÌÄ GßÓõÀ GßÚ? 

8. What is meant by mutually exclusive events? 

 £μì£μ öÁÎ¨£øh¯õÚ {PÌÄ £ØÔ AÔÁx GßÚ? 

9. What is theoretical distribution? 

 AÔ•øÓ £μÁÀ GßÓõÀ GßÚ? 

10. What is Normal curve? 

 C¯À£õÚ ÁøÍÄ GßÓõÀ GßÚ? 

 Section B  (5  5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) A producer earns 12% profit on the cost if he sold 
the goods for trade discount of 20%. Find out by 
what percentage the listed price should be raised to 
earn a profit of 17% after allowing a trade discount 
of 25%. 

  J¸ EØ£zv¯õÍº 20% Â¯õ£õμ uÒÐ£i°À 

ö£õ¸ÒPøÍ ÂØ£øÚ ö\´uõÀ AÁº AhUPÂø»°ß 

«x 12% C»õ£® ö£ÖÁõº. ö£õ¸Îß «x 25% 

Â¯õ£õμ uÒÐ£i PÈzu ¤ÓS 17% C»õ£zøu Aøh¯ 

AÁº GzuøÚ \uÃu® £mi¯¼h¨£mh Âø»ø¯ 

AvP›UP ÷Ásk® Gß£øu PõsP. 

Or 

 (b) The annual increase of population of a city is found 
to be 4% approximately. The population of the city 
was 25 lakhs at the end of 1995. What will be the 
population at the end of 2005? 

  J¸ |PμzvÀ Bsk ÷uõÖ® AvP›US® ©UPÒöuõøP 

÷uõμõ¯©õP 4% BS®. 1995 B® Bsk CÖv°À 

A¢u |PμzvÝøh¯ ©UPÒöuõøP 25 C»m\® BS®. 

2005 B® BsiÖv°À A¢u |Pμzvß ©UPÒöuõøP 

GßÚ? 
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12. (a) Solve : 63log9log  xx . 

  wºUP : ©hUøP 9x  ©hUøP 63 x . 

Or 

 (b) If 47712.03log   and 6990.05log  , Calculate  
(i) 75log  (ii) 006.0log  (iii) .225log  

  ©hUøP 3 = 0.47712 ©ØÖ® ©hUøP 5 = 0.6990 GÛÀ 

PnUQkP. (i) ©hUøP 75  (ii)  ©hUøP 0.006  
(iii) ©hUøP 225. 

13. (a) Explain the various operations of set. 

  Pnzvß £À÷ÁÖ ö\¯À£õkPøÍ ÂÍUSP. 

Or 

 (b) State and prove De-Morgan’s law. 

  j&©õºUPß Âvø¯ TÔ Aøu {ÖÄP. 

14. (a) A bag contains 8 yellow and 7 black balls. What is 
the probability of drawing 4 black balls? 

  J¸ ø£°À 8 ©g\Ò ©ØÖ® 7 P¸¨¦ {Ó £¢xPÒ 

EÒÍÚ. AvÀ 4 P¸¨¦ {Ó £¢xPøÍ GkUP {PÌuPÄ 

GßÚ? 

Or 

 (b) A problem in statistics is given to three students A, 
B and C. Their chances of solving it are 1/2, 1/3 and 
1/4 respectively. What is the probability that the 
problem will be solved? 

  ¦ÒÎ°¯¼À J¸ PnUPõÚx A, B ©ØÖ® C BQ¯ 

‰ßÖ ©õnÁºPÐUS öPõkUP¨£mhx. AÁºPÒ 

AUPnUøP wº¨£uØPõÚ Áõ´¨¦ •øÓ÷¯ 1/2, 1--/3 

©ØÖ® 1/4 BS®. AUPnUøP wº¨£uØPõÚ {PÌuPÄ 

GßÚ? 
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15. (a) Show that the mean of the Binomial distribution is 

np . 

  D¸Ö¨¦ £μÁ¼ß \μõ\›¯õÚx np  Gß£øu PõmkP. 

Or 

 (b) State the salient features of Normal curve. 

  C¯À{ø» ÁøÍÂß •UQ¯ A®\[PøÍ TÖP.  

 Section C  (3  10 = 30) 

Answer any three questions. 

16. Find the equated date of the following 5 bills drawn on  
1st  January 2002. 

 (a) Bill of Rs. 5,000 due in 4 months 

 (b) Bill of Rs. 1,200 due in 2 months 

 (c) Bill of Rs. 1,500 due in 3 months 

 (d) Bill of Rs. 2,000 due in 5 months 

 (e) Bill of Rs. 3,000 due in 6 months. 

 1.1.2002 AßÖ GÊu¨£mh ¤ßÁ¸® 5 Esi¯¼ß \©{ø» 

÷uvø¯ PõsP. 

 (A) ¹. 5,000UPõÚ Esi¯À 4 ©õu[PÎÀ ö\¾zu 

÷Ási¯x 
 (B) ¹. 1,200UPõÚ Esi¯À 2 ©õu[PÎÀ ö\¾zu 

÷Ási¯x 
 (C) ¹. 1,500UPõÚ Esi¯À 3 ©õu[PÎÀ ö\¾zu 

÷Ási¯x 
 (D) ¹. 2,000UPõÚ Esi¯À 5 ©õu[PÎÀ ö\¾zu 

÷Ási¯x 
 (E) ¹. 3,000UPõÚ Esi¯À 6 ©õu[PÎÀ ö\¾zu 

÷Ási¯x. 
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17. If 12log24a ; 24log36b  and 36log48c  prove that 

bcabc 21  . 

 a  ©hUøP 24  12; b  ©hUøP 36  24 ©ØÖ® c  ©hUøP 48  

36 GÛÀ bcabc 21   Gß£øu {ÖÄP. 

18. Out of 880 boys in a school, 224 played cricket, 
240 played hockey and 336 played basketball; of the total, 
64 played both basketball and hockey; 80 played cricket 
and basketball and 40 played cricket and hockey. 24 
played all the three games. How many did not play any of 
the games and how many played only one game? 

 J¸ £ÒÎ°À ö©õzu•ÒÍ 880 ©õnÁºPÎÀ 224 ÷£º 

©møh£¢x®, 240 ÷£º ÷PõÀ£¢x® ©ØÖ® 336 Tøh£¢x® 

ÂøÍ¯õkQßÓÚº. ö©õzu ©õnÁºPÎÀ 64 ÷£º Tøh£¢x 

©ØÖ® ÷PõÀ£¢x®, 80 ÷£º ÷PõÀ£¢x ©ØÖ® Tøh£¢x®,  

40 ÷£º ©møh£¢x ©ØÖ® ÷PõÀ£¢x® ÂøÍ¯õkQßÓÚº. 

24 ÷£º AøÚzx ‰ßÖ ÂøÍ¯õmøh²® 

ÂøÍ¯õkQßÓÚº. GzuøÚ ÷£º G¢uöÁõ¸ 

ÂøÍ¯õmøh²® ÂøÍ¯õhÂÀø» Gß£øu²®, GzuøÚ 

÷£º J¸ ÂøÍ¯õmøh ©mk® ÂøÍ¯õkQßÓÚº Gß£øu 

²® PnUQkP. 

19. A bag contains 5 red and 7 black balls. Find the 
probability that the first draw will give 3 red and second 
draw gives 2 black balls, when (a) balls are replaced after 
the first draw, (b) balls are not replaced after the first 
draw. 

 J¸ ø£°À 5 ]P¨¦ ©ØÖ® 7 P¸¨¦ {Ó¨ £¢xPÒ EÒÍÚ. 

¤ßÁ¸® {ø»PÎÀ •u¼À GkUS® ö£õÊx 3 ]P¨¦ 

£¢xPÐ® ©ØÖ® CμshõÁx GkUS® ö£õÊx 2 P¸¨¦ 

{Ó¨ £¢xPÐ® QøhUP {PÌuPÄ GßÚ? (A) •u¼À Gkzu 

£¢øu v¸®£ øÁzuõÀ (B) •u¼À Gkzu £¢øu v¸®£ 

øÁUPõ©À C¸¢uõÀ. 
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20. Fit a Poisson distribution to the following data and 

calculate the theoretical frequencies : 

X : 0 1 2 3 4 

F : 123 59 14 3 1 

 ¤ßÁ¸® uPÁÀPÐUS J¸ £õ´éõß £μÁø» ö£õ¸zv, 

AÔ•øÓ Aø»öÁsPøÍ PnUQkP. 

X : 0 1 2 3 4 

F : 123 59 14 3 1 

——————— 
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Commerce 

ADVANCED  ACCOUNTANCY – IV 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is meant by Royalty? 

 E›ø©z öuõøP GßÓõÀ GßÚ? 

2. Write note on ‘Goods in Transit’. 

 ‘ÁÈ°øh \μUS’ – SÔ¨¦ ÁøμP. 

3. Explain Hire Purchase System. 

 ÁõhøP öPõÒ•uÀ •øÓ°øÚ ÂÍUSP. 

4. What is Instalment System? 

 uÁøn •øÓ GßÓõÀ GßÚ? 

5. What are the main objects of maintaining Branch 
Accounts? 

 QøÍ PnUSPøÍ £μõ©›¨£uØPõÚ •UQ¯ ÷|õUP[PÒ 

¯õøÁ? 

Sub. Code 
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6. Bring out the impact of ‘non-payment’ of any instalment 

amount in Hire purchase. 

 ÁõhøP öPõÒ•uÀ •øÓ°À uÁønz öuõøP 

öPõkUPõuuõÀ HØ£k® ÂøÍÄPÒ ¯õøÁ? 

7. What are the need for Departmental Accounting? 

 xøÓÁõ› PnUSUPõÚ ÷uøÁ ¯õøÁ? 

8. Explain Insolvency. 

 ö|õi¨¦ {ø» ÂÍUSP. 

9. State the different types of Branches. 

 QøÍPÎß £À÷ÁÖ ÁøPPøÍ TÖP. 

10. How will you allocate expenses in departmental 
Accounts? 

 xøÓÁõ› PnUQÀ ö\»ÂÚ[PÒ GÆÁõÖ £Qμ¨£kQÓx? 

 Part B  (5  5 = 25) 

Answer all of the following questions choosing either from  
(a) or (b). 

11. (a) F Ltd. opened a branch on 1st January 1998 at 
Delhi. The figures given below are for the year 1988. 

 Rs. 

Goods sent to Branch 25,000 

Sales :  

    Cash 10,000 

    Credit 18,000 

Cash received from Debtors 16,000 

Discount allowed to them 300 

Cash sent to Branch for expenses 3,500 

Stock on 31st December 1998 4,000 

Give Journal entries  
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   F ¼m 1998 B® Bsk áÚÁ› •uÀ |õÒ öhÀ¼°À 

J¸ QøÍø¯z xÁUQÚõº. A¢u BsiÀ Auß 

Â¯õ£õμ |hÁiUøPPøÍ R÷Ç öPõkUP¨£mkÒÍÚ.   

 ¹. 

QøÍUS AÝ¨¤¯ \μUS 25,000

ÂØ£øÚ : 

    öμõUP® 10,000

    Phß 18,000

PhÚõÎPÎhª¸¢x ö£ØÓ öμõUP® 16,000

AÁºPÐUS AÎzu uÒÐ£i 300

ö\»ÄPÐUPõP QøÍUS AÝ¨¤¯ 

öμõUPz öuõøP 

3,500

i\®£º 31 AßÖ \μUQ¸¨¦ 4,000

SÔ¨÷£mk¨ £vÄPÒ u¸P. 

Or 

 (b) On 1.1.2008, X purchased machinery on hire 
purchase system. The payment is to be made 4,000 
down (on signing of the contract) and Rs. 4,000 
annually for three years. The cash price of the 
machinery is Rs. 14,900 and the rate of interest is 
5%. Calculate the interest in each years instalment. 

  1.1.2008 AßÖ, X ÁõhøPU öPõÒ•uÀ •øÓ°À J¸ 

C¯¢vμzøu Áõ[QÚõº.  ¹. 4,000 EhÚi¯õPÄ® 

(J¨£¢u® øPö¯ÊzuõS® ÷£õx) ©ØÖ® BsiØS ¹. 

4,000 Ãu® ‰ßÖ BskPÐUS AuØS›¯ öuõøP°øÚa 

ö\¾zu ÷Ásk®. C¯¢vμzvß öμõUPÂø» ¹. 14,900 

©ØÖ® Ámi ÂQu® 5% JÆöÁõ¸ Á¸hz uÁønUS©õÚ 

Ámi°øÚU PnUQkP. 

12. (a) A Company had two departments A and B. A 
department supplies the goods to B department at 
its usual selling price. From the following figures 
prepare departmental Trading Profit and loss 
account for the year 2006. 
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 A  B 

 (Rs.)  (Rs.) 

Opening stock 1.1.2006 30,000  – 

Purchases 2,10,000  – 

Transfer to B 50,000  50,000 

Sales 2,00,000  60,000 

Closing stock (31.12.2006) 40,000  10,000 

    

   J¸ {ÖÁÚzvÀ A, B GßÝ® Cμsk xøÓPÒ 

C¸UQßÓÚ. B xøÓUS ÷Ási¯øu xøÓ A 

AuÝøh¯ ÂØ£øÚ Âø»°À u¸QÓx. RÌPsh 

Â£μ[PÎ¼¸¢x 2006 ® BskUPõÚ xøÓÁõ› 

Â¯õ£õμ C»õ£ |èh PnUSPøÍ u¯õ›UPÄ®. 

 A  B 

 (¹.) (¹.)

Bμ®£ \μUQ¸¨¦ 1.1.2006 30,000 –

öPõÒ•uÀ 2,10,000 –

B US ©õØÓ¨£mh \μUS  50,000 50,000

ÂØ£øÚ 2,00,000 60,000

CÖva \μUS (31.12.2006) 40,000 10,000

  

Or 

 (b) From the following particulars prepare Branch a/c 
showing the profit or loss of the Branch. 

 Rs. 

Opening stock at the branch 30,000 

Goods sent to Branch 90,000 
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Sales (cash) 1,20,000 

Expenses :  

   Salaries 10,000 

   Other expenses 4,000 

   Closing stock could not be ascertained but it is 
shown that the branch usually sells at cost plus 
20%. The Manager is entitled to a Commission of 
5% on the profit of the branch, before charging such 
commission. 

  RÌPsh Â£μ[PÎ¼¸¢x QøÍU PnUøP u¯õº 

ö\´x Auß »õ£ |mhzøu PnUQhÄ®. 

 ¹. 

QøÍ°ß Bμ®£ \μUQ¸¨¦ 30,000

QøÍUS AÝ¨¤¯ \μUS 90,000

öμõUP ÂØ£øÚ 1,20,000

ö\»ÄPÒ : 

   \®£Í® 10,000

   Cuμ ö\»ÄPÒ 4,000

  CÖva \μUS GÆÁÍÄ GÚ wº©õÛUP •i¯ÂÀø», 

BÚõÀ QøÍ C¨ö£õÊx AhUPÂø»÷¯õk  

20 \uÃu® »õ£® ÷\ºzx \μUøP ÂØ£uõP öu›QßÓx. 

QøÍ÷©»õÍº QøÍ°À C»õ£zvß Pªåß 

PÈ¨£uØS •ß ÁμUTi¯ »õ£zvÀ 5% ö£Ó 

uSv²øh¯Áº. 

13. (a) Mr. Meeran purchases a car under Hire Purchase 
system. The terms of assessment were : 

  (i) Cash down Rs. 12,000 

(ii) Five annual instalments of Rs. 7,700 each. 

(iii) Interest at 10% p.a. is charged by the seller.  
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  You are required to calculate interest paid by the 

buyer to the seller each year and also the cash price 
of the car. 

  M Gß£Áº Põº JßøÓ ÁõhøP öPõÒ•uÀ •øÓ°À 

Áõ[SQÓõº. {£¢uøÚPÒ J¨£¢uzvß£i  

  (i) Áõ[S®ö£õÊx Ehß öμõUP® ö\¾zv¯x  

¹. 12,000. 

(ii) ¹. 7,700 Ãu® 5 Á¸hõ¢vμ uÁønPÒ ö\¾zu 

÷Ásk®.  

(iii) ÂØ£øÚ¯õÍº Á`À ö\´²® Ámi – 10% – J¸ 

Á¸hzvØS 

   CÁØÔÀ C¸¢x Áõ[Q¯Áº, ÂØÓÁ¸US 

JÆöÁõ¸ Bsk® ö\¾zu ÷Ási¯ 

Ámiø¯²® öμõUP öPõÒ•uÀ Âø» GßÚ 

Gß£øu²® PshÔ¯Ä®. 

Or 

 (b) A firm has two departments, Timber and Furniture. 
Furniture was made by the firm itself out of timber 
supplied by the Timber department at its usual 
selling price. From the following figures prepare 
Departmental Trading and profit and loss a/c for 
the year 2004. 

 Timber  Furniture 

 (Rs.)  (Rs.) 

Opening stock (1.1.04) 3,00,000  50,000 

Purchases 20,00,000  15,000 

Sales 22,00,000  4,50,000 

Transfer to Furniture Department 3,00,000  – 

Expenses :    

  Manufacturing –  60,000 

  Selling 20,000  6,000 

  Stock 31.12.2004 2,00,000  60,000 
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   The stock in the furniture department may be 

considered as consisting of 75% of Timber and 25% 
other expenses. Timber department earned Gross 
Profit at the rate of 20% in 2003. General expenses 
come to Rs. 1,10,000. 

  J¸ {ÖÁÚzvØS i®£º ©ØÖ® AøÓP»ß GÚ Cμsk 

xøÓPÒ EÒÍÚ. AøÓP»ß xøÓUS ÷uøÁ¯õÚ 

AøÓP»ÝUS›¯ ©μÁøPPøÍ i®£º  xøÓ 

ÁÇUP©õÚ ÂØ£øÚ Âø»°À ©μÁøPPøÍ AÎzx 

Á¸QßÓx. 

  ¤ßÁ¸® uPÁ¼ß£i 2004 – ® BskUS›¯ 

xøÓÁõ›¯õÚ Â¯õ£õμ® ©ØÖ® C»õ£ |mh PnUS 

u¯õº ö\´P. 

 i®£º AøÓP»ß

 (¹.) (¹.) 

öuõhUP \μUQ¸¨¦ (1.1.04) 3,00,000 50,000

öPõÒ•uÀ 20,00,000 15,000

ÂØ£øÚ 22,00,000 4,50,000

AøÓP»ß xøÓUS ©õØÓ®  

ö\´¯¨£mhÁÍUS 

3,00,000 –

ö\»ÄPÒ : 

       EØ£zv – 60,000

      ÂØ£øÚ 20,000 6,000

  \μUQ¸¨¦ (31.12.2004) 2,00,000 60,000

  AøÓP»ß xøÓ°À EÒÍ \μUQ¸¨¤À 75% i®£¸®, 

25% ©ØÓ ö\»ÁõP Ah[Q²ÒÍx GÚ 

wº©õÛUP¨£kQÓx. 2003–® Bsk i®£º xøÓ ö£ØÓ 

ö©õzu C»õ£® 20% BS®. 

  {ÖÁÚzvß Jmk ö©õzu ö£õx ö\»Ä ¹. 1,10,000. 
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14. (a) R took a colliery on lease. The dead rent was Rs. 

750 for a year, merging into a royalty of 35 paise per 
tonne of coal raised, with the right to recover short 
workings out of royalties of two subsequent years 
from the period in which the short working arose. 
The output raised were : 

  I year – 10,000 tonnes; II year – 1,500 tonnes,  
III year – 2,500 tonnes; IV year – 1,500 tonnes  
V year – 10,000 tonnes 

Give lease account for five years. 

  R {»UP› _μ[P® JßÔøÚ SzuøPUS GkzxU 

öPõshõº. J¸ hß {»UP›US 35 ø£\õ E›ø©z 

öuõøP uμ÷Ásk®. SøÓ¢u AÍÄ SzuøP BsiØS 

¹. 7,500 BS®. SøÓ EØ£zvø¯ Akzu Cμsk 

BskPÎÀ «mkUöPõÒÍ E›ø©²sk. JÆöÁõ¸ 

Bsk® GkUP¨ ö£ØÓ {»UP›°ß AÍÄ 

¤ßÁ¸©õÖ. 

  I Bsk – 10,000 hß; II Bsk – 1,500 hß,  

III Bsk – 2,500 hß; IV Bsk – 1,500 hß 

V Bsk – 10,000 hß 

  I¢x BskPÐUS SzuøP PnUQøÚz u¯õ›UPÄ®. 

Or 

 (b) The assets of Ramaswamy of Bombay on 31.6.2000 
as shown by his books were Rs. 28,000 and his 
liabilities Rs. 22,000. He estimated his deficiency 
Rs. 15,000. He found the following were not taken 
into account. 

  (i) Interest at 6% on his capital from 1.1.2000. 

  (ii) A contingent liability of Rs. 1,250 on bills 
discounted by his for Rs. 5,000. 

  (iii) Amount due as wages Rs. 300, Rent Rs. 100, 
Taxes – Rs. 150. Prepare statement of affairs 
and deficiency account. 
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  v¸ R–°ß ö\õzxUPÒ, ö£õÖ¨¦PÒ 31-.6.2000 ß £i 

•øÓ÷¯ ¹. 28,00, ¹. 22,000, AÁº PnUQß£i 

£ØÓõUSøÓ ¹. 15,000 ¤ÓS RÌPshøÁPøÍ 

PnUQÀ GkzxUöPõÒÍÂÀø» GßÖ AÔ¢uõÀ. 

  (i) •uÀ «x Ámi 6% (1.1.2000 ¼¸¢x) 

  (ii) {a\¯©ØÓö£õÖ¨¦ ¹. 1,250, Ámhg ö\´u 

Esi¯¼ß «x ¹. 5,000 

  (iii) öPõk£h ÷Ási¯øÁ T¼ ¹. 300, ÁõhøP ¹. 

100, Á› ¹. 150, {ø» AÔUøPø¯²® 

£ØÓõUSøÓ PnUøP²® u¯õº ö\´P. 

15. (a) The following particulars relate to a contract. 
 Rs. 

Materials issued 85,000 

Wages 74,000 

Plant at cost 15,000 

Direct expenses 13,000 

Establishment charges 4,000 

Materials returned to store 500 

Cost of work certified 2,00,000 

Cost of work uncertified 4,500 

Materials on hand (31st December) 1,800 

Wages outstanding 2,500 

Value of plant (31st December) 10,000 

  The contract price was agreed at Rs. 2,60,000 cash 
received from the contractee was Rs. 1,95,000. 

  Prepare contract account. 
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  RÌPsh ÂÁμ[PÒ J¸ J¨£¢u® öuõhº¦øh¯uõS®. 

    
 ¹. 

‰»¨ö£õ¸mPÒ uμ¨£mhøÁ 85,000

T¼ 74,000

ö£õÔÁøP (AhUP Âø»°À) 15,000

÷|μia ö\»ÄPÒ 13,000

{ºÁõPa ö\»ÄPÒ 4,000

£shPzvØSz v¸¨¤ AÝ¨£¨£mh 

‰»¨ö£õ¸mPÒ 

500

\õßÖ AÎUP¨£mh ÷Áø» 2,00,000

\õßÖ AÎUP¨£hõ ÷Áø»°ß 

AhUPÂø» 

4,500

‰»¨ö£õ¸Ò øP°¸¨¦ (31 i\®£º) 1,800

öPõk£h ÷Ási¯ T¼ 2,500

ö£õÔÁøP°ß ©v¨¦  (31 i\®£º) 10,000

  J¨£¢u Âø» ¹. 2,60,000 GÚ J¨¦UöPõÒÍ¨£mhx. 

J¨£¢u® öPõkzuÁ›hª¸¢x ö£ØÓ öμõUP®  

¹. 1,95,000. 

  J¨£¢uU PnUøP u¯õº ö\´P.   

Or 

 (b) R took from S. Bros, on lease a coal field for a period 
of 25 years from January 1, 1996 on a Royalty of Rs. 
1 per tonne of coal got with a  minimum rent of Rs. 
10,000 a year and power to recoup short workings 
during the first four years of the lease. The annual 
outputs were : 

  1996 – 3,000 tonnes; 1997 – 5,000 tonnes;  
1998    – 10,000 tonnes;     1999    –  20,000 tonnes; 

Give Journal entries in the books of R. 
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  1996 – ® Bsk áÚÁ› 1®  ÷uv¯ßÖ R Gß£Áº  

S.¤μuºêhª¸¢x {»UP› _μ[Pzøu  

25 BskPÐUS SzuøP GkzxU öPõshõº. J¸ hß  

{»UP›US ¹. 1 Ãu® E›ø©z öuõøP uμ ÷Ásk®, 

SøÓ¢u AÍÄ SzuøP BskUS ¹. 10,000 BS®, 

SøÓ EØ£zvø¯ •uÀ |õßS BskPÎÀ 

«mkUöPõÒÍ E›ø©²sk. JÆöÁõ¸ Bsk® 

GkUP¨ö£Óõu {»UP›°ß AÍÄ Á¸©õÖ. 

  1996 – 3,000 hßPÒ; 1997 – 5,000 hßPÒ;  

1998    –  10,000     hßPÒ;     1999    –  20,000 hßPÒ. 

  R Gß£Áº HkPÐUS›¯ SÔ¨÷£mk¨ £vÄPÒ u¸P. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Write short notes on : 

 (a) Cost plus contract 

 (b) Cost Control.  

 ]Ö SÔ¨¦ ÁøμP : 

 (A) AhUPÂø» TkuÀ J¨£¢u öuõøP 

 (B) AhUPÂø» Pmk¨£õk 

17. N. Traders purchased two machines costing Rs. 1,60,000 
each  from Delhi Motors on 1st January 2002 on Hire 
Purchase System. The terms were : 

 Payment on delivery Rs. 40,000 for each machine and 
balance in three equal instalement together with interest 
at 10% p.a. to be paid at the end of each year. 

N Traders write off 25% depreciation each on the 
Diminishing Balance Method. 
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 N Traders paid the instalment due on 31st Dec. 2002 and 

on 31st Dec. 2003 but could bot pay the final instalment. 

 Delhi motors repossessed one machine adjusting its value 
to the amount due. The repossession was done on the 
basis of 30% depreciation on Diminishing Balance 
Method. 

 Write up the ledger a/c in the books of N. Traders 
showing the above transactions. 

áÚÁ› 1, 2002–® Á¸h® N i÷μhºì JÆöÁõßÖ®  

¹. 1,60,000 ©v¨¤»õÚ  Cμsk C¯¢vμ[PøÍ öhÀ¼ 

÷©õmhõºì {ÖÁÚzvh® uÁøn öPõÒ•uÀ •øÓ°À 

Áõ[Q²ÒÍx.  

 {£¢uøÚPÒ : 

JÆöÁõ¸ C¯¢vμzvØS® ¹. 40,000 EhÚi¯õP £n® 

ö\¾zv «u•ÒÍ ‰ßÖ uÁøn¯õP 10% Ámi²hß 

ö\¾zxÁuõP J¨¦ öPõÒÍ¨£mhx. 

 N i÷μhºì 25% SøÓ¢u ö\À ©v¨¤À ÷u´©õÚ® JxURk 

ö\´QßÓx. 

N i÷μhºì 31 i\®£º, 2002 ©ØÖ® 31 i\®££º 2003 -–S›¯ 

uÁøn ©mk® ö\¾zv EÒÍx. Pøh] uÁøn 

ö\¾zuÂÀø». 

 öhÀ¼ ÷©õmhõºì {¾øÁ öuõøPUPõP J¸ C¯¢vμzøu 

v¸®£ øP¯P¨£kzv²ÒÍx. ©ÖøP¯P¨£kzuÀ 30%. 

SøÓ¢u ö\À ©v¨¤À PnUQh¨£mkÒÍx. 

 N i÷μhºì Hmiß PnUSPøÍ ÷©ØPsh |hÁiUøP ‰»® 

u¯õº ö\´P.   
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18. On 1.7.2003 Liberty Traders of Madurai, opened a branch 

at Trichy. From the Head Office goods were sent to the 
branch and invoiced at selling price of the branch which 
was 125% of the cost price of the Head Office. 

 The following are the particulars relating to the 
transactions of Trichy branches. 

 Rs. 

Goods sent to Branch   

(at cost to Head Office) 2,80,000 

Sales :  

   Cash 1,25,000 

  Credit 1,75,000 

Cash collected from debtors 1,56,000 

Discount allowed 4,000 

Cash sent to Branch for :  

Wages    3,000  

Freight 11,000  

Other expenses   

including godown 
rent 

 6,000 20,000 

Spoiled cloth in bales written 
off at invoice price 

500 

Stock on June 30, 2004 at  

Invoice price 55,500 

  Ascertain the Gross Profit and Net Profit for the 
Trichy Branch for the year ended 30, 2004 after 
preparing Branch stock a/c and Branch Debtors a/c. 

  1.7.2003® Á¸h® ©xøμ°À EÒÍ¼£ºi i÷μhºì 

uÚx QøÍø¯ v¸a]°À öuõh[Q¯x. u»ø© 

A¾Á»Pzvß AhUPÂø»°À 125% u»ø© 

A¾Á»P® uÚx QøÍUS uÚx \μUSPøÍ 

AÎUQßÓx. 
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  v¸a] QøÍ°ß |hÁiUøP ¤ßÁ¸©õÖ.  

 ¹. 

QøÍUS AÝ¨¤¯ \μUS 

(u»ø© A¾Á»P® AhUPÂø») 2,80,000

ÂØ£øÚ : 

öμõUP® 1,25,000

Phß 1,75,000

PhÚõÎ°hª¸¢x ö£ØÓ 

öμõUP® 

1,56,000

Ámh® AÎzux 4,000

QøÍUS AÝ¨¤¯ öμõUP® :  

T¼ 3,000  

ÁsiÁõhøP 11,000  

¤Ó ÁøP  

(Qmh[Q ÁõhøP 

Em£h) 

 6,000 20,000

÷\u©øh¢u xo Chõ¨¦ 

Âø»°À ÷£õUS GÊu¨£mhx 

500

2004, áüß 30 xo Chõ¨¦ 

Âø»°À EÒÍ \μUQ¸¨¦ 

55,500

 

  2004, áüß 30 ÷uv¯ßÖ QøÍ \μUS PnUS ©ØÖ® 

QøÍ PhÚõÎ PnUS u¯õ›zu ¤ÓS v¸a] QøÍ 

PnUQß ö©õzu C»õ£® ©ØÖ® {Pμ »õ£® 

PnUQhÄ®. 

19. A undertook several large contracts and his ledger 
contained, there fore, a separate account for each contract 
on 31st March 1998, the account of contract No. 907 
showed the following amounts as expended there on : 
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 Rs. 
Materials directly purchased 1,80,000 
Materials issued from stores 50,000 
Wages 2,44,000 
Direct expenses 24,000 
Plant purchased 1,60,000 
Proportionate establishment charges 54,000 

   The contract was for Rs. 15,00,000 and upto 31st March 
1998 Rs. 6,00,000 had been received in cash which 
represented 80% of work certified. The materials on site 
unconsumed were valued at Rs. 15,000. The contract 
plant was to be depreciated by Rs. 16,000. Prepare the 
contract account showing what profits there on have been 
earned to date. 

 A Gß£Áº £À÷ÁÖ ÷ÁÖ ÷£μÍÄ J¨£¢u[PøÍ 

HØÖUöPõshõº. JÆöÁõ¸ J¨£¢uzvØS® uÛzuÛ¯õP 

PnUSPÒ ÷£÷μmiÀ Ch® ö£ØÓÚ. 1998 ©õºa_ ©õu® 31, 

AßÖ Gs, 907 GßÓ J¨£¢uzvß «uõÚ ö\»ÄPÒ R÷Ç 

öPõkUP¨£mkÒÍÚ : 

 ¹. 

‰»¨ö£õ¸mPÒ ÷|μiU öPõÒ•uÀ ö\´ux 1,80,000

£shP C¸¨¤¼¸¢x öPõkzu ö£õ¸ÒPÒ 50,000

T¼ 2,44,000

÷|μia ö\»ÄPÒ 24,000

G¢vμ® Áõ[Q¯x 1,60,000

{¸ÁõP Ãu¨£i ¤›zu ö\»ÄPÒ 54,000

 J¨£¢u® 1998, ©õºa_ 31–À •iÁøh¯U Ti¯x® ¹. 

15,00,000 US BS®. ¹. 6,00,000 öμõUP©õP¨ ö£Ó¨£mhx. 

Cx \õßÓÎUP¨£mh •i¢u ÷Áø»°À 80 \uÃu©õS®. 

öuõÈ¼hzvÀ ~PμõP ‰»¨ö£õ¸Îß ©v¨¦ ¹. 1,500.  

J¨£¢u G¢vμzvß «x ¹. 16,000 ÷u´©õÚ©õS®. A¢|õÎÀ 

ö£Ó¨£mh C»õ£zvøÚU Põmk® J¨£¢uU PnUQøÚz 

u¯õ›UPÄ®. 
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20. On 1st January 1997 ‘S’ commenced business with  

Rs. 6,350. He earned a total profit of Rs. 5,554 during 
1997 and 1998. The loss he suffered in 1999 was  
Rs. 2,500. His total drawings were Rs. 9,000. 

 Prepare statement of affairs and deficiency account form 
the following information. 

Cash Rs. 230, stock Rs. 1,000 Debtors (good) Rs. 7,000 
Doubtful Rs. 1,800, Bad debts Rs. 1,500. Furniture  
Rs. 564. Investment in shares Rs. 500, unsecured 
creditors Rs. 13,00 secured creditors Rs. 2,500. Value of 
securities held by creditors Rs. 3,500; preferential 
creditors Rs. 190. 

 Stock realises Rs. 666, furnitures Rs. 282, Investments 
realised the book value. Doubtful debts realised Rs. 600. 

 ‘S’ 1997 ® Bsk áÚÁ› 1À ¹. 6,350 ‰»uÚzxhß 

Â¯õ£õμzøu öuõh[QÚõº. 1997¼¾®, 1998 ¼¾® Dmi¯ 

C»õ£® ö©õzu® ¹. 5,554. 1999–® Bsk |mh® ¹. 2,500. 

AÁ¸øh¯ ö©õzu Gk¨¦ ¹. 9,000. RÌUPsh 

Â£μ[PÎ¼¸¢x AÁ¸øh¯ {ø» AÔUøPø¯²®, 

£ØÓõUSøÓ PnUøP²® u¯õº ö\´P. 

 öμõUP® ¹. 230, \μUS ¹. 1,000 PhÚõÎPÒ (|À»øÁ) ¹. 

7,000, I¯UPhß ¹. 1,800  ÁμõUPhß ¹. 1,500 AøÓP»ß ¹.  

564, £[SPÎÀ •u½k ¹. 500, ¤øn¯©ØÓ PhÜ¢÷uõº ¹.  

13,000, ¤øn¯® ö£ØÓ PhÜ¢÷uõº ¹.  2,500. 

AÁºPÎh•ÒÍ ö\õzxUPÒ ¹.3,500 •ßÝ›ø©U   

PhÜ¢÷uõº ¹.  190. 

 \μUS ¹. 666US ÂØP¨£mhx. AøÓP»ß ÂØÓx  ¹. 282, 

£[S •u½k Hmk ©v¨¤÷»÷¯ ÂØP¨£mhx. I¯UPhß  

¹. 600 Á`»õQ¯x.     

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2015 

Fifth Semester 

Commerce 

CORPORATE ACCOUNTING 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. What is meant by under subscription? 

 SøÓ J¨£® Gß£øu £ØÔ AÔÁx GßÚ? 

2. What is Capital Redemption Reserve? 

 £[S «m¦ Põ¨¦ GßÓõÀ GßÚ? 

3. What is Acquisition of Business? 

 Â¯õ£õμzøu Áõ[SuÀ GßÓõÀ GßÚ? 

4. What is Time Ratio? 

 Põ» ÂQu® GßÓõÀ GßÚ? 

5. What is meant by capital profit? 

 ‰»uÚ C»õ£® £ØÔ AÔÁx GßÚ? 

6. What is interim dividend? 

 CøhUPõ» £[Põuõ¯® GßÓõÀ GßÚ? 

Sub. Code 
1BCO5C1 
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7. What is Absorption? 

 Dº¨¦ GßÓõÀ GßÚ? 

8. What is internal reconstruction? 

 AP^μø©¨¦ GßÓõÀ GßÚ? 

9. Define Goodwill. 

 |Øö£¯øμ Áøμ¯ÖUP. 

10. What is Share? 

 £[S GßÓõÀ GßÚ? 

 Section B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) X Ltd forfeited 30 shares of Rs.10 each fully called 
up, held by Ram for non-payment of allotment 
money of Rs. 3 per share and first call of Rs. 4 per 
share. He had paid the application money of  
Rs. 3 per share. These shares were re-issued to Raja 
for Rs. 8 per share. Pass journal entries. 

  •ÊÁx® AøÇUP¨£mh 30 £[SPÒ JßÖ ¹£õ´ 10 

Ãu® μõ® Gß£ÁºUS JxUP¨£mhvÀ AÁº ¹. 3 

JxURmk¨£n•®, ¹. 4 •uÀ AøÇ¨¦ £n•® 

ö\¾zuõuuõÀ X {Ö©® £[SPøÍ JÖ¨¤Ç¨¦ 

ö\´ux. AÁº £[S JßÖUS ¹. 3 Âsn¨£n® 

©mk® ö\¾zv°¸¢uõº. AÆÁõÖ JÖ¨¤Ç¨¦ 

ö\´¯¨£mh £[SPÒ £[S JßÖUS ¹. 8 Ãu® 

CμõáõÂØS ©Ö öÁÎ±k ö\´¯¨£mhx. SÔ¨÷£mk 

£vÄPøÍ u¸P. 

Or 
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 (b) Madura Ltd. Issued 10,000 preference shares by  

Rs. 10 each at a premium of Rs. 3 per share, 
payable Rs. 2 per share on application; Rs. 5 per 
share on allotment including premium; Rs. 6 per 
share on first call and final call. The shares were all 
subscribed and money was dully received. Give the 
journal entries and cash book entries. 

  ©xμõ {Ö©® £[S JßÖ ¹. 10 Ãu® 10,000 

•ßÝ›ø© £[SPøÍ ¹. 3 Ãu® •øÚ©zvÀ 

öÁÎ°mhx. £n©õÚx ¤ßÁ¸©õÖ ö\¾zu¨£mhx. 

Âsn£zvß ÷£õx ¹. 2®, JxURmiß ÷£õx ¹. 5 

(•øÚ©® EÒ£h) •uÀ ©ØÖ® CÖv AøÇ¨¤ß 

÷£õx ¹. 6 £[SPÍõÚx •øÓ¯õP J¨£¨£mk £n® 

AøÚzx® ö£Ó¨£mhx. SÔ¨÷£mk £vÄPøÍ²® 

öμõUP ¦zuP £vÄPøÍ²® u¸P. 

12. (a) A purchasing company agrees to issue three shares 
of Rs. 10 each paid up at market value of Rs. 15 per 
share for ever 5 shares In the vendor company. Find 
out the number and amount of shares to be Issued 
by the purchasing company if the vendor company 
has 2,00,000 shares of Rs. 10 each, Rs. 5 paid up. 

  J¸ Áõ[S® {Ö©® ÂØS® {Ö©zvß JÆöÁõ¸  

5 £[SPÐUS®, 10 ¹£õ´ ©v¨¦ÒÍ ‰ßÖ £[SPøÍ 

(\¢øu ©v¨¦ £[S JßÖUS ¹. 15) öPõk¨£uõP J¨¦U 

öPõshx. ¹. 10 ©v¨¦ÒÍ, ¹. 5 ö\¾zu¨£mh 

2,00,000 £[SPøÍ ÂØS® {Ö©® ö£ØÔ¸US® ÷£õx 

GzuøÚ £[SPøÍ GÆÁÍÄ öuõøPUS Áõ[S® 

{Ö©® £[SPøÍ öÁÎ°h ÷Ásk® GßÖ 

Psk¤iUPÄ®. 

Or 



AFC–7267 

  

  4

Sp 6 
 (b) A company was incorporated on 30.04.2007 to 

acquire a business of a private firm as from 
01.01.2007. The company closes its account books on 
31.12.2007. Calculate Time ratio. 

  J¸ {Ö©©õÚx 01.01.2007 AßÖ J¸ uÛ {Ö©zøu 

Áõ[Q 30.04.2007 AßÖ TmkÖÁõUP \õßÔuÌ 

ö£ØÓx. AUP®ö£Û¯õÚx 31.12.2007 AßÖ uÚx 

PnUSPøÍ •iUQßÓx, Põ» ÂQuzøu PnUQkP. 

13. (a) Under what headings how will you classify the 
following items while preparing Balance Sheet of a 
company?  

  (i) Preliminary Expenses   

  (ii) Unclaimed divided  

  (iii) Bills payable  

  (iv) Loose tools   

  (v) Securities premium. 

  ¤ßÁ¸® CÚ[PøÍ J¸ P®ö£Û°ß C¸¨¦ {ø» 

SÔ¨ø£ u¯õº ö\´²® ÷£õx G¢u uø»¨¤ß RÌ 

Põs¤¨£õ´? 

  (i) öuõhUPa ö\»ÄPÒ 

  (ii) ÷Põμ¨£hõu £[Põuõ¯® 

  (iii) ö\¾zxuØS›¯ ©õØÖa^mk 

  (iv) Ev› £õP[PÒ 

  (v) ¤øn¯[PÎß •øÚ©®. 

Or 
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 (b) X Ltd., had earned Rs.12,00,000 profit on 

31.12.2007 which is appropriated as follows :  

  (i) Rs. 1,00,000 towards debenture redemption 
fund  

  (ii) 8% preference dividend (tax free), tax being 
20% on Rs. 13,20,000  

  (iii) 10% ordinary dividend, tax being 20% on 
40,00,000  

  (iv) Rs.1,48,000 to general reserve  

  (v) Balance to be carried forward.  

   Prepare profit and Loss Appropriation 
account. 

  31.12.2007 AßÖ X {Ö©® Dmi¯ ¹. 12,00,000 

ö£Ö©õÚ C»õ£zøu ¤ßÁ¸©õÖ £Qº¢ux. 

  (i) PhÜmk £zvμzøu «m¦ {vUS ¹. 1,00,000 

JxUP ÷Ásk® 

  (ii) 8% •ßÝ›ø© £[Põuõ¯® (Á› }[P»õP), 

  ¹. 13,20,000 – 20% Á› 

  (iii) 10% \õuõμn £[Põuõ¯® (Á› }[P»õP),  

¹. 40,00,000 – 20% Á› 

  (iv) ö£õx Põ¨¤ØS ¹. 1,48,000 ©õØÓ ÷Ásk® 

  (v) «u•ÒÍ öuõøPø¯ Akzu BskUS ©õØÓ 

÷Ásk®. 

   C»õ£ |mh £QºÄ PnUøP u¯õ›UP. 

14. (a) What are the procedures to be followed for reducing 
share capital? 

  £[S•uÀ SøÓUS® ö£õÊx ¤ß£ØÓ÷Ási¯ 

ÁÈ•øÓPÒ ¯õøÁ? 

Or 

 (b) Distinguish between Absorption and External 
Reconstruction. 

  Dº¨¦ ©ØÖ® ¦Ó^μø©¨ø£ ÷ÁÖ£kzxP. 
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15. (a) Calculate the amount of goodwill on the basis of  

2 years purchase of the last five years average 
profits. The profits for the last five years are: 4,100; 
5,250; 2,550; 3,850; 6,000. 

  Ph¢u 5 BskPÎß \μõ\› C»õ£zvÀ 2 Bsk 

öPõÒ•uÀ GßÓ Ai¨£øh°À |Øö£¯›ß ©v¨ø£U 

PnUQkP. Ph¢u 5 BskPÎß C»õ£ Á¸©õÖ :  

¹. 4,100, ¹. 5,250, ¹. 2,550, ¹. 3,850, ¹. 6,000. 

Or 

 (b) Mention the methods of winding up of companies. 

  J¸ {Ö©zøu Pø»¨£uØPõÚ £À÷ÁÖ •øÓPøÍ 

TÖP. 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. A company with an authorized capital of Rs. 30,00,000 
invited applications for 2,00,000 shares of Rs. 10 each at 
a premium of Rs. 1. The shares are payable as follows: On 
Application Rs. 3; On Allotment Rs. 4 (including 
Premium); On first and final call Rs. 4 There was over 
subscription and applications were received for 3,60,000 
shares. Allotment of shares was made as under : 

 To Applicants of 1,50,000 shares 1,50,000 shares 

 To Applicants of 25,000 shares Nil 

 To Applicants of 1,85,000 shares 50,000 shares 

 Excess money paid on application was adjusted against 
sums due on allotment and first call.  

 All moneys due were received. Give journal entries to 
record the above transactions. 
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 ¹. 30,00,000&I A[RP›UP¨£mh •u»õP öPõsh J¸ 

{Ö©® 2,00,000 £[SPøÍ £[S JßÖUS ¹. 10 Ãu®, ¹. 1 

•øÚ©zvÀ öÁÎ°mhx. 

 £n©õÚx ¤ßÁ¸©õÖ ö\¾zu¨£h ÷Ásk® : 

 Âsn¨£zvß ÷£õx ¹. 3, JxURmiß ÷£õx ¹. 4 

(•øÚ©® EÒ£h), •uÀ ©ØÖ® CÖv AøÇ¨¤ß ÷£õx  

¹. 4. 

 ªøP J¨£©õP 3,60,000 £[SPøÍ ö£ØÓx. ¤ßÁ¸©õÖ 

£[SPÒ JxURk ö\´¯¨£mhx. 

 1,50,000 £[SPÒ Âsn£zuÁºPÐUS – 1,50,000 £[SPÒ 

 25,000 £[SPÒ Âsn£zuÁºPÐUS – JßÖªÀø» 

 1,85,000 £[SPÒ Âsn£zuÁºPÐUS – 50,000 £[SPÒ 

 ªSv¯õP ö£ØÓ Âsn¨£n® JxURk ©ØÖ® AøÇ¨¦ 

£nzvÀ \› ö\´¯¨£mhx. AøÚzx £n•® ö£Ó¨£mhx 

GÚU öPõsk ÷uøÁ¯õÚ SÔ¨÷£mk £vÄPøÍ u¸P. 

17. X Ltd was incorporated on 01.08.2007. It took over the 
business of 'Y' with effect from 01.04.2007. From the 
following particulars relating to the year ending 
31.03.2008, find out profits prior to and after 
incorporation. Sales for the year were Rs. 30 lakhs and 
pre incorporation sales were Rs. 12.5 lakhs. Gross profit 
for the year was Rs. 9 lakhs. The expenses debited to 
Profit and Loss account were : 

Particulars  Rs.  Particulars  Rs.  

Rent  45,000  General expenses  24,000 

Salaries  75,000  Advertisement  90,000 

Directors fees  19,000  Printing and Stationery  18,000 
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Interest on 
debentures 

30,000  Commission on sales  30,000 

Audit fees  7,500  
Bad debts (Rs.5000 
relate to debts  

 
7,500  

Discount on 
Sales  

 
18,000  

Interest to vendor on 
purchase consideration 
upto 01.10.2007 

 
15,000 

Depreciation  1,20,000    

 X ¼m £vÄ ö\´¯¨£mhx 1.8.2007. 1.4.2007 •uÀ X ¼m Y 
Â¯õ£õμzøuU GkzxUöPõshx. 31.3.2008&® Bsk •i¯ 

EÒÍ Â£μ[PÎß Ai¨£øh°À £vÂØS •ß¦ÒÍ »õ£® 

©ØÖ® £vÂØS ¤ß¦ EÒÍ »õ£zvøÚU PnUQkP. 

Jμõsiß ÂØ£øÚ ¹. 30 »m\® BS®. ©ØÖ® AvÀ 

£vÂØS •ß¦ EÒÍ ÂØ£øÚ ¹. 12.5 »m\® BS®. 

 Kμõsiß ö©õzu »õ£® ¹. 9 »m\® BS®. »õ£ |mh 

PnUQÀ £ØöÓÊv¯ ö\»ÄPÍõÚøÁ : 

 ¹.  ¹. 

ÁõhøP 45,000  ö£õxa ö\»ÄPÒ 24,000 

\®£Í® 75,000  ÂÍ®£μ® 90,000 

C¯USÚºPÒ 

Pmhn® 

 
19,000  

Aa_ ©ØÖ® 

GÊxö£õ¸ÒPÒ 

 
18,000 

Phß £zvμ 

Ámi 

 
30,000  

ÂØ£øÚ «uõÚ PÈÄ 30,000 

uoUøP 

Pmhn® 

 
7,500  

ÁõμõUPhß 

(TmkÖÁõUPzvØS •ß 

ÁõμõUPhß C¸¨¦  

¹. 5,000) 

 
 
 

7,500  

ÂØ£øÚ 

«uõÚ 

uÒÐ£i 

 
 

18,000  

öPõÒ•uÀ ©Ö£¯ß 

«uõÚ ÂØÓÁ¸US›¯ 

Ámi (1.10.2007 Áøμ) 

 
 
15,000 

÷u´©õÚ® 1,20,000    



AFC–7267 

  

  9

Sp 6 
18. Draft the Balance Sheet of a limited company in 

prescribed form as per Schedule VI of Indian Companies 
Act with imaginary figures. 

 J¸ Áøμ¯ÖUP¨£mh {Ö©zvß C¸¨¦{ø»USÔ¨ø£ 

C¢v¯ P®ö£Û \mh® AmhÁøn VI ß £i PØ£øÚ 

öuõøP²hß ÁøμP. 

19. The Balance Sheet of A Ltd on 31st December 2007 was as 
follows : 
Liabilities Rs. Assets  Rs. 

Share Capital :  Land and 
Building 

  
2,30,000 

8,000 Equity Shares 
of Rs.50 each fully 
paid 

 
 

4,00,000 

Plant and 
Machinery 

  
1,80,000 

General Reserve 50,000 Furniture  20,000 

Workmen's Accident 
Compensation Fund 
(Outstanding 
Liabilities Rs.8,000) 

 
 
 

30,000 

Stock  90,000 

  Sundry 
Debtors 

 
1,00,000 

 

  Less : 
Provisions for 
Doubtful 
Debts 

 
 
 

5,000 

 

1000, 7% Debenture 
of Rs.50 each 

 
50,000 

  95,000 

Sundry Creditors 40,000 Cash  2,000 

Bank Overdraft 10,000 Discount on 
issue of 
Debenture 

  
 

3,000 

Staff Provident Fund 40,000    

 6,20,000   6,20,000 
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 The business of the company is taken over by B Ltd., on 

that date. The purchase consideration is to be discharged 
as follows:  

 (a) A payment in cash at Rs. 10 for every share in  
A Ltd.  

 (b) A further payment in cash at Rs.60 for every 
debenture in A Ltd. in full discharge of the 
debentures.  

 (c) An exchange of 5 shares in B Ltd. of Rs. 10 each at 
the market value of Rs. 15 per share for every 2 
shares in A Ltd.  

  Show the Realisation a/c, cash a/c and the sundry 
shareholders a/c in the books of A Ltd. The expenses 
of Liquidation Rs. 5,000 were borne by A Ltd. 

 31.12.2007 AßøÓ¯ A {Ö©zvß C¸¨¦{ø»U SÔ¨¦ 

¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ  ¹. 

£[S •uÀ :  {»® ©ØÖ® 

Pmih® 

 2,30,000 

8,000 ö£õx{ø» 

£[SPÒ JßÖ ¹. 50 

Ãu® •ØÔ¾® 

ö\¾zu¨£mhøÁ 

 
 

4,00,000 

ö£õÔ ©ØÖ® 

C¯¢vμ® 

 1,80,000 

ö£õxUPõ¨¦ 50,000 AøÓP»ß  20,000 

öuõÈ»õÎPÎß 

Â£zx |mh Dk {v 

(öPõk£h ÷Ási¯ 

ö£õÖ¨¦ ¹. 8,000) 

 
 
 

30,000 

\μUQ¸¨¦  90,000 
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  PhÚõÎPÒ 1,00,000  

  (–) 

ÁõμõUPhß 

Põ¨¦ 

5,000  

1000, 7% PhÜmk¨ 

£zvμ® JßÖ ¹. 50 

Ãu® 

 
 

50,000 

  95,000 

£Ø£» PhÜ¢÷uõºPÒ 40,000 öμõUP®  2,000 

Á[Q ÷©ÀÁøμ¨£ØÖ  
10,000 

PhÜmk¨ 

£zvμ 

öÁÎ°mk 

uÒÐ£i 

  
 
 

3,000 

öuõÈ»õÎPÎß 

÷\©Põ¨¦ {v 

 
40,000 

   

 6,20,000   6,20,000 

 ÷©ØTÔ¯ ÷uv°À B {Ö©zuõÀ C¢u Â¯õ£õμ©õÚx 

GkzxU öPõÒÍ¨£mhx. öPõÒ•uÀ ©Ö£¯ÚõÚx 

¤ßÁ¸©õÖ J¨£øhUP¨£mhx. 

 (A) A {Ö©zvÀ EÒÍ JÆöÁõ¸ £[QØS® ¹. 10 

öμõUP©õP ö\¾zu¨£mhx. 

 (B) A {Ö©zvÀ EÒÍ JÆöÁõ¸ PhÜmk¨ £zvμzvØS® 

¹. 60 öμõUP©õP ö\¾zv PhÜmk¨ £zvμzøu 

•ÊÁx©õP wºzux. 

 (C) A {Ö©zvÀ EÒÍ JÆöÁõ¸ 2 £[SPÐUS®  

B {Ö©zvÀ 5 £[SPÒ JßÖ ¹. 10 \¢øu©v¨¦ 

EÒÍøu 15 Ãu® ©õØÓ® ö\´¯¨£mhÚ. 

 (D) Pø»¨¦a ö\»ÁõÚ ¹. 5,000&zøu A HØÖU öPõshx. 

  wºÄ PnUS, öμõUP PnUS £Ø£» £[SuõμºPÒ 

PnUøP A {Ö©zvß HkPÎÀ u¯õ›UP. 
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20. Balance Sheet of X Ltd as on 31.12.98 is as follows : 

Liabilities Rs. Assets Rs. 

Share Capital:  L&B 25,000 

12,000 equity shares  

of Rs. 10 each 

 

1,20,000 

Fixed assets 2,00,000 

8,000 preference shares  

of Rs.10 each 

 

80,000 

Stock 5,25,000 

Bank Loan 4,00,000 Debtors 1,00,000 

8% debentures 1,00,000 P&L Account 58,000 

Interest due on debentures 8,000   

Creditors 2,00,000   

  9,08,000  9,08,000 

 The company went into voluntary liquidation on that 

date. Prepare liquidators final statement of accounts after 

taking into account the following :  

 (a) Liquidation expenses and liquidators remuneration 

amounted to Rs.3,000 and Rs.10,000 respectively.  

 (b) Bank loan was secured by pledge of stock.  

 (c) Debenture and interest thereon are secured by a 

floating charge on all assets.  

 (d) Fixed assets were realised at book values and 

current assets at 80% of book values. 
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 31.12.1998&À GUì {Ö©zvß C¸¨¦ {ø»USÔ¨¦ R÷Ç 

öPõkUP¨£mkÒÍx. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£[S•uÀ  {»•® 

Pmih•® 

 

25,000 

12,000 \õuõμn £[SPÒ 

¹. 10 Ãu® 

 

1,20,000 

{ø»a 

ö\õzxUPÒ 

 

2,00,000 

8,000 •ßÝ›ø© £[SPÒ 

¹. 10 Ãu® 

 

80,000 

\μUQ¸¨¦ 5,25,000 

Á[Q Phß 4,00,000 PhÚõÎPÒ 1,00,000 

8% Phß £zvμ[PÒ 1,00,000 C»õ£|mh 

P/S 

 

58,000 

Phß £zvμ[PÒ «uõÚ 

Áμõu Ámi 

 

8,000 

  

PhÜ¢÷uõº 2,00,000   

  9,08,000  9,08,000 

 A¢u ÷uv°À {Ö©©õÚx uõÚõP Pø»UP¨£mhx. 

Pø»¨£õÍ›ß CÖv PnUøP RÌUPsh uPÁÀPøÍ PnUQÀ 

GkzxU öPõsk u¯õ›UPÄ®. 

 (A) Pø»¨¤ØPõÚ ö\»Ä ©ØÖ® Pø»¨£õÍ¸UPõÚ 

Fv¯® •øÓ÷¯ ¹. 3,000 ©ØÖ® ¹. 10,000 

 (B) \μUQøÚ Ah©õÚ® øÁzx Á[Q Phß ö£Ó¨£kQÓx. 
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 (C) Phß £zvμ® ©ØÖ® Auß «uõÚ Ámi GÀ»õ 

ö\õzxUPøÍ²® ªuUS® Ah©õÚ©õP öPõskÒÍx. 

 (D) {ø» ö\õzxPÒ AuÝøh¯ ¦zuP ©v¨¤À 

ÂØP¨£mhÚ. |h¨¦ ö\õzxPÒ Auß ¦zuP 

©v¨¤¾¢x 80% BP PnUQh¨£kQÓx. 

———————— 



 

  

Sp 3 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2015 

Fifth Semester 

Commerce 

COSTING 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. What is Cost Accounting? 

 AhUPÂø» PnUQ¯À GßÓõÀ GßÚ? 

2. What is Semi-Variable Cost? 

 £õv ©õÖ£õk® ö\»Ä GßÓõÀ GßÚ? 

3. What is Re-order level? 

 ©Ö Bøn ©mh® GßÓõÀ GßÚ? 

4. What is Material? 

 ‰»¨ö£õ¸Ò GßÓõÀ GßÚ? 

5. What do you mean by Piece Rate System? 

 xsk Ãu •øÓ £ØÔ }Âº AÔÁx GßÚ? 

6. What is Labour Turnover? 

 EøÇ¨¦ _ÇØ] GßÓõÀ GßÚ? 

Sub. Code 
1BCO5C2 
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7. What is meant by Absorption of overheads? 

 ÷©Øö\»ÄPøÍ «mhÀ £ØÔ AÔÁx GßÚ? 

8. What is Apportionment? 

 £[Rk GßÓõÀ GßÚ? 

9. What is By-product? 

 xøn ö£õ¸Ò GßÓõÀ GßÚ? 

10. What is Work Certified? 

 A[QP›UP¨£mh £o GßÓõÀ GßÚ? 

 Section B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State the important ways of classification of cost 
and discuss each of them in detail. 

AhUPÂø» ÁøP¨£kzu¼ß •UQ¯ ÁÈPøÍ 

SÔ¨¤kP. AøÁ JÆöÁõßøÓ²® ÂÍUSP. 

Or 

 (b)  The following data related to the manufacture of a 
standard product during the month of April 2004. 
Raw material consumed Rs. 20,000. Direct wages 
Rs. 18,000; Total machine hour 3,000; Machine per 
hour rate Rs. 2; Office on cost 10% of work cost; 
Selling on cost Rs.2.50 per unit; Unit  
produced = 5,000; Units sold 4,600 @ Rs.30 each. 
You are required to prepare a  

   (i)  Cost sheet in respect of the above showing 
costing per unit and 

   (ii) Profit for the period. 
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2004 H¨μÀ ©õuzvÀ J¸ uμ¨£kzu¨£mh ö£õ¸Ò 

EØ£zvUPõÚ Â£μ[PÒ R÷Ç uμ¨£mkÒÍx. Pa\õ 

ö£õ¸Ò £¯ß£kzv¯x ¹. 20,000, ÷|μi T¼  

¹. 18,000, C¯¢vμ ÷|μ® £¯ß£kzv¯x : 3,000 

©oPÒ, C¯¢vμ® £¯ß£kzu J¸ ©oUPõÚ  

AhUP® : ¹. 2, öuõÈØ\õø» AhUPzvÀ A¾Á»Pa 

ö\»Ä :10%, ÂØ£øÚa ö\»ÄPÒ J¸ ö£õ¸ÐUS  

¹. 2.50, EØ£zv ö\´u ö£õ¸mPÒ 5,000, ö©õzu 

ö£õ¸mPÒ ÂØÓx ¹. 4,600 J¸ ö£õ¸Îß Âø» 

¹. 30. ÷©ØTÔ¯øÁPÎ¼¸¢x J¸ ö£õ¸Îß   

(i)   AhUPÂø»     

(ii)  ö©õzu C»õ£® BQ¯øÁPøÍ öÁÎ¨£kzx® 

AhUPÂø»¨ £mi¯ø»z u¯õ›UPÄ®. 

12. (a) Explain maximum stock level and state the formula 
of its calculation. 

E¯º¢uÍÄ \μUQ¸¨¤øÚ ÂÍUQ. AuøÚU PnUQk® 

`zvμzøu²® TÖP. 

Or 

 (b)  Calculate maximum level, minimum level and 
reorder level from the following : 

   Re-order quantity - 1,500 units 

   Re-order period - 4 to 6 weeks 

  Maximum consumption - 400 units per week  

  Normal consumption - 300 units per week 

  Minimum consumption - 250 units per week. 
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RÌUPsh Â£μ[PøÍU öPõsk, Ea\ AÍÄ {ø», 

SøÓ¢u AÍÄ {ø» ©ØÖ® ©Ö•øÓ {ø»°øÚU 

PõsP. 

  ©Ö•øÓ AÍÄ : 1,500 A»SPÒ 

  ©Ö•øÓ Põ»® : 4 •uÀ 6 Áõμ[PÒ 

  Ea\ AÍÄ £¯ß£õk : 400 A»SPÒ J¸ ÁõμzvØS 

  C¯À¦ £¯ß£õk : 300 A»SPÒ J¸ ÁõμzvØS 

  SøÓ¢u AÍÄ £¯ß£õk : 250 A»SPÒ J¸ 

ÁõμzvØS. 

13. (a) Explain the methods of calculating labour turnover. 

  öuõÈ»õÍº _ÇØ] KmhzøuU PnUQk® •øÓPøÍ 

ÂÁ›. 

Or 

 (b)  From the following data. Calculate the total 
earnings of worker under Halsey and Rowan plan. 

   Standard time: 30 hours, Time taken: 20 hours 

   Hourly rate of wage is Rs. 4 per hour plus, Dearness 
allowance @ Rs. 2 per hour worked. 

¤ßÁ¸® ÂÁμ[PÎ¼¸¢x £o¯õÍμx ö©õzu 

Fv¯zøu íõÀ] ©ØÖ® ÷μõÁß vmhzvÀ PnUQkP. 

  vmh ÷|μ® : 30 ©oPÒ, GkzxU öPõsh ÷|μ® :  

20 ©oPÒ 

  ©o JßÖUS T¼ : ¹. 4 ©ØÖ® £o ö\´u ©oPÐUS 

£g\¨£i¯õP J¸ ©oUS ¹. 2. 
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14. (a) The following information is supplied from the 

costing records of a company. 
 Rs. 

Rent 2,000 
Maintenance 1,200 
Depreciation 900 
Lighting 200 
Insurance 1,000 
Employers contribution to PF 300 
Energy 1,800 
Supervision 3,000 

 
 Departments 
 A B C D 

Floor space 150 110 90 50 
Numbers of workers 24 16 12 8 
Total direct wages (Rs.) 8,000 6,000 4,000 2,000 
Cost of machinery (Rs.) 24,000 18,000 12,000 6,000 
Stock of goods (Rs.) 15,000 9,000 6,000 – 

  Prepare a statement showing apportionment of 
costs of various departments.   

J¸ P®ö£Û°ß AhUP¨£v÷ÁkPÎ¼¸¢x ¤ßÁ¸® 

Â£μ[PÒ AÎUP¨£mkÒÍÚ. 

 ¹. 

ÁõhøP 2,000 
£μõ©›¨¦ 1,200 
÷u´©õÚ® 900 
ªßPmhn® 200 
DmkÖvU Pmhn® 1,000 
÷\© |»{v – £oÁÎ¨£Á›ß 

£[S 

300 

C¯US \Uv 1,800 
÷©Ø£õºøÁ 3,000 
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 xøÓPÒ 

 A B C D 

\xμ Ai £μ¨¦ 150 110 90 50 
öuõÈ»õÍºPÒ GsoUøP 24 16 12 8 
ö©õzu ÷|μi T¼ (¹.) 8,000 6,000 4,000 2,000 
C¯¢vμ¨ ö£õÔ°ß ©v¨¦ (¹.) 24,000 18,000 12,000 6,000 
\μUQ¸¨¦ (¹.) 15,000 9,000 6,000 – 

  ö\»ÄPÒ £» xøÓPÎøh÷¯ £QºÄ ö\´²® 

AmhÁøn JßÔøÚz u¯õ›UPÄ®. 

Or 

 (b)  What are the differences between Works overheads 
and Administration Overheads? 

£o ÷©Øö\»ÂØS®, {ºÁõP ÷©Øö\»ÂØS® 

Cøh÷¯ EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

15. (a) In manufacturing of a product 1,000 Kgs of material 
at Rs. 8 per Kg were supplied to process I labour 
cost amounting to Rs. 2,000 and production 
overhead incurred was Rs. 1,000. The normal loss 
was estimated at 10% and was sold at Rs. 2 per Kg. 
Actual production in the process was 880 Kgs. 
Prepare Process I Account. 

J¸ ö£õ¸Îß EØ£zvUPõP J¸ Q÷»õ ¹. 8 Ãu® 

‰»¨ö£õ¸Ò 1,000 Q÷»õ ö\´•øÓ I–US 

öPõkUP¨£kQßÓÚ. Aaö\´ •øÓUS ÷Áø» 

AhUP® ¹. 2,000 – US®, EØ£zv ÷©Øö\»ÄPÒ  

¹. 1,000® BQßÓÚ. 10% \õuõμn |mh® 

AÝ©õÛUP¨£mhx. Ax Q÷»õ JßÖ ¹. 2 Ãu® 

ÂØP¨£mhx. Aaö\¯À •øÓ°ß {Pμ EØ£zv  

880 Q÷»õ BS®. ö\´•øÓ I PnUS u¯õ›UPÄ®. 

Or 

 (b)  How will you calculate the profit of incomplete 
contract? 

•Êø©ö£Óõu J¨£¢uzvß C»õ£zøu G¨£i }Âº 

PnUQkÁõ´? 
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 Section C  (3  10 = 30) 

Answer any three questions. 

16. Prepare cost sheet from the following information : 
   Rs.  Rs. 

Materials consumed   20,000  
Office overhead 
charges  

 
16,000  

Wages    18,000  Selling overhead  4,000  
Works overhead 
charges  

15,000  Sales  1,00,000  

 RÌUPsh ÂÁμ[PÎ¼¸¢x AhUPÂø» ©ØÖ® C»õ£® 

PnUQkÁuØPõP AhUPÂø»uõÒ JßøÓ u¯õº ö\´P. 
   ¹.  ¹. 

ö£õ¸mPÒ £¯ß£kzv¯x  20,000  A¾Á»P ÷©Øö\»Ä
 

16,000  
T¼   18,000  ÂØ£øÚa ö\»ÄPÒ 4,000  
öuõÈØ\õø» ÷©Øö\»Ä 15,000  ÂØ£øÚ 1,00,000  

17. From the following information, show the stores ledger 
account on "weighted average method". 

2008 March 1 Opening stock 800 kg @ Rs.9.00 each 
  4 Purchased 250 kg @ Rs.9.50 each 
  12 Purchased 400 kg @ Rs.10.00 each 
  16 Purchased 600 kg @ Rs.10.30 each 
  23 Purchased 300 kg @ Rs.11.00 each 

 Issue the manufacturing department are as follows : 
2008 March 3 Issued 320 kg 
  7 Issued 200 kg 
  13 Issued 400 kg 
  19 Issued 550 kg 
  26 Issued 150 kg 
  30 Issued 200 kg 

 On 15.03.2008 stock verification reveals a shortage of  
8 kg. At the end of the month, stock verification revealed 
that there is a surplus of 2 kg. 
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x £shP ÷£÷μmkU PnUøP 

""Gøh°h¨£mh \μõ\› •øÓ'' °À PõmkP. 
2008 ©õºa 1 öuõhUP C¸¨¦ 800 Q.Q ¹. 9.00 Ãu®

  4 öPõÒ•uÀ 250 QQ ¹. 9.50 Ãu® 

  12 öPõÒ•uÀ 400 QQ ¹. 10.00 Ãu® 

  16 öPõÒ•uÀ 600 QQ ¹. 10.30 Ãu® 

  23 öPõÒ•uÀ 300 QQ ¹. 11.00 Ãu® 

 EØ£zv xøÓUS \μUSPÒ ÁÇ[P¨£mh ÂÁμ® ¤ßÁ¸©õÖ : 
2008 ©õºa 3 ÁÇ[Q¯x 320 Q.Q

  7 ÁÇ[Q¯x 200 Q.Q 

  13 ÁÇ[Q¯x 400 Q.Q 

  19 ÁÇ[Q¯x 550 Q.Q 

  26 ÁÇ[Q¯x 150 Q.Q 

  30 ÁÇ[Q¯x 200 Q.Q 

 15.3.2008 AßÖ |øhö£ØÓ \μUQ¸¨¦ ÷\õuøÚ°ß ÷£õx 8 

Q.Q SøÓÁõP C¸¢ux PshÔ¯¨£mhx. ©õu CÖv°À 

\μUQ¸¨¦ ÷\õuøÚ°ß ÷£õx 2 Q.Q AvP©õP C¸¨£x 

öu›¯ Á¢ux. 

18. Find out wages per hour based on the following 
information : 

 Wages per year – Rs. 2,400. 

 Annual bonus – Rs. 25% of wages. 

 Contribution to P.F. @ 10% of wages. 

 E.S.I. contribution @ 3% of wages. 

 Total leave permitted during the year 60 days.  

 Cost of labour welfare amenities Rs, 8,000. 

 No. of workmen 200. 

 Normal idle time: 80 hours 

 Working day per annum: 320 days of 8 hours. 
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 RÌÁ¸QßÓ ÂÁμ[PÎ¼¸¢x J¸ ©o AÍÂØPõÚ 

T¼¯øÚU PnUQkP. 

 BskUPõÚ T¼ : ¹. 2,400 

 Bsk ÷£õÚì : T¼°À 25% 

 ÷\© |» {v°À ö\¾zv¯x : T¼°À 10% 

 öuõÈ»õÍº ©õ{» Põ¨¦ {v°À ö\¾zv¯x : T¼°À 3% 

 |h¨¦ BsiÀ A[RP›UP¨£mh Âk•øÓ ö©õzu |õmPÒ : 

60 |õmPÒ 

 öuõÈ»õÍº Á\vUPõP ö\»ÁÈzux : ¹. 8,000, ö©õzu 

÷Áø»¯õmPÒ 200 

 \õuõμn £o°À CÀ»õ Põ»® : 80 ©o AÍÄ 

 Bsk £o |õmPÒ 320 J¸ |õøÍUS 8 ©o ÷|μ®. 

19. A Company has three production departments A,B, and C 
and two service departments X and Y. The expenses 
incurred by them during a particular month are : 

   A – Rs. 80,000 

   B – Rs. 70,000 

   C – Rs. 50,000 

   X – Rs. 23,400 

   Y – Rs. 30,000 

 The expenses of the service departments are apportioned 
to the production departments on the following basis : 

 A B C X Y 

Expenses of X 20% 40% 30% – 10% 

Expenses of Y 40% 20% 20% 20% – 

 Give the secondary distribution summary. 
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 J¸ P®ö£Û°À A, B, C BQ¯ ‰ßÖ EØ£zv xøÓPÐ® X, 

Y BQ¯ C¸ £ozxøÓPÐ® EÒÍÚ. J¸ SÔ¨¤mh 

©õuzvÀ CzxøÓ°ß ö\»ÄPÍõÁÚ : 
   A – ¹. 80,000 
   B – ¹. 70,000 
   C – ¹. 50,000 
   X – ¹. 23,400 

   Y – ¹. 30,000 

 RÌUPsh Ai¨£øh°À £ozxøÓ°ß ö\»ÄPÒ EØ£zvz 

xøÓPÐUS £QºuÀ ÷Ásk®. 
 A B C X Y 

X ö\»ÄPÒ 20% 40% 30% – 10% 

 Y ö\»ÄPÒ 40% 20% 20% 20% – 

 Cμshõ® {ø» £QºÄ¨ £mi¯ø»z u¯õ›UP. 

20. A product passes through three processes I, II and III. 
From the following information, prepare the process 
account. Assuming that there were no opening or closing 
stocks. Also give the abnormal loss and abnormal gain 
account. 

 Process I Process II Process III 

Materials Rs. 1,000 Rs. 1,500 Rs. 500 

Labour 5,000 8,000 6,500 

Overheads 1,050 1,188 2,000 

Actual output (units) 9,500 9,100 8,100 

Normal loss 3% 5% 8% 

 The normal loss of process I was sold at 25 paise per unit 
that of process II at 50 paise per unit, and that of process 
III at Rs. 1 per unit. 10,000 units were introduced to the 
process I in the beginning at a cost of Rs.1 per unit. 
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 J¸ ö£õ¸Ò ‰ßÖ £i•øÓPÎÀ u¯õμõQÓx. ¤ßÁ¸® 

ö\´vPÎ¼¸¢x £i•øÓU PnUSPøÍ²®, A\õuõμn 

C»õ£® ©ØÖ® |mhU PnUSPøÍ²® u¯õ›UP. 
 £i •øÓ I £i •øÓ II £i •øÓ III 

ö£õ¸ÒPÒ ¹. 1,000 ¹. 1,500 ¹. 500 

T¼ 5,000 8,000 6,500 
÷©Øö\»ÄPÒ 1,050 1,188 2,000 
EØ£zv ö\´¯¨£mh A»SPÒ 9,500 9,100 8,100 
CÇ¨¦PÒ (\õuõμn |mh®) 3% 5% 8% 

 CÇ¨¦PÒ (J¸ A»S) £i•øÓ I 25 ø£\õ, £i•øÓ II  
50 ø£\õ, £i•øÓ III ¹. 1 Ãu® ÂØP¨£kQßÓÚ. 

 £i•øÓ I – À 10,000 A»SPÒ AhUPÂø» A»S JßÖUS 

¹. 1 Ãu® AÎUP¨£kQßÓx. Bμ®£ AÀ»x CÖv •iÄ¨ 

ö£õ¸ÒPÒ CÀø»ö¯ÚU öPõÒP. 

–––—————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2015 

Fifth Semester  

Commerce 

COMMERCIAL LAW 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Who can accept the offer? 

 •øÚÄ ¯õμõÀ HØP¨£h•i²®? 

2. What is Free consent? 

 _÷¯mø\¯õÚ Cø\Ä GßÓõÀ GßÚ?  

3. What is invalid guarantee? 

 ö\À»õu EzvμÁõu® GßÓõÀ GßÚ?  

4. State any two features of contract of indemnity. 

 DmkÖv J¨£¢uzvß ußø©PÎÀ HuõÁx CμsiøÚU 

SÔ¨¤kP. 

Sub. Code 

1BCO5C3 
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5. What is meant by lien? 

 £ØÖ›ø© Gß£uß ö£õ¸Ò ¯õx? 

6. State any two differences between sale and bailment. 

 ÂØ£øÚUS® J¨£øhÂØSªøh÷¯ EÒÍ ÷ÁÖ£õkPÎÀ 

HuõÁx CμsiøÚU SÔ¨¤kP. 

7. State the rules of agency. 

 •Pø©°ß ÂvPøÍU SÔ¨¤kP. 

8. Who is a special agent? 

 ]Ó¨¦ •PÁº GßÓõÀ ¯õº?  

9. What is an agreement to sell? 

 ÂØ£øÚUPõÚ Ehß£õk GßÓõÀ GßÚ?  

10. What are the different modes of delivery? 

 AÝ¨¦u¾UPõÚ £À÷ÁÖ ÁÈPÒ ¯õøÁ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Classify contracts on the basis of performance. 

  {øÓ÷ÁØÓ Ai¨£øh°À J¨£¢u[PøÍ 

ÁøP¨£kzxP. 

Or 

 (b) “No consideration no contract” – State its 
exceptions. 

  “©Ö£¯ÛÀø»ö¯ÛÀ J¨£¢uªÀø»” & AuÝøh¯ 

Âv Â»USPøÍU SÔ¨¤kP. 
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12. (a) Analyse the extent of surety’s liability. 

  ¤øn¯uõμ›ß ö£õÖ¨¤ß AÍÂøÚ¨ £S¨£õ´P. 

Or 

 (b) Discuss the different types of guarantee. 

  EzvμÁõuzvß £À÷ÁÖ ÁøPPøÍ ÂÁõvUPÄ®. 

13. (a) Explain the features of bailment. 

  J¨£øhÂß ußø©PøÍ ÂÍUSP. 

Or 

 (b) What is hypothecation? State its features. 

  ö£¢uP® GßÓõÀ GßÚ?  AuÝøh¯ ußø©PøÍU 

SÔ¨¤kP. 

14. (a) What are the differences between Agent and 
servant? 

  •PÁ¸US® ÷Áø»¯õÐUSªøh÷¯ EÒÍ 

÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) State the circumstances under which an agent can 
appoint a sub agent. 

  G¢u `Ì{ø»PÎÀ J¸ •PÁº J¸ xøn •PÁøμ 

{¯©Ú® ö\´¯ •i²® Gß£øuU SÔ¨¤kP. 

15. (a) Discuss the different types of goods. 

  \μUSPÎß £À÷ÁÖ ÁøPPøÍ ÂÁõvUPÄ®. 

Or 

 (b) Analyse the rights of buffer. 

  Áõ[S£Á›ß E›ø©PøÍ¨ £S¨£õ´P. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Discuss the contractual capacity of a minor. 

 J¸ CÍÁ¼ß J¨£¢u uSvz vÓøÚ ÂÁõvUPÄ®. 

17. What is guarantee? Explain its features. 

 EzvμÁõu® GßÓõÀ GßÚ?  AuÝøh¯ ußø©PøÍ 

ÂÍUSP. 

18. Explain the duties of bailee. 

 J¨£øhÄ ö£ÖÁ›ß Phø©PøÍ ÂÍUSP. 

19. State the circumstances under which an agent is 
personally liable. 

 G¢u `Ì{ø»PÎÀ J¸ •PÁº uÛ¨£mh •øÓ°À 

ö£õÖ¨£õP ÷Ásk® Gß£øuU SÔ¨¤kP. 

20. Who is an unpaid vendor? Explain his rights. 

 ö\¾zu¨£hõu ÂØ£øÚ¯õÍº Gß£Áº? AÁ¸øh¯ 

E›ø©PøÍ ÂÍUSP. 

 
 

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2015 

Fifth Semester 

Commerce  

Elective –– INCOME TAX –– I 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Who introduced Income tax in India? 

 C¢v¯õÂÀ Á¸©õÚ Á› ¯õμõÀ AÔ•P¨£kzu¨£mhx? 

2. State any two components of the law of Income tax. 

 H÷uÝ® Cμsk Á¸©õÚ Á›a\mhzvß TÖPøÍ TÖP. 

3. What is meant by Assessment? 

 Po¨¦ GßÓõÀ GßÚ? 

4. What is meant by capital expenditure? 

 ‰»uÚ ö\»ÄPÒ GßÓõÀ GßÚ? 

5. Mr. A retired on 31–12–2013 and his pension was fixed at 
Rs. 4200 p.m. He got 1/3 of the pension commuted for 
which he received Rs. 2,00,000 from his employer. Find 
out his taxable amount of commuted pension if he gets 
gratuity. 

Sub. Code 

1BCOE1A 



AFC–7270 

  

  2

WS4 

 v¸. A Gß£Áº 31–12–2013 AßÖ J´Ä ö£ØÖ ©õu®  

¹. 4200 Ãu® J´Åv¯©õP {ºn°UP¨£mhx. AÁº uÚx 

J´Åv¯zøu ö©õzuªmk 1/3 À £[SPõP ¹. 2,00,000 

•u»õÎ°h® ö£ØÓõº. }Ãº AÁ¸øh¯ Á›°hUTi¯ 

ö©õzu©õÚ J´Åv¯zøu PnUQkP. 

6. MRV–Rs. 6,000 p.m. FRV Rs. 6,100 p.m. SR – Rs. 5,900 
P.M. Actual rent Rs. 6,050 p.m, vacancy – 1 month. Find 
out the Gross Annual value. 

 |Pμõm] ©v¨¦ ¹. 6,000, {¯õ¯ \¢øu ÁõhøP ©v¨¦  

¹. ©õu® ¹. –6,100, {ø»¯õÚ ÁõhøP ©õu® ¹. 5,900, 

Esø© ÁõhøP ©õu® ¹. 6,050, Põ¼¯õP Qh¢ux –1 ©õu®, 

ö©õzu Bsk ©v¨ø£ PnUQkP. 

7. Bad debts recovered (not allowed earlier) – Rs. 5,000 and 
Income tax refund – Rs. 11,000. What action to be taken 
while calculating business Income? 

 ÁõμõUPhß «mP¨£mhx (•ßÚº AÝ©vUPõux) –  

¹. 5,000, ©ØÖ® Á¸©õÚ Á› v¸®£¨ö£ØÓx  

¹. 11,000.öuõÈÀ Á¸©õÚ® PnUQk® ÷£õx CÁØÔøÚ 

GßÚ ö\´Ãº. 

8. Rent of clinic paid 2012–13, Rs. 600, 2013–14 Rs. 4,800 
2014–15 Rs. 600. Under cash basis if accounts were 
maintained how will you consider this while calculating 
professional income? 

 ©¸zxÁ©øÚUS ÁõhøP öPõkUP¨£mhx. 2012–2013  

¹. 600, 2013–14 – ¹. 4,800, 2014–15 – ¹. 600. öμõUP 

•øÓ°À PnUQøÚ £μ©õ›zx Á¢uõÀ ]Ó¨¦ öuõÈÀ 

Á¸©õÚzvÀ CuøÚ GÆÁõÖ PnUQkÁõ´? 

9. How can you calculate short term capital assets? 

 SÖQ¯ Põ» ‰»uÚ ö\õzvøÚ GÆÁõÖ PnUQkÃº? 

10. Winning from lotteries Rs. 14,000 – how can you gross up 
it? 

 £¢u¯ ^mk ‰»® öÁßÓx ¹. 14,000, CuøÚ GÆÁõÖ 

ö©õzu ªkÃº? 
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 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) List out the components of the law of Income tax. 

  Á¸©õÚ Á›a\mhzvß TÖPøÍ £mi¯¼kP. 

Or 

 (b)  What are the causes of leving Income tax? 

  Á¸©õÚ Á› Âv¨£uØPõÚ Põμn[PÒ ¯õøÁ? 

12. (a) What is meant by Exempted Incomes? 

  Á¸©õÚ Á› Â»UPÎUP¨£mh Á¸©õÚ® GßÓõÀ 

GßÚ? 

Or 

 (b)  What are the exceptions to the basic conditions? 

  Ai¨£øh ÂvPÐUPõÚ ÂvÂ»USPÒ ¯õøÁ? 

13. (a) From the following particulars of Mr. Kannan 
compute the taxable and exempted HRA. 

  Basic salary Rs. 48,000 p.m. 

  Dearness allowance Rs. 8,000 p.m. 

  House rent allowance Rs. 6,400 p.m. 

  Actual rent paid Rs. 9,600 p.m. 

  v¸. Psnß Gß£Á›ß RÌPõq® uPÁÀPÎ¼¸¢x 

Á›US Em£mh ©ØÖ® Á›Â»US ö£ØÓ Ãmk 

ÁõhøP¨ £iø¯ PnUQkP. 

  Ai¨£øha \®£Í® – ¹. 48,000 (©õu® JßÖUS) 

  APÂø»¨£i – ¹. 8,000 (©õu® JßÖUS) 

  Ãmk ÁõhøP¨£i  – ¹. 6,400 (©õu® JßÖUS) 

  ÁõhøP ö\¾zv¯x -– ¹. 9,600 (©õu® JßÖUS).  

Or 
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 (b)  From the following particulars given below, 
compute taxable income from house property for the 
previous year 2013–2014. 

   Annual rental value Rs. 12,000, Municipal value  
Rs. 10,000 Municipal taxes paid by the owner  
Rs. 2,400. Unrealised rent allowed earlier received 
during the year Rs. 5,000. The house remained 
vacant for 2 months during the year. 

   RÌUPõq® ÂÁμ[PÎ¼¸¢x Ãmka ö\õzvß ‰»® 

ö£ØÓ Á¸©õÚzøu •¢øu¯ Bsk 2013–2014– ØS 

PnUQkP. Bsk ©v¨¦ ¹. 12,000, |Pμõm] ©v¨¦  

¹. 10,000, Ãmk Á› [Ãmk E›ø©¯õÍº ö\¾zv¯x] 
¹. 2,400, •¢øu¯ Bsiß AÝ©vUP¨£mh |h¨¦ 

BsiÀ ö£ØÓ «mP¨£hõu ÁõhøP ¹. 5,000, CÆÃk 

2 ©õu[PÒ Põ¼¯õP C¸¢ux. 

14. (a) Mr. X gives you the following particular from his 
accounts for the year ending 31–3–2013. The 
following items have been debited to profit and loss 
a/c. 

  (i)  Net profit as per profit and loss a/c –  
Rs. 6,00,000  

  (ii)  Contribution to unrecognized provident fund  
    Rs. 40,000 

  (iii)  Provision for income tax and wealth tax  
    Rs. 20,000 

  (iv)  Advertisement – Rs. 20,000 

  (v)  Provision for excise duty Rs. 10,000 

  (vi)  Interest on late payment of sales tax Rs. 2,000 

  (vii) Office expenses Rs. 6,000 

  Compute his business Income. 
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  X Gß£Áº uÚx Â¯õ£õμ PnUQÀ C¸¢x ¤ßÁ¸® 

uPÁÀPøÍ 31–3–2013 •iÁøh²® BsiØS 

u¢xÒÍõº. RÌPõq® CÚ[PÒ C»õ£ |mh PnUQÀ 

£ØÖ øÁUP¨£mkÒÍx. 

  (i)  C»õ£ |mh PnUQß £i {Pμ C»õ£® ¹. 6,00,000 

  (ii)  A[RP›UP¨£hõu ÷\©|»{vUS ö\¾zv¯x  

¹. 40,000 

  (iii)  Á¸©õÚÁ› ©ØÓ® |»Á›UPõÚ JxURk  

 ¹.  20,000 

  (iv)  ÂÍ®£μa ö\»Ä ¹. 20,000 

  (v)  P»õÀ Á›UPõÚ JxURk ¹. 10,000 

  (vi)  uõ©u©õP ö\¾zv¯ ÂØ£øÚ Á›UPõÚ Ámi  

¹. 2,000 

  (vii)  A¾Á»P ö\»ÄPÒ ¹. 6,000  

  öuõÈÀ Á¸©õÚzøu Psk¤i.  

Or 

 (b)  From the following information, calculate the 
amount of depreciation to be provided during the 
previous year 2013–2014 

Written down value as on  
1–4–2013 

Rs. 20,40,000 

Machinery purchased on  
1st December 2013 

Rs.  6,50,000 

Sale of Machinery Rs.  2,70,000 
Rate of depreciation @ 15% 

   RÌPõq® uPÁÀPÎ¼¸¢x 2013–2014 ® •¢øu¯ 

BsiØPõÚ ÷u´©õÚzøu PnUQkP. 
1–4–2013 AßÖ SøÓ¢u ö\À 

©v¨¦ C¸¨¦  

¹. 20,40,000 

1–12–2013 AßÖ C¯¢vμ® 

Áõ[Q¯x 

¹.  6,50,000 

C¯¢vμ® ÂØ£øÚ ¹.  2,70,000 

÷u´©õÚ® ÂQu® @ 15% 
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15. (a) In April 1981 Ram purchased a house in Delhi at a 
cost of Rs. 3,00,000. Later in August 1987 he had 
constructed one room at a cost of Rs. 1,00,000. On 
1–1–2014 he sold the house for Rs. 25,00,000. Find 
out Ram’s capital gain income CII–1981–82–100, 
1987–88–150, 2013–14–939. 

   μõ® Gß£Áº H¨μÀ 1981 AßÖ öhÀ¼°À  

¹. 3,00,000ØS Ãk JßÖ Áõ[QÚõº. ¤ßÚº BPìm 

1987 AßÖ AÁº  ÷©¾® J¸ AøÓ JßÖ 

AÆÃm÷hõk PmiÚõº Auß ©v¨¦ ¹. 1,00,000. ¤ß¦ 

1–1–2014 AßÖ AÆÃmøh ö©õzu©õP  

¹. 25,00,000ØS ÂØÓõº. μõ•øh¯ ‰»uÚ Buõ¯zøu 

PnUQhÄ®. 

   AhUP Âø» SÔ±mk Gs –1981–82–100, 1987–88–

150, 2013–14–939. 

Or 

 (b)  Alex a Government servant, died on 24th May 2013. 
while still in service. His widow is paid a family 
pension of Rs. 5000 p.m. and dearness allowance @ 
Rs. 500 p.m. For the assessment year 2014–2015 
determine her taxable Income. 

   Aö»Uì GÝ® Aμ_ FÈ¯º 24 ÷© 2013 AßÖ 

£o°À C¸US® ÷£õx CÓ¢x ÂkQÓõº. AÁ¸øh¯ 

ÂuøÁ ©øÚÂ Sk®£ J¨Åv¯©õP ©õu® ¹. 5000 

©ØÖ® APÂø»¨£i¯õP ©õu® ¹.500 

öPõkUP¨£mhx. Po¨¦ Bsk 2014–2015 

AÁ¸øh¯ Á›°hUTi¯ Á¸©õÚzøu PnUQkP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. What is meant by Finance Act? What is the relationship 
between finance act and income tax act? 

 {va\mh® GßÓõÀ GßÚ? {va\mhzvØS® Á¸©õÚ 

Á›a\mhzvØS® GßÚ öuõhº¦ EÒÍx? 
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17. Explain how tax liability of an assessee is determined 
with reference to his residence. 

 Á› ö\¾zx£Á›ß Á› ö£õÖ¨ø£ AÁ¸øh¯ Si°¸¨¦ 

{ø»ø¯ øÁzx GÆÁõÖ wº©õÛ¨£õ´. 

18. Following are the particulars of the income of  
Mr. Yaaswanth for the previous year 2013–2014. 

 (a) Salary Rs. 12,000 p.m. 

 (b) Contribution to recognized provident fund  
Rs. 1610 p.m. [sanc amount by employer also]  

 (c) Dearness allowance Rs. 300 p.m.  

 (d) Interest credited to provident fund @ 13% is  
Rs. 13,000 

 (e) Bonus Rs. 3,000 

 (f) His ration bill of Rs. 2000 p.m. is paid by employer. 

 (g) He is provided with a car by his employer for both 
personal and office use. 

 (h) Premium paid on LIC Rs. 12,000  

  Find out taxable Income of Mr. Yaswanth for the 
A.Yr. 2014–2015 

 v¸. ¯ìÁ¢z AÁºPÎß •¢øu¯ Bsk 2013–2014–® 

BsiØPõÚ Á¸©õÚ[PÒ R÷Ç öPõkUP¨£mkÒÍÚ. 

 (A) \®£Í® ©õu® JßÖUS ¹. 12,000 

 (B) A[QP›UP¨£mh ÷\©|»{vUS ©õu® JßÖUS  

¹. 1610 ö\¾zxQÓõº A÷u öuõøPø¯ •u»õÎ²® 

ö\¾zxQÓõº. 

 (C) APÂø»¨£i ©õu® JßÖUS ¹. 300.  

 (D) ÷\©|»{vUPõÚ Ámi 13% Ai¨£øh°À ¹. 13,000 

AÁμx PnUQÀ ÁμÄ øÁUP¨£mkÒÍx. 

 (E) ÷©¿v¯® ¹. 3,000 
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 (F) AÁ¸øh¯ Sk®£ AmøhUPõÚ ö£õ¸mPÐUS ©õu® 

¹. 2000 Ãu® •u»õÎ¯õÀ öPõkUP¨£kQßÓx. 

 (G) B²Ò Põ¨¥mk •øÚ©® ö\¾zv¯x ¹. 12,000. 

  Po¨¦ Bsk 2014–2015–® BsiØPõÚ  

v¸. ¯èÁ¢z AÁºPÎß Á›°hUTi¯ Á¸©õÚzøu 

PnUQkP. 

19. The following is the profit and loss account of a merchant 
for the year ending 31st March 2013. 

Profit & Loss A/c 

 Rs.  Rs. 

To Office salary  6,500 By Gross profit 36,750 

To Bad debts 1,700 By Commission 1,250 

To Provision for bad 
debts 

3,000 By Discounts 500 

To Advertisement  3,800 By Sundry 
receipts 

200 

To Fire Insurance 
Premium (House 
property) 

550 By Rent of 
buildings 

3,600 

To General expenses 2,750 By profit on sale of 
investments 

3,000 

To Depreciation 1,200   

To Interest on capital 2,000   

To Interest on bank loan 1,300   

To Net profit 22,500   

 45,300  45,300 

 The amount of depreciation allowable is Rs.1,000 
compute the taxable profit from business. 
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31 ©õºa 2013 ²hß •iÁøh¢u Bsiß J¸ Â¯õ£õ›°ß 

C»õ£ |mhU PnUS R÷Ç öPõkUP¨£mkÒÍx. 

C»õ£ |mh PnUS 

 ¹.  ¹. 

A¾Á»P \®£Í® 6,500 ö©õzu C»õ£® 36,750

ÁõμõU Phß 1,700 PÈÄ 1,250

ÁõμõU Phß JxUS 3,000 uÒÐ£i 500

ÂÍ®£μa ö\»Ä 3,800 £Ø£» ÁμÄPÒ 200

wUPõ¨¥k •øÚ©® 

(Ãk) 

550 Pmih ÁõhøP 3,600

ö£õxa ö\»ÄPÒ 2,750 •u½k ÂØÓvÀ 

C»õ£® 

3,000

÷u´©õÚ® 1,200  

•uÀ «x Ámi 2,000  

Á[Q Phß «x Ámi 1,300  

{Pμ C»õ£® 22,500  

 45,300  45,300

AÝ©vUP¨£mh ÷u´©õÚ® ¹. 1,000 Á›°hUTi¯ öuõÈÀ 

Á¸©õÚzøu PnUQkP. 

20. From the particulars given below compute the capital 
gains of Shri Ravishankar for the A.Y. 2014–2015. 

 (a) Sale price of Jewellery sold on 1.9.2013 Rs. 5,00,000 
cost of Jewellery in 1985–1986 Rs. 50,000 

 (b) Sale price of shares of Z ltd acquired in 1989–90 sold 
on 1.12.2013 for Rs. 2,60,000. Cost price of shares of 
Z ltd Rs. 40,000. 

 (c) Gold ornaments acquired in July 2012 for  
Rs. 1,00,000 were sold for Rs. 1,60,000 in June 2013. 

 (d) Household furniture purchased in June 2012 for  
Rs. 48,000 and sold in Feb 2014 for Rs.56,000. 
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 (e) Maruti van used in business sold for Rs. 1,80,000 
(written down value on 1.4.2013 Rs. 96,000)  
CII –1985–86–133, 1989–90–172, 2012–13–852,  
2013–14–939. 

  Work out the amount of capital gains. 

  RÌUPõq® ÂÁμ[PÎ¼¸¢x v¸.μÂ\[PÒ 

Gß£Á¸øh¯ 2014–2015 Po¨¦ BsiØS ‰»uÚ 

Buõ¯zøu PnUQkP. 

  (A) 1–9–2013 ÂØP¨£mh u[P|øPPÎß ÂØ£øÚ 

Âø» ¹. 5,00,000. u[P |øP°À 1985–1986 À 

Áõ[P¨£mh AhUP® ¹. 50,000.  

  (B) Z {Ö©zvhª¸¢x 1989–90 À Áõ[P¨£mh 

£[SPøÍ 1–12–2013 AßÖ ¹. 2,60,000 zvØS 

ÂØ£øÚ ö\´uõº. Auß AhUP Âø» ¹. 40,000. 

  (C) áúø» 2012 AßÖ ¹. 1,00,000 ©v¨¤À Áõ[Q¯ 

u[P B£μn[PÒ áúß 2013 À ÂØ£øÚ ö\´ux  

¹. 1,60,000. 

  (D)  áúß 2012 À Áõ[Q¯ Ãmk AøÓP»ßPÒ ©v¨¦  

¹. 48,000, ¤¨μÁ› 2014À ÂØ£øÚ ö\´ux  

¹. 56,000 

  (E)  ÁoPzvØPõP¨ £¯ß£kzv¯ ©õ¸v ÷Áß 

ÂØ£øÚ ö\´ux ¹. 1,80,000 [1–4–2013 AßÖ 

AuÝøh¯ SøÓ¢u ö\À ©v¨¦ ¹. 96,000] 

  A.Â. S.Gs –1985–86–133, 1989–90–172,  
2012–13–852, 2013–14–939, ‰»uÚ Buõ¯zøu 

PnUQkP. 

 
———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2015 

Fifth Semester 

Elective — Commerce 

MS-OFFICE 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Expand: (a) RAM (b) CPU.  

 ÂÁ›UP. (A) RAM (B) CPU. 

2. What are the Limitations of computers? 

 Po¨ö£õÔPÎß SøÓ£õkPÒ ¯õøÁ? 

3. What are the features of MS Word? 

 MS ÷Áºmiß ]Ó¨¤¯À¦PÒ ¯õøÁ? 

4. Write down the step for inserting pictures in Word 
document. 

 ÷Áºm BÁnzvÀ £h[PøÍa ÷\º¨£uØPõÚ £iPøÍ 

GÊxP.  

5. What is Auto fill? Give example. 

 ußÛ¯UP {μ¨¤ GßÓõÀ GßÚ? GkzxUPõmk u¸P.  

Sub. Code 

1BCOE1B 
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6. Write down the steps for inserting columns in Excel 

Worksheet. 
 GUöéÀ ÷Áø»zuõÎÀ SzxÁ›ø\PøÍa ÷\º¨£uØPõÚ 

£iPøÍ GÊxP.  

7. Write a short note on database. 
 "ÂÁμzöuõS¨¦' – ]Ö SÔ¨¦ ÁøμP.  

8. Write a short note on Query in MS Access. 
 MS AUéêÀ ÷PÒÂø¯¨ £ØÔ ]Ö SÔ¨¦ GÊxP.  

9. What are the uses of ClipArt in MS PowerPoint? 
 MS £Áº£õ°smiÀ B¯zu¨ £hzvß £¯ßPÒ ¯õøÁ? 

10. How will you check text in MS PowerPoint slide? 
 MS £Áº£õ°sm £hÂÀø»°À ö\´vø¯ \›£õº¨£x 

GÆÁõÖ?  

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write about the history of computers in brief. 

   Po¨ö£õÔPÎß Áμ»õØøÓ¨ £ØÔa _¸UP©õP GÊxP.  

Or 

 (b)  What are the functions of Mouse? Describe. 

   ©Äêß ÷Áø»PÒ ¯õøÁ? ÂÁ›UP.  

12. (a) Explain the method for editing Word document with 
example. 

   ÷Áºm BÁnzøu öuõSUS® •øÓø¯ 

GkzxUPõmkhß ÂÍUSP. 

Or 

 (b)  Narrate the different ways for inserting page 
number in MS Word document. 

   MS ÷Áºm BÁnzvÀ £UP Gsøn 

Em¦SzxÁuØPõÚ £À÷ÁÖ ÁÈPøÍ ÂÁ›UP.  
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13. (a) Enumerate the method for entering and editing 

formulas in Excel with illustration. 

   GUöéÀ¼À `zvμ[PøÍ ~øÇ¨£x ©ØÖ® öuõSUS® 

•øÓø¯ Euõμnzxhß ÂÁ›UP.  

Or 

 (b)  Write about the column chart in Excel with 
example. 

   GUöéÀ¼À SzxÁ›ø\ Áøμ£hzøu¨ £ØÔ 

GkzxUPõmkhß GÊxP.  

14. (a) Write down the steps for creating primary field(s) in 
MS Access Table with illustration. 

   MS  AUéì AmhÁøn°À •ußø© ¦»[PøÍ 

E¸ÁõUSÁuØPõÚ £iPøÍ Euõμnzxhß GÊxP.  

Or 

 (b)  Describe the steps for moving fields in MS Access 
with example. 

   MS  AUéêÀ ¦»[PøÍ |PºzxÁuØPõÚ £iPøÍ 

GkzxUPõmkhß ÂÁ›UP.  

15. (a) Enumerate the steps for modifying PowerPoint 
presentation with illustration. 

   £Áº£õ°sm AÔ•P¨£kzuø»z v¸zu® 

ö\´ÁuØPõÚ £iPøÍ Euõμnzxhß ÂÁ›UP.  

Or 

 (b)  Write down the steps for adding transition effects to 
slides. 

   £hÂÀø»PÐUS {ø»©õÖuÀ ÂøÍÄPøÍ 

÷\º¨£uØPõÚ £iPøÍ GÊxP.  



AFC–7271 

  

  4

Ws11 
 Part C  (3  10 = 30) 

Answer any three questions. 

16. Draw a block diagram of computer and describe its 
components in brief. 

 Po¨ö£õÔ°ß PmhÁøμ£hzøu Áøμ¢x ©ØÖ® 

AuÝøh¯ £õP[PøÍa _¸UP©õP ÂÁ›UP.  

17. Discuss the different options used in print dialog box in 
MS word. 

 MS ÷ÁºmiÀ Aa_ Eøμ¯õhÀ ö£mi°À £¯ß£kzuUTi¯ 

£À÷ÁÖ Â¸¨£z÷uºÄPøÍ ÂÁõvUP.  

18. Write about any 8 Built-in functions in Excel with 
example. 

 GUöéÀ¼À H÷uÝ® Gmk EÒÍø©U TÖPøÍ¨ £ØÔ 

GkzxUPõmkhß GÊxP.  

19. Enumerate the method for creating any one type of 
Reports in MS Access with illustration. 

 MS AUéêÀ H÷uÝ® J¸ ÁøP¯õÚ AÔUøPø¯ 

E¸ÁõUS® •øÓø¯ Euõμnzxhß ÂÁ›UP.  

20. Explain the different options used in Slide show of 
PowerPoint Presentation with example. 

 £Áº£õ°sm AÔ•P¨£kzu¼ß £hÂÀø» Põm]°À 

£¯ß£kzuU Ti¯ £À÷ÁÖ Â¸¨£z÷uºÄPøÍ 

GkzxUPõmkhß ÂÍUSP. 

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2015 

Sixth Semester 

Commerce 

SPECIAL ACCOUNTS 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. What is meant by Sub-Standard Assets? 

 xøn {ø»a ö\õzxUPÒ £ØÔ AÔÁx GßÚ? 

2. What do you mean by Rebate on bills discounted? 

 uÒÐ£i ö\´¯¨£mh Esi¯À «uõÚ JxUS £ØÔ }Âº 

AÔÁx GßÚ? 

3. What is Life Insurance? 

 B²Ò Põ¨¥k GßÓõÀ GßÚ? 

4. What is meant by Surrender? 

 J¨£øh¨¦ £ØÔ AÔÁx GßÚ? 

5. What do you mean by replacement of assets? 

 ö\õzxUPøÍ ©õØÔ¯ø©zuÀ £ØÔ }Âº AÔÁx GßÚ? 

6. What is Capital base? 

 ‰»uÚ Ai¨£øh GßÓõÀ GßÚ? 

Sub. Code 
1BCO6C1 
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7. What is Revenue Profit? 

 Á¸Áõ°Ú C»õ£® GßÓõÀ GßÚ? 

8. What is Minority interest? 

 ]Ö£õßø© |»ß GßÓõÀ GßÚ? 

9. What is Voyage account? 

 PhØ£¯n PnUS GßÓõÀ GßÚ? 

10. What do you mean by Cum-interest? 

 ÷\º¢xÒÍ Ámi £ØÔ }Âº £ØÔ AÔÁx GßÚ? 

 Section B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) From the following particulars of Ram Bank Ltd. 
Prepare the Balance Sheet for the year ended 
31.03.1997. 

 Rs. 

Paid up capital 10,00,000 

Investments 35,00,000 

Bills discounted 75,00,000 

Bills receivable being bills for collection 50,000 

Cash 75,00,000 

Acceptance for customers  25,00,000 

Bills Purchased 5,00,000 

P & L a/c 4,45,000 

Reserve fund 15,00,000 

Rebate on Bills discounted 5,000 

Loans 75,00,000 

Deposits 2,93,000 
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  μõ® Á[Q ¼ªöhmiß ¤ßÁ¸® Â£μ[PøÍU 

öPõsk 31.3.1997 |õøÍ¯ C¸¨¦{ø»U SÔ¨¦ u¯õº 

ö\´P. 

 ¹. 

ö\¾zv¯ •uÀ 10,00,000

•u½kPÒ 35,00,000

uÒÐ£i ö\´u ©õØÖa ^mk 75,00,000

©õØÖa ^mk ö£ØÓ¤ß Á`»õQ¯ ©õØÖa ^mk 50,000

öμõUP® 75,00,000

ÁõiUøP¯õÍ›hª¸¢x ö£ØÓx 25,00,000

öPõÒ•uÀ ö\´u ©õØÖa ^mk 5,00,000

C»õ£ |mhU P/S 4,45,000

Põ¨¦ {v 15,00,000

©õØÖa ^mk Ámhg ö\´uvß «uõÚ uÒÐ£i 5,000

Phß 75,00,000

øÁ¨¦PÒ 2,93,000

Or 

 (b)  As on 31st December 2005, the books of the Hercules 
bank, include among others, the following balances. 

 Rs. 

Rebate on bills discounted (01.01.2005) 3,20,000 

Discount received 46,00,000 

Bills discounted  and purchased 3,15,47,000 

  Through out 2005, the bank’s rate for discounting 
has 18%. On investigation and analysis, the average 
due date for the bills discounted and purchased is 
calculated as 14th February, 2006. 

  Show the calculation of the amount to be credited to 
the banks profit and loss account under Discount 
earned for the year 2005. 
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  i\®£º 31, 2005 AßÖ öíºS¼ì Á[Q°ß HkPÎÀ 

©ØÓøÁ²® ÷\ºzx RÌPsh C¸¨¦UPÒ 

uμ££mkÒÍx. 

 ¹. 

©õØÖa ^mk Ámhg ö\´uvß «uõÚ 

uÒÐ£i (01.01.2005) 3,20,000

uÒÐ£i ö£ØÓx 46,00,000

©õØÖa^mk Ámhg ö\´ux ©ØÖ® 

öPõÒ•uÀ ö\´ux 3,15,47,000

  2005–® Bsk •ÊÁx® uÒÐ£iUPõÚ Á[Q ÂQu® 

18% BS®. B´Ä ö\´x PshÔ¢uvÀ ©õØÖa^mk 

Ámhg ö\´x ©ØÖ® öPõÒ•uÀ ö\´uuØPõÚ \μõ\› 

uÁøn |õÒ ¤¨μÁ› 14, 2006 BS®. 

  Á[Q C»õ£ |mh P/S–À 2005–® BsiØPõÚ 

uÒÐ£i Dmi¯vß RÌ ÁμÄ øÁUP ÷Ási¯ 

öuõøP°øÚU PõmkP. 

12. (a) From the following prepare the Fire revenue 
account for 2008-2009. 

 Rs. 

Claims Paid 2,35,000 

Legal expenses regarding claims 5,000 

Premium received  6,00,000 

Reinsurance premiums 60,000 

Commission 1,00,000 

Expenses of Management 1,50,000 

Provision against unexpird risk (01.04.2008) 2,60,000 

Claims unpaid on 01.04.2008  20,000 

Claims unpaid on 31.03.2009 35,000 
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  RÌUPshÁØÔ¼¸¢x w Á¸Áõ´ PnUøP  

2008–2009US u¯õ›UPÄ®. 

 ¹. 

ö\¾zv¯ ÷Põ›UøPPÒ 2,35,000

÷Põ›UøPPõÚ \mha ö\»ÄPÒ 5,000

ö£ØÓ •øÚ©® 6,00,000

©ÖPõ¨¥mk •øÚ©® 60,000

PÈÄ 1,00,000

÷©»õsø©a ö\»ÄPÒ 1,50,000

öPk•i¯õu ChºPõÚ JxUS (01.04.2008) 2,60,000

01.04.2008 AßÖ ö\¾zu¨£hõ ÷Põ›UøPPÒ 20,000

31.03.2009 AßÖ ö\¾zu¨£hõ ÷Põ›UøPPÒ 35,000

Or 
 (b)  What is premium and Reserve for unexpired risk? 

Explain. 
  •øÚ©® ©ØÖ® •iÁøh¯õ Chº£õmiØPõÚ Põ¨¦ 

GßÓõÀ GßÚ? ÂÍUSP. 

13. (a) From the following particulars draw up the Capital 
account and General balance sheet as on 31.12.1994 
on double account system. 

  Authorised Capital: 8,000 shares of Rs. 100 each. 
Issued capital: 4,000 shares of Rs. 100 each fully 
paid (including 500 shares during the year)  
8% Debentures of Rs. 2,00,000. Trade creditors  
Rs. 5,00,000, Reserve fund Rs. 1,00,000, Trade 
debtors Rs. 90,000, Cash at bank Rs. 50,000. 
Reserve fund investment at cost Rs. 1,00,000. 
Market value Rs. 1,10,000, Stock Rs  60,000. 
 Rs. 
Fixed Assets on 01.01.1994 :  

Machinery 3,00,000 
Buildings 2,00,000 

Additions during the year :  
Machinery 70,000 

Depreciation fund :  
Machinery 60,000 
Buildings 20,000 

Net revenue a/c 40,000 
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  31.12.1994 AßøÓ¯ Cμmøh PnUS •øÓ°À 

RÌUPsh uPÁÀPøÍU öPõsk •uÀ PnUS ©ØÖ® 

ö£õx C¸¨¦{ø»U SÔ¨ø£z u¯õº ö\´P. 

A[RP›UP¨£mh •uÀ : 8,000 £[SPÒ JßÖ Ãu®  

¹. 100, öÁÎ°mh •uÀ ¹. 4,000 £[SPÒ JßÖ Ãu® 

¹. 100 •ÊÁx® ö\¾zu¨£mhøÁ (|h¨¦ Bsiß 

500 £[SPÒ ÷\ºzx) 8% PhÜmk¨ £zvμ® ¹. 2,00,000, 

PhÜ¢÷uõº ¹. 5,00,000 Põ¨¦ {v ¹. 1,00,000 

PhÚõÎPÒ ¹. 90,000 Á[Q öμõUP® ¹. 50,000 •u½k 

ö\´u Põ¨¦ {v öuõøP ¹. 1,00,000 \¢øu ©v¨¦ ¹. 

1,10,000 \μUQ¸¨¦ ¹. 60,000.   

 ¹. 

{ø»¯õÚ ö\õzxUPÒ 01.01.1994 :  

C¯¢vμ® 3,00,000

Pmih® 2,00,000

|h¨¦ Bsiß TkuÀ ©v¨¦ : 

C¯¢vμ® 70,000

÷u´©õÚ {v : 

C¯¢vμ® 60,000

Pmih® 20,000

{Pμ Á¸Áõ´ P/S 40,000

Or 

 (b)  Differentiate Double account system from Single 
account system. 

  CμmøhU PnUQ¯À •øÓø¯ JØøÓU PnUQ¯À 

•øÓ°¼¸¢x ÷ÁÖ£kzxP. 
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14. (a) Balance sheet as on 3 1.03.1997 was as follows : 

Liabilities P 
Rs. 

 Q 
Rs. 

Assets P 
Rs. 

 Q 
Rs. 

Share capital in Re. 1 
fully paid shares 

 
12,000 

  
5,000 

Sundry assets 
5,000 shares in S Ltd 

20,000 
6,500 

 
 
8,000 

– 

Reserve  5,000  1,000     

P & L a/c 2,000  1,000     

Sundry liabilities 7,500  1,000     

 26,500  8,000  26,500  8,000 

  Shares were acquired by P Ltd. on 30th September 
1996. Q Ltd. transferred Rs. 500 from profits to 
reserve on 31.03.1997. Prepare consolidated 
Balance sheet. 

  C¸¨¦{ø»U SÔ¨¦ 31.3.1997 AßÖ 

ö£õÖ¨¦PÒ P 

¹. 

 Q 

¹. 

ö\õzxUPÒ P 

¹. 

Q
¹.

£[S •uÀ ¹. 1 •ÊÁx® 

ö\¾zu¨£mhx 

 

12,000 

  

5,000 

£ÀÁøP 

ö\õzxUPÒ 20,000

 

8,000

Põ¨¦ 5,000  1,000 S-{Ö©zvÀ  

C»õ£ |mhU PnUS 2,000  1,000 5,000 £[SPÒ 6,500 – 

£ÀÁøU Phß 7,500  1,000  

 26,500  8,000  26,500 8,000

  ö\¨h®£º 30, 1996–À P-¼m £[SPøÍ Áõ[Q¯x.  

Q {Ö©® C»õ£zv¼¸¢x ¹. 500 31.3.1997 AßÖ 

Põ¨¦ PnUQØS ©õØÓ¨£mhx. J¸[Qøn¢u C¸¨¦ 

{ø»U SÔ¨ø£z u¯õ›UPÄ®.  

Or 
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 (b)  What is cost of control and goodwill or capital 

reserve? Explain.  

  Pmk¨£õmk Âø» ©ØÖ® |Øö£¯º AÀ»x •uÀ Põ¨¦ 

GßÓõÀ GßÚ? ÂÍUSP. 

15. (a) On 1st January 2008, the Ship “Sea Queen” started 

on voyage from Madras to Singapore. It reached 

back Madras on 15th March 2008. Transactions are 

as follows : 

  Fright outward Journey Rs. 85,900; Freight return 

Journey Rs. 15,000; Port charges Rs. 45,100; Wages 

Rs. 14,500; Fuel Rs. 12,500; Brokerage Rs. 5,000; 

Insurance for the ship Rs. 12,000 p.a; Insurance for 

freight Rs. 2,500. Prepare the Voyage Account. 

  01.01.2008 AßÖ ‘]’ S°ß GÝ® P¨£»õÚx uÚx 

PhØ£¯nzøu ö©mμõê¼¸¢x ][P¨§¸US 

C¯UQ¯x. Ax 15.03.2008 AßÖ ö©mμõëUS 

v¸®¤¯x. AuÝøh¯ |hÁiUøPPÒ ¤ßÁ¸©õÖ : 

  \zu® – öÁÎ¨£¯nzvØS ¹. 85,900 \zu® v¸®£ 

Á¸®÷£õx ¹. 15,000 xøÓ•P Pmhn® ¹. 45,100 

T¼ ¹. 14,500 G›ö£õ¸Ò ¹. 12,500 PÈÄ ¹. 5,000 

Bsk JßÖUS P¨£¾UPõÚ Põ¨¥k ¹. 12,000 

\zuzvØPõÚ Põ¨¥k ¹. 2,500. 

  PhØ£¯nU PnUøP u¯õ›UP. 

Or 

 (b)  Distinguish between Ex-interest and Cum-interest. 

  Ámi }[P»õP ©ØÖ® Ámi ÷\ºzuøu ÷ÁÖ£kzxP. 
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 Section C  (3  10 = 30)  

Answer any three questions. 

16. From the following ledger balances of Tamilnadu Bank Ltd. 
as at 31.3.2003 are furnished to you prepare the profit 
and loss account and Balance sheet.  
 Rs. 
Statutory reserve 12,00,000 
Bad debts written off 1,28,000 
Operating expenses 1,82,000 
Current accounts 2,02,45,000 
Interest paid 1,60,000 
Deposits account 69,20,000 
P & L a/c 2,29,000 
Bills receivable 15,00,000 
Discount 2,44,000 
Endorsements and guarantees 5,75,000 
Share capital 20,00,000 
Commission 45,000 
Cash 2,25,000 
Interest earned 5,50,000 
Balance with RBI 20,30,000 
Balance with foreign banks 12,06,000 
Borrowings from banks 64,82,000 
Cash credit and overdraft 1,54,57,000 
Investments 98,80,000 
Bills discounted 62,28,000 
Buildings 22,17,000 
Bills for collection 15,00,000 

 Additional information : 

 (a) Rebate on bills discounted to be provided Rs. 64,000. 

 (b) The bank had paid an interim dividend of  
Rs. 2,00,000 during the year.  
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 RÌ Á¸QßÓ ÂÁμ[PÒ uªÌ|õk Á[Q°Ýøh¯ 31.3.2003® 

Bsk •i¯ EÒÍøÁ. CøÁPøÍU öPõsk C»õ£ |mh P/S 

©ØÖ® C¸¨¦{ø»U SÔ¨¤øÚ u¯õ›zx PõmhÄ®  

(\mh •øÓ¨£i). 

 ¹. 

\mh•øÓ Põ¨¦ 12,00,000

ÁμõUPhß }UQ¯x 1,28,000

ö\¯À•øÓ ö\»ÄPÒ 1,82,000

|h¨¦ øÁ¨¦ 2,02,45,000

Ámi ö\¾zv¯x 1,60,000

øÁ¨¦ PnUS 69,20,000

C»õ£|mh PnUS 2,29,000

ÁμÄUS›¯ ©õØÖa^mk 15,00,000

uÒÐ£i 2,44,000

÷©ö»ÊuÀ ©ØÖ® áõªß (Gvº ö£õÖ¨¦) 5,75,000

£[S •uÀ 20,00,000

PÈÄ 45,000

öμõUP® 2,25,000

Ámi ö£ØÓx 5,50,000

›\ºÆ Á[Q°À C¸¨¦ 20,30,000

Á[Q C¸¨¦ (öÁÎ |õmiÀ) 12,06,000

Á[Q°¼¸¢x ö£ØÓ Phß 64,82,000

öμõUP Phß ©ØÖ® AvP¨£ØÖ 1,54,57,000

•u½kPÒ 98,80,000

uÒÐ£i ö\´¯¨£mh ©õØÖa^mk 62,28,000

Pmih® 22,17,000

Á`¾USÒÍ ©õØÖa ^mkPÒ 15,00,000

 \›UPmkuÀPÒ : 

 (A) uÒÐ£i ö\´¨£mh ©õØÖa ^mkUS›¯ ›÷£m ¹. 64,000 

 (B) uØPõ¼P C»õ£ DÄ ¹. 2,00,000 |h¨¦ BsiÀ 

ö\¾zu¨£mhx. 
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17. From the following particulars prepare the fire insurance 
revenue account for 2007-08. 

 Rs. 

Claims paid 2,40,000 

Premium received 6,00,000 

Re-insurance premium  60,000 

Commission 1,00,000 

Provision for unexpired risk on 1.4.2007 2,60,000 

Claims unpaid on 1.4.07 20,000 

Claims unpaid on 31.3.08 35,000 

Expenses 1,50,000 

 Make provisions against unexpired risk at the end of the 
year at 50% of net premium. 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x 2007 •uÀ 2008 Áøμ°»õÚ 

Põ»zvØS w Põ¨¥mk PnUøP u¯õº ö\´P. 

 ¹. 

÷Põ›UøP ö\¾zv¯x 2,40,000

•øÚ©® ö£ØÓÓx 6,00,000

©Ö Põ¨¥mk •øÚ©® 60,000

uμS 1,00,000

Gvº£õμu CÇ¨¤ØPõÚ JxUS 1.4.2007 2,60,000

ö\¾zu¨£hõu ÷Põ›UøP 1.4.07 20,000

ö\¾zu¨£hõu ÷Põ›UøP 31.3.08 35,000

ö\»ÄPÒ 1,50,000

 Bsk CÖv°À Gvº£õμõu CÇ¨¤ØPõÚ JxUS {Pμ 

•øÚ©zvÀ 50% E¸ÁõUSP. 
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18. The following Balances are extracted from the books of 
City Light Supply Corporation as on 31.03.2000 : 

Particulars Rs.  Rs. 

Equity Shares   1,64,700 

Debentures   60,000 

Sundry Creditors on Open Accounts   300 

Depreciation Fund   75,000 

Capital Expenditure on 31.3.1999 2,85,000   

Capital Expenditure during 1999-2000 18,300   

Sundry Debtors for Current Supplied 12,000   

Other Debtors 150   

Stores in Hand 1,500   

Cash in Hand 1,500   

Cost of Generation of Electricity 9,000   

Cost of Distribution of Electricity 1,500   

Rent, Rates and Taxes 1,500   

Management Expenses 3,600   

Depreciation 6,000   

Interest on Debentures 3,000   

Interim Dividend 6,000   

Sale of Current   39,000 

Meter Rent   1,500 

Balance of Net Revenue Account as on  
1st April 1999 

  8,550 

 3,49,050  3,49,050 

 Prepare : 

 (a) Capital A/c  

 (b) Revenue A/c  

 (c) Net Revenue A/c and  

 (d) General Balance sheet. 
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 31.03.2000 AßÖ ]mi ø»m \¨øÍ {ÖÁÚ©õÚx uÚx 

HkPÎ¼¸¢x ¤ßÁ¸® uPÁÀPøÍ u¸QÓx. 

Â£μ[PÒ ¹. ¹. 

ö£õx{ø» £[SPÒ 1,64,700

PhÜmk¨ £zvμ[PÒ 60,000

vÓ¢u PnUQß «uõÚ £Ø£» 

PhÜ¢÷uõºPÒ  

300

÷u´©õÚ {v 75,000

31.3.1999 AßøÓ ‰»uÚ 

ö\»ÂÚ[PÒ 2,85,000

1999&-2000&zvÀ ‰»uÚ ö\»ÂÚ[PÒ 18,300

ªß\õμ® AÎzuuØPõÚ £Ø£» 

PhÚõÎPÒ 

12,000

Cuμ PhÚõÎPÒ 150

øP°¾ÒÍ \μUQ¸¨¦ 1,500

øP°¾ÒÍ öμõUP® 1,500

ªß\õμ EØ£zvUPõÚ ö\»Ä 9,000

ªß\õμ £Qº©õÚ ö\»Ä 1,500

ÁõhøP  Ãu® ©ØÖ® Á›PÒ 1,500

÷©»õsø© ö\»ÄPÒ 3,600

÷u´©õÚ® 6,000

PhÜmk¨ £zvμ Ámi 3,000

CøhUPõ» £[Põuõ¯® 6,000

ªß\õμ ÂØ£øÚ 39,000

«mhº ÁõhøP 1,500

01.04.1999 AßøÓ¯ {Pμ Á¸Áõ´U 

PnUQß C¸¨¦  8,550

 3,49,050 3,49,050



AFC–7272 

  

  14

WSS 

 u¯õ›UP : 

 (A) •uÀ P/S 

 (B) Á¸Áõ´ P/S  

 (C) {Pμ Á¸Áõ´  P/S ©ØÖ® 

 (D) ö£õxÁõÚ C¸¨¦{ø»U SÔ¨¦. 

19. The following are the extracts from the Balance sheet of 
H Ltd and S Ltd as on 31.12.2008. 

Liabilities H Ltd 
Rs. 

 S Ltd 
Rs. 

Assets H Ltd 
Rs. 

 S Ltd 
Rs. 

Share capital 
(Rs. 10 each) 

5,00,000  1,00,000 Fixed assets 
Stock 

4,00,000 
3,00,000 

 60,000 
1,20,000 

P & L a/c 2,00,000  60,000 Debtors 75,000  70,000 

Reserves 60,000  30,000 7,500 shares in    

Creditors 90,000  60,000 S Ltd 75,000   

 8,50,000  2,50,000  8,50,000  2,50,000 

 The stock of H Ltd. includes Rs. 25,000 bought from  
S Ltd. at a profit to later of 20% on sales. All the profits of 
S Ltd. has been earned since the shares were acquired by 
H Ltd. but there was already the reserve of Rs. 30,000 at 
that date. 

 Prepare a Consolidated Balance Sheet. 

 ¤ßÁ¸® C¸¨¦ {ø»U SÔ¨£õÚx 31.12.2008&® 

BskUS›¯ H {Ö©® ©ØÖ® S {Ö©zvØS›¯x. 

ö£õÖ¨¦PÒ H Ltd 

¹. 

 S Ltd 
¹. 

ö\õzxUPÒ H Ltd
¹. 

S Ltd 
¹. 

£[S •uÀ (JßÖ 

¹. 10 Ãu®) 

5,00,000  1,00,000 {ø»a 

ö\õzxUPÒ 

4,00,000

3,00,000

60,000

1,20,000

C»õ£ |mh P/S 2,00,000  60,000 \μUQ¸¨¦ 75,000 70,000

Põ¨¦PÒ 

PhÜ¢÷uõºPÒ 

60,000 

90,000 

 30,000 

60,000 

S {Ö©zvÀ 

7,500 £[SPÒ 75,000

 8,50,000  2,50,000  8,50,000 2,50,000
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 H {Ö©zv¾ÒÍ \μUQ¸¨¤À ¹. 25,000 ö£Ö©õÚ \μUPõÚx 

ÂØ£øÚ°ß «x 20% C»õ£® øÁzx S {Ö©zvh® 

Áõ[Q¯x. S {Ö©zv¾ÒÍ AøÚzx C»õ£[PÐ®  

H {Ö©zuõÀ S {Ö©zvÀ £[SPøÍ Áõ[Q¯ ¤ßÚ÷μ 

\®£õvzuøÁ¯õS®. BÚõÀ S {Ö©zvÀ ¹. 30,000 

ö£Ö©õÚ Põ¨¦PÒ ©mk® HØPÚ÷Á C¸¢ux. J¸[Qøn¢u 

C¸¨¦ {ø»U SÔ¨ø£ u¯õº ö\´P. 

20. From the following details of Mr. A an investor who is 
holding in 10% Government Bonds. Prepare the 
investment account. 

 Interest dated are 30th September and 31st March 
 The accounts are closed on every 31st December. 
 Opening balance (Face Value Rs. 30,000) cost Rs. 29,500. 
 1.3.2006 – 50 units purchased ex-interest Rs. 98.  
 1.7.2006 – sold 100 units ex-interest out of the original 

holding of Rs. 100. 
 1.10.2006 – purchased 25 units at Rs. 98 cum interest. 
 1.11.2006 – sold 100 units ex-interest at Rs. 99 out of 

original holding. 
 ¤ßÁ¸® Â£μ[PÎ¼¸¢x A GßÓ •u½mhõÍ›ß 10% Aμ_ 

£zvμ •u½mkU PnUS u¯õ›UPÄ®. 

 Ámiz ÷uvPÒ : ö\¨h®£º 30 ©ØÖ® ©õºa 31 

 PnUSPÒ i\®£º 31&À •iUP¨£kQÓx. 

 Bμ®£ C¸¨¤ß (•P©v¨¦ ¹. 30,000) AhUP ©v¨¦  

¹. 29,500 

 1.3.2006 50 £[SÒ Ámi }[PÍõP ¹. 98 Ãu® Áõ[P¨£mhx 

 1.7.2006 100 £[SPÒ (Bμ®£ C¸¨¦) Ámi }[PÍõP  

¹. 100 Ãu® ÂØP¨£mhx 

 1.10.2006 25 £[SPÒ Ámi Ehß ¹. 98 Ãu® Áõ[P¨£mhx 

 1.11.2006 100 £[SPÒ (Bμ®£ C¸¨¦) Ámi }[PÍõP  

¹. 99 Ãu® ÂØP¨£mhx. 

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2015 
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Commerce 

MANAGEMENT ACCOUNTING 

(CBCS – 2011 onwards) 

Time : Three Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. What are the other names of Management accounting? 

 ÷©»õsø©U PnUQ¯¼ß ¤Ó ö£¯ºPÒ ¯õøÁ? 

2. Define Cost Accounting. 

 AhUPÂø»U PnUQ¯À Áøμ¯ÖUPÄ®. 

3. What is meant by comparative Balance sheet? 

 J¨¥mk C¸¨¦{ø»U SÔ¨¦ Gß£uß ö£õ¸Ò ¯õx? 

4. What is current ratio? 

 |h¨¦ ÂQu® GßÓõÀ GßÚ? 

5. What are non cash items? 

 öμõUP® AÀ»õu CÚ[PÒ Gß£øÁ ¯õøÁ? 

6. What is meant by Funds Flow statement? 

 {v Jmh AÔUøP Gß£uß ö£õ¸Ò ¯õx? 

Sub. Code 
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7. What is master budget? 

 •ußø© ÁμÄ ö\»Ä vmh® GßÓõÀ GßÚ? 

8. Classify budget on the basis of variability. 

 ©õÖ£k® Ai¨£øh°À ÁμÄ ö\Ä vmhzøu 

ÁøP¨£kzxP. 

9. Give any two examples for semi variable expenses. 

 £Sv ©õÖ£k® ö\»ÄPÐUS Cμsk GkzxUPõmkPÒ u¸P. 

10. Differentiate contribution from profit. 

 £[PÎ¨¤øÚ C»õ£zv¼¸¢x ÷ÁÖ£kzxP. 

 Section B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) How is the Financial Accounting used as basis for 
Management Accounting? 

  {vUPnUQ¯À GÆÁõÖ ÷©»õsø©U PnUQ¯¾US 

Ai¨£øh¯õP £¯ß£kQÓx? 

Or 

 (b)  Explain the nature and objectives of Management 
Accounting. 

  ÷©»õsø©U PnUQ¯¼ß ußø© ©ØÖ® Auß 

÷|õUP[PøÍ ÂÍUSP. 

12. (a) What are Financial Statements? What are the 
purposes for preparing them? 

   {v{ø» AÔUøPPÒ Gß£Ú ¯õøÁ? CøÁ GuØPõP 

u¯õ›UP¨£kQßÓÚ? 

Or 

 (b)  Explain the various classification of Ratios. 

   ÂQu[PÎß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 
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13. (a) Following are the Balance sheets of a company for 
two years : 

Liabilities 2007  2008  Assets 2007  2008 

 Rs.  Rs.   Rs.  Rs. 

Share capital 1,00,000  1,25,000  Machineries 75,000  84,500 

General Reserve 25,000  30,000  Land and 
Buildings 

1,00,000  95,000 

P and L a/c 15,250  15,300  Debtors 40,000  32,100 

Load from Bank 35,000  –  Stock 50,000  37,000 

Creditors 75,000  67,500  Cash 250  300 

Provision for 
taxation 

15,000  17,600  Bank –  4,000 

     Patents –  2,500 

 2,65,250  2,55,400   2,65,250  2,55,400 

  Prepare Funds Flow statement for the year 2008. 

  J¸ P®ö£Û°ß Cμsk BskPÐUPõÚ {v{ø» 

AÔUøPPøÍ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ 2007  2008  ö\õzxUPÒ 2007  2008 

 ¹.  ¹.   ¹.  ¹. 

£[S ‰»uÚ® 1,00,000  1,25,000  C¯¢vμ[PÒ 75,000  84,500 

ö£õxU Põ¨¦ 25,000  30,000  {»®, Pmih® 1,00,000  95,000 

»õ£ |mhU P/S 15,250  15,300  PhÚõÎPÒ 40,000  32,100 

Á[QU Phß 35,000  –  \μUQ¸¨¦ 50,000  37,000 

PhÜ¢÷uõº 75,000  67,500  öμõUP® 250  300 

Á›PÐUS JxURk 15,000  17,600  Á[Q°¸¨¦ –  4,000 

     ÷£mhßPÒ –  2,500 

 2,65,250  2,55,400   2,65,250  2,55,400 

  2008® BsiØPõÚ {v Kmh AÔUøP u¯õº ö\´P.   

Or 

 (b)  How fund flow statement differs from funds flow 
statement? 

  {v Kmh £S¨£õ´Ä öμõUPJmh £S¨£õ´Â¼¸¢x 

GÆÁõÖ ÷ÁÖ£kQßÓx? 
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14. (a) From the following information prepare flexible 
budget for overheads at 50%, 60% and 70% capacity. 

 60% capacity 

 Rs. 

Fixed overheads :  

Depreciation 33,000 

Insurance 9,000 

Salary 30,000 

Semi-variable overheads:  

Power (40% fixed) 60,000 

Repairs (80% fixed) 6,000 

Variable overheads:  

Raw materials 12,000 

Wages 36,000 

Total 1,86,000 

  Estimated working hours. 1,86,000 hours. 

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x ÷©Øö\»ÄPÐUPõÚ 50%, 

60%, 70% EØ£zv AÍÄUPõÚ ö|QÌÄ {vzvmh® 

u¯õ›UPÄ®. 

 60% EØ£zv AÍÂÀ 

 ¹. 

{ø»¯õÚ ÷©Ø ö\»ÄPÒ :  

÷u´©õÚ® 33,000 

Põ¨¥k 9,000 

\®£[PÒ 30,000 

£Sv ©õÖ® ÷©Øö\»ÄPÒ :  

ªß\õμ® (40% {ø»¯õÚøÁ) 60,000 
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£Sx£õºzuÀ (80% {ø»¯õÚøÁ) 6,000 

©õÖ® ÷©Øö\»ÄPÒ :  

‰»¨ ö£õ¸ÒPÒ 12,000 

T¼ 36,000 

ö©õzu® 1,86,000 

  ©v¨¤h¨£mh ÷|μi EøÇ¨¦ ©oPÒ 1,86,000. 

Or 

 (b)  ABC Company Limited has prepared a budget for 
the production of 1,00,000 units. The cost details 
per unit is given below : 

 Per unit 

 Rs. P 

Raw materials 2.52 

Direct labour 0.75 

Direct expenses 0.10 

Works overhead (60% fixed) 2.50 

Administration overhead (80% fixed) 0.40 

Selling overhead (50% fixed) 0.20 

  The actual production during the period was only  
  60,000 units. 

   Calculate the revised budgeted cost per unit. 

  ABC {Ö©® 1,00,000 A»SPÒ EØ£zv ö\´ÁuØS J¸ 

©v¨¥k ö\´v¸UQÓx. 

 J¸A»SUS 

¹.ø£ 

Pa\õ¨ ö£õ¸Ò 2.52 

÷|º T¼ 0.75 
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÷|º ö\»ÄPÒ 0.10 

£o ÷©Øö\»ÄPÒ (60% ©õÓõx) 2.50 

{ºÁõPa ö\»ÄPÒ (80% ©õÓõx) 0.40 

ÂØ£øÚa ö\»ÄPÒ (50% ©õÓõx) 0.20 

  60,000 A»SP÷Í |h¨¦U Põ»zvÀ EØ£zv 

ö\´¯¨£mhÚ. J¸ A»Qß ¦v¯ AhUP Âø»ø¯ 

PnUQkP. 

15. (a) The records of a company show the following : 
Period Sales Profit 

 (Rs.) (Rs.) 

I 1,20,000 9,000 

II 1,40,000 13,000 

  Find out :  

   (i)  P/V ratio 

   (ii) Break - Even Point 

   (iii) Profit when sales are Rs. 2,00,000 

   (iv) Sales required to earn profit of Rs. 50,000. 

   (v) Margin of safety for period I. 

  J¸ {Ö©zvß HkPÒ ¤ßÁ¸ÁÚÁØøÓU 

PõmkQßÓÚ. 

Põ»® ÂØ£øÚ C»õ£®

 ¹. ¹. 

I 1,20,000 9,000 

II 1,40,000 13,000 

  PnUQkP : 

   (i)  C»õ£/AÍÄ ÂQu® 

   (ii) \›\©¨¦ÒÎ 
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   (iii) ÂØ£øÚ ¹. 2,00,000BP C¸US® ÷£õx 

C»õ£® 

   (iv) ¹. 50,000 C»õ£zvØPõÚ ÂØ£øÚ 

   (v) £õxPõ¨¦¨ £Sv Põ»® I US. 

Or 

 (b)  Profit Volume ratio of a firm is 50 % and the margin 
of safety is 40%. You are required to work out break 
even sales and the net profit if the sales volume is 
Rs. 50,00,000. 

  J¸ {ÖÁÚzvß C»õ£ £[PÎ¨¦ ÂQu® 50% ©ØÖ® 

£õxPõ¨¦ ÂÎ¨¦ 40% ¹. 50,00,000 ÂØ£øÚ°À 

QøhUPUTi¯ \›\© ÂØ£øÚ ©ØÖ® {Pμ »õ£zøuU 

PnUQkP. 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. Discuss the tools and techniques of management 
accounting. 

 ÷©»õsø©U PnUQ¯¼ß P¸ÂPÒ ©ØÖ® ~m£[PøÍ 

ÂÁõvUPÄ®. 

17. From the following information, prepare a Balance Sheet 
with as many details as possible. 

 (a) Current Ratio - 1.75 
 (b) Quick Ratio - 1.25 
 (c) Stock Turnover Ratio - 9 times   
 (d) Average collection period - 1½% months 
 (e) Gross Profit Ratio - 25% on sales 
 (f) General reserve to share capital - 0.2 
 (g) Cost of sales to fixed assets - 1.2 
 (h) Fixed assets to Proprietors fund - 1.25 
 (i) Sales - Rs. 12,00,000. 
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 ¤ßÁ¸® ö\´vPÎ¼¸¢x •i¢u AÍÄ Â£μ[PÐhß Kº 

C¸¨¦ {ø»USÔ¨¦ u¯õº ö\´¯Ä®. 

 (A) |h¨¦ ÂQu® – 1.75 

 (B) ÂøμÄ ÂQu® – 1.25 

 (C) \μUQ¸¨¦ _ÇØ] ÂQu® – 9 •øÓPÒ 

 (D) \μõ\› Á`À Põ»® – 1½ ©õu[PÒ 

 (E) ö©õzu C»õ£ ÂQu® – 25% ÂØ£øÚ°À 

 (F) ö£õxPõ¨¦ £[S •uÀÂQu® – 0.2 

 (G) ÂØÓ ö£õ¸Îß AhUPÂø»°À {ø»¯õÚ ö\õzx 

ÂQu® – 1.2 

 (H) {ø»¯õÚ ö\õzx £[Suõμº {v ÂQu® – 1.25 

 (I) ÂØ£øÚ – ¹. 12,00,000.   

18. Following are the balance sheet of Metha as on  
31.12.2005 and 2006. 

Liabilities 2005  2006  Assets 2005  2006 

 Rs.  Rs.   Rs.  Rs. 

Share capital 70,000  74,000  Cash 9,000  7,800 

Debentures 12,000  6,000  Debtors 14,900  17,700 

Creditors 10,360  11,840  Stock 49,200  42,700 

Provision for     Land 20,000  30,000 

for doubtful 
debts 

700  800  Goodwill 10,000  5,000 

Profit & Loss a/c 10,040  10,560      

 1,03,100  1,03,200   1,03,100  1,03,200 

  Additional Information : 
   (a) Dividend were paid Rs. 3,500. 
   (b) Land was purchased for Rs. 10,000 and the 

goodwill written off Rs. 5,000.  
  (c) Debenture was repaid Rs. 6,000. 
    Prepare Funds Flow Statement. 
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 2005 ©ØÖ® 2006 i\®£º 31 B® |õøÍ¯ ÷©zuõÂß C¸¨¦ 

{ø» SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ 2005  2006  ö\õzxPÒ 2005  2006 

 ¹.  ¹.   ¹.  ¹. 

£[S •uÀ 70,000  74,000  öμõUP® 9,000  7,800 

Phß£zvμ[PÒ 12,000  6,000  PhÚõÎPÒ 14,900  17,700 

PhÜ¢÷uõº 10,360  11,840  \μUQ¸¨¦ 49,200  42,700 

I¯UPhß 

Põ¨¦ 

700  800  {»® 20,000  30,000 

C»õ£ |mh 

P/S 

10,040  10,560  |Øö£¯º 10,000  5,000 

 1,03,100  1,03,200   1,03,100  1,03,200 

 ÷©¾® ]» uPÁÀPÒ : 

 (A) ö\¾zv¯ £[Põuõ¯® ¹. 3,500 

 (B) ¹. 10,000 US {»® Áõ[P¨£mhx. |Øö£¯øμ 

÷£õUöPÊv¯x ¹. 5,000 

 (C) Phß£zvμ[PÒ ¹. 6,000 v¸¨¤ ö\¾zu¨£mhx. {v 

Kmh AÔUøPø¯ u¯õ›UP. 

19. The sales director of a manufacturing company reports 
that next year he expects to sell 50,000 units of a 
particular product. 

 Two kinds of raw materials A and B are required for 
manufacturing the product. Each unit of the product 
requires 2 units of A and 3 units of B. 

 The estimated opening balances at the commencement of 
the next year are : 

 Finished product 10,000 units  

 Raw Material A 12,000 units  

 Raw Material B 15,000 units 
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 The desirable closing balances at the end of the next year. 

 Finished product 14,000 units   

 Raw Material A 13,000 units 

 Raw Material B 16,000 units 

 Prepare the production budget and the raw material 

purchase budget. 

 J¸ {Ö©zvß ÂØ£øÚ C¯US|º, Akzu BsiÀ 

SÔ¨¤mh ö£õ¸Îß 50,000 GsoUøPPÒ ÂØP¨£h»õ® 

GßÖ Gvº¨£õºUQÓõº. 

 A, B GßÓ Cμsk Pa\õ¨ ö£õ¸mPÒ EØ£zv 

÷uøÁ¨£kQÓx. ö£õ¸Ò JßÖUS 2 A»S A ²® 3 A»S  

B–²® ÷uøÁ¨£kQÓx. Akzu Bsk xÁUPzvÀ 

Gvº£õºUP¨£mh C¸¨¦PÒ : 

 •i¢u ö£õ¸ÒPÒ 10,000 A»SPÒ 

 Pa\õ¨ ö£õ¸ÒPÒ – A 12,000 A»SPÒ 

 Pa\õ¨ ö£õ¸ÒPÒ – B 15,000 A»SPÒ 

 Â¸®¤¯ CÖv C¸¨¦ 

 •i¢u ö£õ¸ÒPÒ – 14,000 A»SÒ 

 Pa\õ¨ ö£õ¸ÒPÒ – A 13,000 A»SPÒ 

 Pa\õ¨ ö£õ¸ÒPÒ – B 16,000 A»SPÒ 

 EØ£zvz vmh® ©ØÖ® Pa\õ¨ ö£õ¸Ò öPõÒ•uÀ vmh® 

BQ¯ÁØøÓ  u¯õº ö\´P.                                                                                        
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20. From the following data given below, calculate labour 
variance for the two departments. 

 Departments 

 A B 

Actual wages direct Rs. 2,000 Rs. 1,800 

Standard hours produced 8,000 hours 6,000 hours 

Standard rate per hour 30 paise 35 paise 

Actual hours worked 8,200 5,800 

 R÷Ç öPõkUP¨£mkÒÍ uPÁÀPÎ¼¸¢x Cμsk 

xøÓPÐUPõÚ EøÇ¨¦ ©õÖ£õmiøÚU PnUQkP. 

 xøÓPÒ 

 A B 

Esø©¯õÚ T¼ ÷|μi ¹. 2,000 ¹. 1,800 

uμ©o ÷|μ® EØ£zv ö\´ux 8,000 ©o 6,000 ©o 

J¸ ©oUPõÚ uμ Ãu® 30 ø£\õ 35 ø£\õ 

Esø©¯õÚ ©o EøÇzux 8,200 5,800 

 

 
———————— 
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INDUSTRIAL LAW 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Who is an adult? 

 Á¯x Á¢÷uõº Gß£Áº ¯õº? 

2. When did a factory appoint welfare officer? 

 |» AvPõ›ø¯ J¸ öuõÈØ\õø» G¨ö£õÊx {¯©Ú® 

ö\´QßÓx? 

3. Define trade dispute under trade union  act. 

  öuõÈØ\[P \mhzvß £i öuõÈÀ uPμõØøÓ Áøμ¯ÖUPÄ®. 

4. What is meant by cost of living  index? 

 ÁõÌUøPU SÔ±k Gß£uß ö£õ¸Ò ¯õx? 

5. What is layoff? 

  £ouμõø© GßÓõÀ GßÚ?  

Sub. Code 
1BCO6C3 
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6. What are the different types of settlement? 

 wºÂß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

7. What is fatal accident? 

  E°º ÷£õUS® Â£zx GßÓõÀ GßÚ?  

8. What is meant temporary partial disablement? 

 uØPõ¼P £Sv C¯»õø© Gß£uß ö£õ¸Ò ¯õx? 

9. What is standing committee? 

 {ø»USÊ GßÓõÀ GßÚ?  

10. What is employees  deposit linked insurance fund? 

  £o¯õÍºPÎß øÁ¨¦hß Cøn¢u Põ¨¥mk {v GßÓõÀ 

GßÚ?  

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the term factory.  

   öuõÈØ\õø» GßÓ £uzøu ÂÍUSP. 

Or 

 (b)  Discuss the main powers of inspectors. 

    B´ÁõÍºPÎß •UQ¯ AvPõμ[PøÍ ÂÁõvUPÄ®. 

12. (a) Analyse the rules of trade union. 

    öuõÈØ\[P[PÎß ÂvPøÍ¨ £S¨£õ´P. 

Or 

 (b)  What are the contents of minimum wages? 

   SøÓ¢uÍÄ T¼°ß ö£õ¸ÍhUP[PÒ ¯õøÁ? 
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13. (a) Define appropriate government under industrial 
disputes Act. 

   öuõÈÀ §\ÀPÒ \mhzvß QÌ E›¯ Aμ_ 

Áøμ¯ÖUPÄ®. 

Or 

 (b)  Differentiate strike from lock out. 

   ÷£õμõmhzøuU PuÁøh¨¤¼¸¢x ÷ÁÖ£kzxP. 

14. (a) When does an employer refuses to pay 
compensation to a workman under workman’s 
compensation Act? 

   öuõÈ»õÍºPÎß Dmka \mhzvß £i J¸ •u»õÎ 

öuõÈ»õÍ¸US G¨ö£õÊx DmkzöuõøP ÁÇ[P 

•i¯õx GßÖ ©ÖUP»õ®? 

Or 

 (b)  Analyse the different types of disablement. 

   C¯»õø©°ß £À÷ÁÖ ÁøPPøÍ¨ £S¨£õ´P. 

15. (a) What are the powers of inspectors under employees 
provident fund Act? 

    £o¯õÍºPÎß ÷\© |»{va \mhzvß RÌ 

B´ÁõÍºPÎß AvPõμ[PÒ ¯õøÁ?  

Or 

 (b)  Discuss the scope of ESI Act, 1948. 

   C Gì I \mh® 1948ß Áøμ¯øÓø¯ ÂÁõvUPÄ®. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the legal provisions relating to welfare of the 
workers under factories Act. 

öuõÈØ\õø»a \mhzvß RÌ öuõÈ»õÍºPÎß |»ß 

öuõhº£õÚ \mh ÂvPøÍ ÂÍUSP. 



AFC–7274 

  

  4

Ws19 

17. Discuss the purposes for which general funds of a trade 
union may be spent. 

 J¸ öuõÈØ\[Pzvß ö£õx {vø¯ G¢u  ÷|õUP[PÐUSa 

ö\»Âh»õ® GÚ ÂÁõvUPÄ®. 

18. What is works committee? Explain its duties. 

 £oUSÊ GßÓõÀ GßÚ?  AuÝøh¯ Phø©PøÍ ÂÍUSP. 

19. Explain the rules relating to  distribution of under 
compensation workmen’s compensation Act. 

öuõÈ»õÍºPÒ Dmk \mhzvß £i DmkzöuõøP 

£Qº¢uÎzuÀ öuõhº£õÚ ÂvPøÍ ÂÍUSP. 

20. Discuss the rules regarding contribution under ESI Act. 

 D Gì I –I \mhzvß RÌ £[PÎ¨¦ öuõhº£õÚ ÂvPøÍ 

ÂÁõvUPÄ®. 

——————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2015 

Sixth Semester 

Commerce – Elective 

INCOME TAX – II 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What do you mean by Total Income? 

 ö©õzu Á¸©õÚ® £ØÔ }Âº AÔÁx ¯õx? 

2. State the meaning of ‘set off of losses’. 

 |mh[PøÍ \›Pmku¼ß ö£õ¸øÍU TÖP. 

3. Explain ‘HUF’. 

 “TmkU Sk®£®” ÂÁ›UP. 

4. Write a note on ‘AOP’. 

  ‘|£ºPÎß Aø©¨¦’ SÔ¨ö£ÊxP. 

5. What is meant by ‘Appellate Tribunal’? 

  ÷©À •øÓ wº¨£õ¯® GßÓõÀ GßÚ?  

Sub. Code 
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6. Who is called an assessing officer? 

 PnUQk® AvPõ› GÚ AøÇUP¨£kÁº ¯õº? 

7. What do you mean by provisional assessment? 

 ÷uõμõ¯ ©v¨¥k £ØÔ }Âº AÔÁx ¯õx? 

8. Write a  note on ‘Return of loss’. 

  ‘|mhzvØPõÚ Á¸©õÚ Á› uõUPÀ’ SÔ¨ö£õßÖ ÁøμP. 

9. State the meaning of ‘play as you earn scheme’. 

  ‘Dmk® ÷£õx }Âº ö\¾zx vmh®’ ö£õ¸ÎøÚz u¸P. 

10. What do you understand by collection of taxes? 

 Á›PøÍ Á`¼zuÀ £ØÔ }Âº AÔÁx ¯õx? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) From the following information, compute the total 
income of Mr. X for the assessment year 2014-15: 

  (i) Profit from newly set-up small-scale industrial 
undertaking in rural area (it commences 
production in Feb., 2002) Rs. 3,60,000. 

  (ii) Profit from business of poultry farming 
Rs.1,80,000. 

  (iii) Speculation business income Rs.60,000. 

  (iv) Income from other sources Rs.1,00,000. 

   He incurred Rs. 25,000 on an income-tax 
appeal relating to assessment year 2012-13, 
but this amount has not been debited to Profit 
and Loss Account for the year 2013-14. 
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   RÌPõq® Â£μ[PÎ¼¸¢x, Á›Âv¨£õsk  

2014–15UPõÚ v¸. Xß ö©õzu Á¸©õÚzøuU 

PnUQkP. 

   (i)  Qμõ©¨ £Sv°À ¦vuõP {ÖÂ¯ ]Ö A»ÂÍõÚ 

öuõÈØ\õø»°ß »õ£® (¤¨μÁ› 2002 À 

EØ£zvø¯ öuõh[Q¯x) ¹. 3,60,000 

   (ii)  ÷PõÈ¨ £søn Â¯õ£õμzv¼¸¢x »õ£®  

¹. 1,80,000 

   (iii) FPÂ¯õ£õμ Á¸©õÚ® ¹. 60,000 

   (iv) Cuμ uø»¨¦PÎß RÌÁ¸©õÚ® ¹. 1,00,000 

    Á›Âv¨£õsk 2012–13UPõÚ Á¸©õÚ Á› 

÷©À •øÓ±miØPõP ö\»Âmhx ¹. 25,000. 

BÚõÀ CzöuõøP 2013–14® Bsk »õ£ |mhU 

PnUQÀ £ØöÓÊu¨£hÂÀø» 

Or 

 (b) The Business Income of an individual for the 
assessment year 2014-15 has been determined by 
the Assessing Officer at Rs.3,50,000. Later, it is 
found that he has not considered the following while 
determining the income: 

  Rs. 

(i) Depreciation for the current 
year 

12,000 

(ii) Unabsorbed depreciation 
carried forward 

15,000 

(iii) Unabsorbed business loss 
carried forward from 
Assessment year 2012-13 

3,000 

  Determine the total income for the assessment year 
2014-15. 
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  J¸ uÛ |£›ß Â¯õ£õμ Á¸©õÚzøu Á›Âv¨£õsk 

2014–15 US Á› PnURmk AvPõ›¯õÀ PnUQh¨ 

£mhz öuõøP ¹. 3,50,000. Auß ¤ÓS, Á¸©õÚ® 

PnUQk® ÷£õx AÁº RÌPõs£øÁPøÍ PnUQÀ 

GkzxU öPõÒÍõuøu PshÔ¯¨£mhx.  

  ¹. 

(i) |h¨£õsiØPõÚ ÷u´©õÚ® 12,000 

(ii) \› ö\´¯£hõu ÷u´©õÚ® 

÷©À÷|õUQ Gkzux 

15,000 

(iii) Á›Âv¨£õsk 2012–13 

°¸¢x \›Pmh C¯»õu 

Â¯õ£õμ |mh® 

RÌöPõnμ¨£mhx 

3,000 

  Á›Âv¨£õsk 2014–2015ß ö©õzu Á¸©õÚzøu 

wº©õÛUP. 

12. (a) The Karta of a H.U.F. furnishes the following 
particulars of income of the H.U.F. for the 
assessment year 2014-15: 

  Rs. 
(i) Income from the house 

property 
2,52,000 

(ii) Long-term capital 
property 

31,000 

(iii) Interest on Govt. 
securities 

9,000 

(iv) Interest on other 
securities 

1,000 

  The family donated Rs. 30,000 for charitable 
purpose by cheque. Compute the total income of the 
H.U.F. for the assessment year 2014-15. 
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  Á›Âv¨£õsk 2014–15UPõÚ J¸ C¢x Tmk 

Sk®£zvß uø»Áº Auß Á¸©õÚ Â£μ[PøÍ 

AÎUQÓõº.  

  ¹. 

(i) Ãmka ö\õzv¼¸¢x 

Á¸©õÚ® 

2,52,000 

(ii) }shPõ» ‰»uÚa 

ö\õzx 

31,000 

(iii) Aμ_ ¤øn¯[PÒ «uõÚ 

Ámi 

9,000 

(iv) Cuμ ¤øn¯[PÒ «uõÚ 

Ámi 

1,000 

  Põ÷\õø» ÁÈ¯õP A¢u Sk®£® ¹. 30,000 

|ßöPõøh¯õP uº© ìuõ£ÚzvØS AÎzux. 

Â›Âv¨£õsk  2014 –15 UPõÚ A¢u C¢x Tmk 

Sk®£zvß ö©õzu Á¸©õÚzøuU  PnUQkP. 

Or 

 (b) From the following, compute the total income of the 
firm for the assessment year  2014–15. 

 Rs. 
Profit from small scale industrial undertaking   
established in backward  
State in February, 2014 4,50,000 
Profit from the poultry breeding business 3,20,000 
Short-term capital loss 1,50,000 
Long-term capital gains 3,50,000 
Interest from bank (Gross) 70,000 
Donation to charitable institution (approved) by 
cheque 

1,20,000 
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   RÌUPõq® Â£μ[PÎ¼¸¢x, Á›Âv¨£õsk  

2014–15UPõÚ J¸ {ÖÁÚzvß ö©õzu Á¸©õÚzøuU 

PnUQkP.    

 ¹. 

]Ö  AÍÂ»õÚ öuõÈÀ {ÖÁÚzvß C»õ£®  

(¤¨μÁ› 2014À ¤ßu[Q¯ ©õ{»zvÀ Aø©zux) 4,50,000 

÷PõÈ ÁÍº¨¦ Â¯õ£õμzv¼¸¢x »õ£® 3,20,000 

SÖQ¯ Põ» ‰»uÚ |mh® 1,50,000 

}shPõ» ‰»uÚ |mh® 3,50,000 

Á[Q°¼¸¢x Ámi (ö©õzu®)  70,000 

Põ÷\õø» ‰»® uº©ìuõ£ÚzvØS (A[RP›zux) 

|ßöPõøh AÎzux 

1,20,000 

13. (a) What are the powers of commissioner Income Tax? 

    Á¸©õÚ Á› AvPõ›°ß AvPõ›°ß AvPõμ[PÒ 

¯õøÁ? 

Or 

 (b)  Write a note an ‘CBDT’. 

    ‘CBDT’. ]Ö SÔ¨¦ ÁøμP. 

14. (a) State the meaning of ‘Regular Assessment’. 

   ‘öuõhº ©v¨¥k’ ö£õ¸øÍz TÖP. 

Or 

 (b)  Narrate the steps for E-filling of Income Tax return. 

   Á¸©õÚ Á› uõUP¼À, ªß ÁÈ uõUP¼ß 

ÁÈ•øÓPøÍ GkzxøμUP. 
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15. (a) Shri Bose has estimated the following incomes for 
the financial year 2014-15 : 

 Rs. 

Income from House Property (Taxable) 50,000 

Income from Profession (Taxable) 6,45,000 

Dividend from X & Co. 10,000 

  Determine the amount of instalments payable as 
advance tax during the F.Y.2014-15. 

   {v¯õsk 2014–15US v¸.÷£õì RÌPõq® 

Á¸©õÚ[PøÍ Gvº£õºzuõº :  

 ¹.

Ãmka ö\õzv¼¸¢x Á¸©õÚ® (Á›Âv¨¦ØS›¯x) 50,000 

öuõÈÀ ÁÈ Á¸©õÚ® (Á› Âv¨¤ØS›¯x) 6,45,000 

X &÷PõÂ¼¸¢x £[Põuõ¯® 10,000 

   {v¯õsk 2014–15À ö\¾zu ÷Ási¯ •ß ö\¾zx 

Á›°ß £À÷ÁÖ uÁønz öuõøPPøÍ {ºn°UP. 

Or 

 (b) From the following information determine the 
amount of interest payable, if any, u/s 201: 

  (i) Professional fee paid to Mr. A Rs. 50,000 
without TDS on 12.08.2013. 

  (ii) Professional fee paid to Mr. A Rs.60,000 on 
16.12.2013 and tax deducted at source on  
Rs. 1,10,000 @ 10% Rs. 11,000. 

  (iii) The above amount of tax deposited on 
14.02.2014. 
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  RÌPõq® Â£μ[PÎ¼¸¢x ¤›Ä 201 ß£i ö\¾zu 

÷Ási¯ Ámiz öuõøP C¸¢uõÀ PnUQkP. 

  (i)  12.8.2013 AßÖ öuõÈÀ \õº¢u Pmhn®  

v¸ AUS TDS CÀ»õ©À ö\¾zv¯ öuõøP  

¹. 50,000 

  (ii)  16–12–2013 AßÖ öuõÈÀ\õº¢u Pmhn®  

v¸ AUS ö\¾zv¯x ¹. 60,000 ©ØÖ® Á› 

¤izu® ¹. 11,000, 10% ¹. 1,10,000 ß «x 

  (iii)  14–02–2014 AßÖ ÷©ØTÔ¯ Á›zöuõøP 

ö\¾zu¨£mhx. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. For the assessment year 2014-15 the following 
particulars are furnished by Smt. Padma  citizen of India  
and resident for purposes of Income-Tax: 
  Rs. 

(a) Net basic salary after deduction of 
contribution to R.P.F. 

78,000 

(b) Tax deducted at source from salaries Nil 
(c) Own contribution to the Provident 

Fund 
12,000 

(d) Employer’s contribution to the 
Provident Fund 

11,200 

(e) Interest credited to the Provident 
Fund @ 9.5% 

24,000 

(f) Travelling Expenses for self and wife 
for proceeding on leave to is home 
district 

2,400 

(g) Contribution by employer to an A.G.F. 2,000 
(h) House rent allowance (the house is at 

Kolkata and Rent actually paid 
amounts to Rs.9,400) 

6,000 

(i) Income from other sources 1,26,000 

 Compute total income of SMT.Padma. 
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 v¸©v £z©õ C¢v¯ Si©PÒ ©ØÖ® Á]¨£Áº 

Á¸©õÚÁ›UPõP RÌPõq® Â£μ[PøÍ Á›Âv¨£õsk 

2014–15US AÎUQÓõº.  

  ¹.

(A) R.P.FUS ö\¾zu ÷Ási¯ PÈÂØS 

¤ÓSÒÍ {Pμa\®£Í® 

78,000 

(B) \®£Ízv¼¸¢x Á›¤zu® Nil 

(C) ÷\© |»{vUS ö\õ¢u AÎ¨¦ 12,000 

(D) ÷\©|» {vUS £o¯õÍμx £[PÎ¨¦ 11,200 

(E) ÷\©|» {vUS Ámi ÁμÄ 9.5 % Ãu® 24,000 

(F) ö\õ¢u ©õÁmhzvØS Âk•øÓ°À 

ö\»ÁuØS AÁ¸US® AÁμx 

©øÚÂØS® ÷£õUSÁμzx ö\»ÄPÒ 

2,400 

(G) A.G.F US £o¯õÍº ö\¾zxÁx 2,000 

(H) Ãmk ÁõhøP¨ £i (öPõ»PzuõÂÀ 

Ãk AuØPõÚ ÁõhøP ö\¾zv¯ 

öuõøP ¹. 9,400) 

6,000 

(I) Cuμ uø»¨¦PÎÀ Á¸©õÚ® 1,26,000 

  v¸©v £z©Âß ö©õzu Á¸©õÚzøu PnUQkP. 

17. Below are the particulars of income of Shri Mohan Lal for 
the assessment year 2014-15: 

  Rs. 

(a) Rent received from house property 28,000 

(b) Profit from cloth business 2,75,000 

(c) Share of profits from a firm of Ram, 
Mohan and Sohan 

52,000 

(d) Speculation Profits 13,000 

(e) Capital gains from short-term 
capital asset 

4,000 

(f) Capital gains from long-term capital 
asset (Jewellery) 

2,000 



AFC–7275 

  

  10

Ws19 

 The following losses have been carried forward from the 
previous year. 

  Rs. 

(i) Loss from cloth business 24,000 

(ii) Speculation loss (This speculation 
business has been closed) 

15,000 

(iii) Losses under the head capital gains;  

 From short-term capital asset 7,000 

 From long-term capital asset 1,300 

 Compute the gross total income and the amount of losses  
to be carried forward. 

Á›Âv¨£õsk 2014 –15UPõÚ v¸. ÷©õPß »õ¼ß Á¸©õÚ 

Â£μ[PÒ R÷Ç öPõkUP¨£mkÒÍÚ. 

  Rs. 

(A) Ãmka ö\õzv¼¸¢x ÁõhøP ö£ØÓx 28,000 

(B) xo Â¯õ£õμzv¼¸¢x »õ£® 2,75,000 

(C) μõ®, ÷©õPß ©ØÖ® ÷\õPß 

BQ÷¯õμx  {ÖÁÚ[PÎ¼¸¢x 

»õ£¨ £[S 

52,000 

(D) FP »õ£[PÒ 13,000 

(E) SÖQ¯ Põ» ‰»uÚ ö\õzv¼¸¢x 

‰»uÚ Buõ¯® 

4,000 

(F) }sh Põ» ‰»uÚ ö\õzv¼¸¢x 

(u[PμøP) ‰»uÚ Buõ¯® 

2,000 
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R÷Ç EÒÍøÁ, ö\ßÓ Bsi¼¸¢x öPõsk Áμ¨£mh 

|mh[PÍõS®.  

  ¹. 

(i) xo Â¯õ£õμzvÀ |mh® 24,000 

(ii)  FP Â¯õ£õμ |mh® (A¢u FP 

Â¯õ£õμ® •iÄØÓx) 

15,000 

(iii) ‰»uÚ Buõ¯ uø»¨¤ß |mh[PÒ :  

 SÖQ¯ Põ» ‰»uÚ ö\õzx 7,000 

 }sh Põ» ‰»uÚ ö\õzx 1,300 

ö©õzu Á¸©Úõzøu²® Akzu BsiØS Gkzxa ö\À¾® 

|mh[PøÍ²® PnUQkP. 

18. Outline the functions of CBDT. 

 CBDT°ß £oPøÍz u¸P. 

19. What is meant by PAN? State the consequences for 
failure to apply for its allotment by PAN. 

PAN GßÓõÀ GßÚ?  PAN ö£ÖÁuØS Âsn¨¤UP 

uÁÔÚõÀ Auß ÂøÍÄPøÍU TÖP. 

20. During the financial year 2014-15, find out the tax to be 
deducted at source in the following cases, if the recipient 
is an individual and resident in India: 
  Rs. 

(a) Income from Interest on Securities (listed) 6,000 

(b) Payment regarding Lottery winnings 500 

(c) Dividends from domestic company 40,000 

(d) Winnings from a horse race 10,000 

(e) Winnings from another horse race 2,000 

(f) Commission to Lottery agent 15,000 

(g) Insurance Commission 34,000 
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 {v¯õsk 2014–15US ö£Ö£Áº uÛ |£μõPÄ® C¢v¯õÂÀ 

Si°¸¨¦ {ø»ø¯²® ö£ØÔ¸¨¤ß RÌPõq® `Ç¼À 

Â›¤izuz öuõøP°øÚU PnUQkP. 

  ¹. 

(A) ¤ønPÎß «uõÚ Á¸©õÚ Ámi 6,000 

(B) »õmh›°À Qøhzu öuõøPUS ö\¾zuÀPÒ 500 

(C) FÒÐº {Ö©zv¼¸¢x £[Põuõ¯® 40,000 

(D) Svøμ¨ £¢u¯zvÀ öá°zux 10,000 

(E) ©ØöÓ¸ Svøμ¨ £¢øu¯zvÀ öá°zux 2,000 

(F) »õmh› •PÁ¸US PÈÄ 15,000 

(G) Põ¨¥mk PÈÄ 34,000 

  

——————— 
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 COMPUTER APPLICATIONS IN BUSINESS  

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. What are the major functions of a computer? 

 Po¨ö£õÔ°ß •UQ¯©õÚ ÷Áø»PÒ ¯õøÁ? 

2. What are the Input devices? 

 EÒÏmka \õuÚ[PÒ ¯õøÁ? 

3. What is system software? Give example. 

 •øÓø© ö©ßö£õ¸Ò GßÓõÀ GßÚ? GkzxUPõmk u¸P.  

4. What is flow chart? Give example. 

 Kk £h® GßÓõÀ GßÚ? GkzxUPõmk u¸P. 

5. Define Operating System. Give example. 

 ‘C¯US® •øÓø©’ – Áøμ¯Ö. GkzxUPõmk u¸P. 

6. List out any four features of Windows Operating system. 

 £»Po C¯US® •øÓø©°ß H÷uÝ® |õßS 

]Ó¨¤¯À¦PøÍ £mi¯¼kP. 

Sub. Code 
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7. Write about the identifiers in C with example. 

 C-°À SÔ¨£õßPøÍ¨ £ØÔ GkzxUPõmkß GÊxP. 

8. How will you assign value to a variable? 

 J¸ ©õÔUS ©v¨¦ AÎ¨£x GÆÁõÖ? 

9. Write about Office automation in brief. 

 A¾Á»P ußÛ¯UP©õUPø»¨ £ØÔ _¸UP©õP GÊxP. 

10. List out any four advantages of Internet. 

 Cøn¯uÍzvß H÷uÝ® |õßS |ßø©PøÍ £mi¯¼kP. 

 Section B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Enumerate any three generations of computers.  

  Po¨ö£õÔPÎß H÷uÝ® ‰ßÖ uø»•øÓPøÍ 

ÂÁ›UP. 

Or 

 (b)  Briefly describe any three types of printer. 

  H÷uÝ® ‰ßÖ ÁøP¯õÚ Aa\i¨£õßPøÍa 

_¸UP©õP ÂÁ›UP. 

12. (a) Explain the concept of machine and assembly 
languages. 

  C¯¢vμ ©ØÖ® öuõS¨¦ ö©õÈPÎß P¸zøu ÂÍUSP. 

Or 

 (b)  Write about the application software in brief. 

  £¯ß£õmk ö©ßö£õ¸øÍ¨ £ØÔa _¸UP©õP GÊxP. 

Wss 
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13. (a) Enumerate the Time sharing Operating system. 

  ÷|μ¨£QºÄ •øÓ C¯US® •øÓø©ø¯ ÂÁ›UP. 

Or 

 (b)  Narrate any five DOS commands with example. 

  H÷uÝ® I¢x hõì PmhøÍPøÍ GkzxUPõmkhß 

ÂÁ›UP. 

14. (a) Explain the structure of C program with 
illustration. 

  C ÁÈ•øÓ°ß Pmhø©¨ø£ Euõμnzxhß ÂÍUSP. 

Or 

 (b) Describe the general form of assignment statement 
in C with example. 

   C-°À ©v¨£Î ö\õØöÓõh›ß ö£õx¨£iÁzøu 

GkzxUPõmkhß ÂÁ›UP.  

15. (a) Narrate any two computer applications in 
Marketing department. 

  \¢øuz xøÓ°À H÷uÝ® Cμsk Po¨ö£õÔ°ß 

£¯ß£õkPøÍ ÂÁ›UP. 

Or 

 (b)  Write about any two types of E-Commerce. 

  H÷uÝ® Cμsk C&ÁºzuPzøu¨ £ØÔ GÊxP. 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. Discuss the different components of CPU in detail. 

 CPU-Âß £À÷ÁÖ £õP[PøÍz öuÎÁõP ÂÁõvUP. 

17. Write about any four high level languages in brief. 

 H÷uÝ® |õßS E¯º{ø» ö©õÈPøÍ¨ £ØÔa _¸UP©õP 

GÊxP. 

Wss 
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18. Enumerate the UNIX operating system in detail. 

 ²ÛUì C¯US® •øÓø©ø¯z öuÎÁõP ÂÁ›UP. 

19. Explain the different data types using in C with 
illustrations. 

 C-°À £¯ß£kzuUTi¯ £À÷ÁÖ ÂÁμÁøPPøÍ 

Euõμn[PÐhß ÂÍUSP. 

20. Briefly discuss the computer applications in Finance 
department. 

 {vz xøÓ°À Po¨ö£õÔ°ß £¯ß£õkPøÍa _¸UP©õP 

ÂÁõvUP. 

 

 
———————— 
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AFC–7277   

B.Com. DEGREE EXAMINATION, NOVEMBER 2015 

Sixth Semester 

Commerce – Elective 

AUDITING 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer ALL questions. 

1. Define the term audit. 

 uoUøP GßÓ £uzøu Áøμ¯ÖUP. 

2. Give the meaning of investigation. 

 ¦»ß B´Ä Gß£uß ö£õ¸Ò u¸P. 

3. State the definition of internal control. 

 AP Pmk¨£õk Gß£uß C»UPn® TÖP. 

4. What do you mean by internal check? 

 APa^μõ´Ä Gß£øu }Âº GÆÁõÖ ö£õ¸Ò öPõÒQÓõ´? 

5. What is vouching? 

 \õßÓõ´Ä Gß£x ¯õx? 

6. Mention any two trading transactions. 

 Áõo£ |hÁiUøPPÒ H÷uÝ® CμsiøÚU SÔ¨¤kP. 

Sub. Code 
1BCOE3A 
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7. Define the term investment. Give an example. 

 •u½k GßÓ £uzøu Áøμ¯ÖUP. Euõμn® u¸P. 

8. What are sundry debtors?  

 £Ø£» PhÚõÎPÒ Gß£ÁºPÒ ¯õÁº? 

9. Who is auditor? 

 uoUøP¯õÍº Gß£Áº ¯õº? 

10. Give the meaning of misfeasance. 

 w[QøÇzuÀ Gß£uß ö£õ¸Ò u¸P. 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain briefly the implications regarding detection 
of errors and frauds. 

  ÷©õ\i ©ØÖ® ¤øÇPøÍU PshÔuÀ öuõhº£õÚ 

ÂøÍÄPøÍa _¸UP©õP ÂÍUSP. 

Or 

 (b)  What are the differences between continuous audit 
and periodical audit? 

  öuõhºa]¯õÚ ©ØÖ® Põ»¢÷uõÖ® ÁøP°»õÚ 

uoUøP BQ¯ÁØÔØQøh÷¯ EÒÍ ÷ÁÖ£õkPÒ 

¯õøÁ? 

12. (a) Enumerate the objectives of audit programme. 

  uoUøP {PÌa] {μ¼ß ÷|õUP[PøÍ Gkzv¯®¦P. 

Or 

 (b)  Examine the need for audit file. 

  uoUøP ÷Põ¨¤ß AÁ]¯zøu Bμõ´P. 
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13. (a) Point out the importance of vouching. 

  \õßÓõ´Âß •UQ¯zxÁzøua _miU PõmkP. 

Or 

 (b)  Explain briefly the procedure relating to vouching of 
cash transactions. 

  öμõUP |hÁiUøPPÒ öuõhº£õÚ \õßÓõ´Ä 

ö\¯À•øÓø¯ _¸UP©õP ÂÍUSP. 

14. (a) Narrate the essential elements of audit report. 

  uoUøP AÔUøP°ß •UQ¯ TÖPøÍ GkzxøμUP. 

Or 

 (b)  Enumerate the general principles involved in the 
valuation of liabilities. 

  ö£õÖ¨¦UPøÍ ©v¨¤kÁvÀ EÒÍ ö£õx 

uzxÁ[PøÍ Gkzv¯®¦P. 

15. (a) Analyse the liabilities for negligence of auditor. 

  uoUøP¯º PÁÚU SøÓÂØPõÚ ö£õÖ¨¦PøÍ B´P. 

Or 

 (b)  Examine the liability of auditor towards third party. 

  ‰ßÓõ® |£¸UöPvμõÚ uoUøP¯›ß ö£õÖ¨¤øÚ 

Bμõ´P. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Discuss the provisions as to audit of accounts of sole 
traders. 

 uo¯õÒ ÁoPº PnUS uoUøP öuõhº£õÚ \μzxUPøÍ 

ÂÁõvUPÄ®. 
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17. Explain the auditor’s duty regards internal check on 
different items. 

 £À÷ÁÖ CÚ[PÐUQøh÷¯ APa ÷\õuøÚ öuõhº£õÚ 

uoUøP¯º Phø©ø¯ ÂÍUS. 

18. Describe the procedure involved in vouching of cash 
transactions. 

 öμõUP |hÁiUøPPøÍ \õßÓõ´Ä ö\´uÀ öuõhº£õÚ 

ö\¯À•øÓø¯ ÂÁ›. 

19. Narrate the general principles involved in verification 
and valuation of assets and liabilities. 

 ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PÒ \›ö\´uÀ ©ØÖ® ©v¨¥k 

öuõhº£õÚ ö£õxz uzxÁ[PøÍ GkzxøμUP. 

20. Discuss the legal position of auditor. 

 uoUøP¯›Ú \mh {ø»ø¯ ÂÁõvUP. 

 

 

 
———————— 
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AFC–7278   

B.Com. DEGREE EXAMINATION, NOVEMBER 2015 

Sixth Semester 

Commerce –– Elective 

ENTREPRENEURSHIP DEVELOPMENT 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Who is an entrepreneur? 

 öuõÈÀ •øÚ÷Áõº Gß£Áº ¯õº? 

2. Who is an promotor? 

 ÷uõØÖÂ¨£õÍº Gß£Áº ¯õº? 

3. What is meant by combined Lay out? 

 Tmk ÁiÁø©¨¦ (A) ChÁø©¨¦ GßÓõÀ GßÚ? 

4. What is factory design? 

 öuõÈØ\õø» ÁøμÄ (A) ÁiÁ® GßÓõÀ GßÚ? 

5. What do you mean by EDP’s? 

 öuõÈÀ •øÚ÷Áõº ÁÍºa] vmh® £ØÔ }Âº AÔÁx 

GßÚ? 

Sub. Code 

1BCOE3B 
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6. What is meant by SIDCO? 

 ]Ö öuõÈÀ ÁÍºa] PÇP® GßÓõÀ GßÚ? 

7. What is project life cylce? 

 vmh® ÁõÌUøP _ÇØ] GßÓõÀ GßÚ? 

8. Define project design. 

 vmh® ÁøμÄ (A) ÁiÁ® Áøμ¯Ö. 

9. How do women became entrepreneurs? 

 J¸ ö£s GÆÁõÖ öuõÈÀ •øÚ÷Áõº BP ©õÖQÓõº? 

10. Name two institutions offering training for entrepreneurs 
in India. 

 C¢v¯õÂÀ öuõÈÀ •øÚ÷ÁõºUPõÚ £°Øa] ÁÇ[S® 

Cμsk {ÖÁÚ[PøÍ TÖP. 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Distinguish between entrepreneur and enterprise. 

  öuõÈÀ •øÚ÷Áõº ©ØÖ® {ÖÁÚzøu ÷ÁÖ£kzxP. 

Or 

 (b)  Explain the main functions of an entrepreneur. 

  öuõÈÀ •øÚ÷Áõ›ß •ußø©¯õÚ £oPøÍ 

ÂÍUSP. 

12. (a) What are the basic requirements for setting a small 
scale unit? 

  J¸ ]Ö öuõÈÀ JßøÓ Aø©¨£uØPõÚ Ai¨£øh 

÷uøÁPÒ ¯õøÁ? 

Or 
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 (b)  Explain the criteria for selecting location of small 
scale industries. 

  ]ÖöuõÈÀ ChÁø©¨¦ ÷uº¢öuk¨£vÀ EÒÍ 

Põμn[PøÍ ÂÍUSP. 

13. (a) Explain the functions of NSIC. 

  ÷u]¯ ]Ö öuõÈÀ PÇPzvß £oPøÍ ÂÁ›. 

Or 

 (b)  What do you mean by incentives and subsidies? 

  \¾øPPÒ ©ØÖ® ©õÛ¯[PÒ GßÓõÀ GßÚ? 

14. (a) Explain the stages in the preparation of project 
report.  

  vmh AÔUøP u¯õ›¨¤ß £À÷ÁÖ {ø»PøÍ 

ÂÍUSP. 

Or 

 (b)  Explain the technique of financial analysis. 

  {v £S¨£õ´Âß £À÷ÁÖ ²UvPøÍ ÂÍUSP. 

15. (a) Explain the economic and social background of 
women entrepreneurs. 

  ö£s öuõÈÀ •øÚ÷Áõ›ß ö£õ¸Íõuõμ \•P 

¤ßÚÛ°ø¯ ÂÍUSP. 

Or 

 (b)  Explain the need of entrepreneurial development. 

  öuõÈÀ •øÚÄ ÁÍºa]°ß ÷uøÁø¯ ÂÍUSP.  
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the challenges faced by first generation 
entrepreneurs. 

 •u»õÁx uø»•øÓ öuõÈÀ•øÚ÷Áõº \¢vUS® 

\ÁõÀPøÍ ÂÍUSP. 

17. Explain the steps involved in idea processing and 
selection. 

 EmP¸zx |øh•øÓ£kzxÁx ©ØÖ® AuøÚ ÷uº¢öuk¨¦ 

ö\´ÁvÀ EÒÍ {ø»PøÍ ÂÍUSP. 

18. What are the various incentives offered by the state and 
central government for promotion and growth of small 
scale industries in India? 

 C¢v¯õÂÀ ]Ö öuõÈÀ FUSÂ¨¦ ©ØÖ® ÁÍºa]UPÒ 

©zv¯ ©ØÖ® ©õ{» Aμ_PÒ ÁÇ[S® £À÷ÁÖ \¾øPPÒ 

¯õøÁ? 

19. What is Breakeven analysis? Explain its importance and 
limitations. 

 C»õ£|mh ©ØÓ ¦ÒÎ £S¨£õ´Ä GßÓõÀ GßÚ? Auß 

•UQ¯zxÁ® ©ØÖ® SøÓ£õkPøÍ ÂÍUSP. 

20. Discuss the various factors that contribute to 
entrepreneurial growth. 

 öuõÈÀ •øÚ÷Áõ›ß ÁÍºa]UPõÚ £À÷ÁÖ Põμn[PøÍ 

ÂÁõvUPÄ®. 

 
———————— 
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AFC–7563   

U.G. DEGREE EXAMINATION, NOVEMBER 2015 

Commerce 

Allied : BUSINESS ECONOMICS — I 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Business Economics 

 ÁoP¨ ö£õ¸Î¯À Áøμ¯ÖUPÄ®. 

2. What is business? 

 ÁoP® GßÓõÀ GßÚ? 

3. What is meant by consumer surplus? 

 ~Pº÷Áõº Ga\® Gß£uß ö£õ¸Ò ¯õx? 

4. What is meant by form utility? 

 ÁiÁ £¯ß£õk Gß£uß ö£õ¸Ò ¯õx? 

5. Define Law of demand. 

 ÷uøÁ Âv Áøμ¯ÖUPÄ®. 

6. Give any two examples of derived demand. 

 Á¸ÂUP¨£mh ÷uøÁUS HuõÁx Cμsk GkzxUPõmkPÒ 

u¸P. 

Sub. Code 
1BCOA1 
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7. What is budget line? 

 ÁμÄ ö\»Ä vmh÷Põk GßÓõÀ GßÚ? 

8. What is indifference curve? 

 \©ÁøÍ÷Põk GßÓõÀ GßÚ? 

9. Define demand forecasting. 

 ÷uøÁ Po¨¦ GßÓõÀ GßÚ? 

10. What is meant by short term forecasting? 

 SÖQ¯ Põ» Po¨¦ Gß£uß ö£õ¸Ò ¯õx? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State and explain the main features of Business 
economics. 

  ÁoP¨ ö£õ¸Î¯¼ß •UQ¯ ußø©PøÍU 

SÔ¨¤mk ÂÍUSP. 

Or 

 (b)  Discuss the objectives of a business. 

  J¸ ÁoPzvß ÷|õUP[PøÍ ÂÁõvUPÄ®. 

12. (a) Analyse the relationship between total utility and 
marginal utility. 

  ö©õzu £¯ß£õk ©ØÖ® CÖv {ø» 

£¯ß£õkPÐUSQøh÷¯ EÒÍ EÓÂøÚ¨ £S¨£õ´P. 

Or 

 (b)  What are the limitations of marshallian utility?  

  ©õºå¼ß £¯ß£õmiß SøÓ£õkPÒ ¯õøÁ? 
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13. (a) What are the assumptions of law of demand? 

  ÷uøÁ Âv°ß Gk÷PõÒPÒ ¯õøÁ? 

Or 

 (b)  Why demand curve slopes downwards? 

  ÷uøÁ ÁøÍ÷Põk RÌ÷|õUQa ö\ÀÁx Hß? 

14. (a) Write note on inferior good. 

  uμ® SøÓ¢u ö£õ¸Ò £ØÔU SÔ¨¦ GÊxP. 

Or 

 (b)  Analyse the limitations of indifference curve 
analysis. 

  \©ÁøÍÄ ÷Põmk¨ £S¨£õ´Âß SøÓ£õkPøÍ 

£S¨£õ´P. 

15. (a) Explain the importance of short term forecasting. 

  SÖQ¯Põ» Po¨¤ß •UQ¯zxÁzøu ÂÍUSP. 

Or 

 (b)  Explain the different factors involved in forecasting. 

  Po¨¤À Dk£mkÒÍ £À÷ÁÖ PõμoPøÍ ÂÍUSP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the scope of business economics. 

 ÁoP¨ ö£õ¸Î¯¼ß Áøμ¯øÓø¯ ÂÍUSP. 

17. Explain the law of diminishing Marginal utility and state 
its assumptions. 

 SøÓ¢u ö\À CÖv {ø»¨ £¯ß£õmk Âvø¯ ÂÍUQ 

AuÝøh¯ Gk÷PõÒPøÍU SÔ¨¤kP. 
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18. Discuss the determinants of demand. 

 ÷uøÁ°ß PõμoPøÍ ÂÁõvUPÄ®. 

19. Explain the properties of indifference curves. 

 \©ÁøÍÄ ÷PõkPÎß Snõv\¯[PøÍ ÂÍUSP. 

20. Explain the different methods of demand forecasting. 

 ÷uøÁ Po¨¤ØPõÚ £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

 

 

 
———————— 
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AFC–7564   

U.G. DEGREE EXAMINATION, NOVEMBER 2015 

Commerce  – Allied 

BUSINESS ECONOMICS – II 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. State the law of constant returns. 

  ©õÓõ ÂøÍÄ  Âvø¯U TÖP. 

2. What is production function? 

  EØ£zv \õº¦ Gß£x ¯õx? 

3. Give the meaning of implicit cost. 

  EÒÏmk ö\»Ä Gß£uß ö£õ¸Ò u¸P. 

4. What are selling cost? 

  ÂØ£øÚa ö\»ÄPÒ Gß£øÁ ¯õøÁ? 

5. Define market price. 

  \¢øu Âø»ø¯ Áøμ¯Ö. 

6. Give the definition of monopoly. 

 •ØÖ›ø© Gß£uß C»UPn® u¸P. 

Sub. Code 
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7. What is marginal cost? 

  CÖv{ø»a ö\»Ä Gß£x ¯õx? 

8. Define pure competition. 

  y¯ ÷£õmiø¯ Áøμ¯Ö. 

9. Give the meaning of monopoly power. 

  •ØÖ›ø© \Uv Gß£uß ö£õ¸Ò u¸P. 

10. What is meant by product differentiation? 

  ö£õ¸Ò ÷ÁØÖø©¨£kzu¨£hÀ Gß£uß ö£õ¸Ò ¯õøÁ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State the properties of isoquant curve. 

   \© EØ£zvU ÷Põmiß £s¦|»ßPøÍU TÖP. 

Or 

 (b)   Narrate the features of production function. 

    EØ£zva \õº¤ß C¯À¦PøÍ GkzxøμUP. 

12. (a) Explain fixed and variable costs with illustration.  

    {ø»¯õÚ ©ØÖ® ©õÖQÓ ö\»ÄPøÍ ÂÍUPzxhß 

ÂÍUSP. 

Or 

 (b)  Examine the concepts of real and opportunity cost. 

    Esø© ©ØÖ®  Áõ´¨¦a ö\»Ä P¸zxUPøÍ Bμõ´P. 

13. (a) Point out the determinants of supply. 

    AÎ¨¤ß wº©õÛ¨£øÁPøÍa _miU PõmkP. 

Or 
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 (b)  Bring out the relationship between AR and MR 
curves. 

   AR ©ØÖ® MR ÷PõkPÐUSQøh÷¯ EÒÍ öuõhºø£  

öPõnºP. 

14. (a) What are the features of perfect competition? 

    {øÓ¨ ÷£õmi°ß C¯À¦PÒ ¯õøÁ? 

Or 

 (b)  Mention the forms of price discrimination. 

    Âø»¨ ÷£u[Põmh¼ß ÁiÁ[PøÍU SÔ¨¤kP. 

15. (a) Explain the assumptions of monopolistic 
competition. 

   •ØÖ¨÷£õmi°ß Gk÷PõÒPøÍ ÂÍUSP. 

Or 

 (b)  Distinguish between short run and long run. 

    SÖQ¯ ©ØÖ® }sh Põ»® BQ¯ÁØÔØQøh÷¯ 

÷ÁÖ£kzxP. 

 Part C  (3  10 = 30) 
Answer any three questions. 

16. How does a producer attain equilibrium under Isoquant 
analysis? 

\© EØ£zvU ÷Põk B´Ä ‰»® J¸ EØ£zv¯õÍº G[VÚ® 

\©{ø» AøhQÓõº? 

17. Discuss the importance of cost curves in business. 

  öuõÈÀ ö\»ÄU ÷PõkPÎß •UQ¯zxÁzøu  ÂÁõvUP. 

18. Write an elaborate note on Marshall’s time element. 

  ©õºå¼ß Põ» EÖ¨¦ £ØÔ Â›ÁõP SÔ¨¦ GÊxP. 
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19. Explain pricing under monopoly. 

  •ØÖ›ø©°ß RÌ Âø»°hÀ £ØÔ ÂÍUSP. 

20. Explain short run and long run equilibrium under 
monopolistic competition. 

 •ØÖ›ø©¨ ÷£õmi°ß RÌ SÖQ¯ ©ØÖ® }sh Põ» 

\©{ø» £ØÔ ÂÍUSP.  

 

 

 

 
———————— 



 

  

Ws11 

AFC–7565   

 

U.G. DEGREE EXAMINATION, NOVEMBER 2015 

Commerce – Allied 

SECRETARIAL PRACTICE – I 

(CBCS –2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define secretary.  

 ö\¯»º – Áøμ¯ÖUP.  

2. What are the documents necessary for registration?  

 {Ö©¨ £vÂß ÷£õx uõUPÀ ö\´¯ ÷Ási¯ •UQ¯ 

BÁn[PÒ ¯õøÁ? 

3. Who is promoter?  

 ÷uõØÖÂ¨£õÍº Gß£Áº ¯õº?  

4. What is licensing?  

 E›©® GßÓõÀ GßÚ? 

5. What is minutes?  

 {PÌa] {μÀ GßÓõÀ GßÚ? 

6. What is resolution?  

 wº©õÚ® GßÓõÀ GßÚ? 

Sub. Code 

1BCOA3 
 



AFC–7565 

  

  2

Ws11 
7. Mention the shareholders meeting.  

 £[SuõμºPÎß Tmh[PøÍU SÔ¨¤kP.  

8. What is share certificate?  

 £[Sa \õßÔuÌ GßÓõÀ GßÚ? 

9. What do you mean by transfer of shares?  

 £[S ©õØÓ® £ØÔ }Âº AÔÁx GßÚ?  

10. What is the need for registration?  

 £vÄ ö\´u¼ß ÷uøÁ ¯õx?  

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the qualifications necessary for a person to 
be appointed as a company secretary.  

  J¸ {Ö©a ö\¯»μõP {¯ªUP¨£h EÒÍ |£¸US 

÷uøÁ¯õÚ uSvPøÍ ÂÍUSP. 

Or 

 (b)  Describe the importance of secretary in the modern 
business world.  

   |ÃÚ Â¯õ£õμ E»PzvÀ J¸ ö\¯»›ß 

•UQ¯zxÁzøu  ÂÁ›UPÄ®.      

12. (a) Explain the contents of the statutory report.  

   \mh¨§ºÁ AÔUøP°ß EÒÍhUP[PøÍ ÂÍUSP. 

Or 

 (b)  What are the objectives of annual general meeting?  

   Bsk ö£õxU Tmh® |hzu¨£kÁuß ÷|õUP[PÒ 

¯õøÁ? 
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13. (a) What is notice? State the provisions relating to 

issue of notice.  

   AÔÂ¨¦ GßÓõÀ GßÚ? AÔÂ¨¦ AÝ¨¦Áx 

öuõhº£õÚ \mh Âv•øÓPøÍ SÔ¨¤kP.  

Or 

 (b)  What do you mean by special resolution when it is 
required?  

   ]Ó¨¦z wº©õÚ® GßÓõÀ GßÚ? Ax G¨÷£õx 

÷uøÁ¨£kQÓx.  

14. (a) Describe the duties of the secretary at the 
incorporation stage of a company.  

   J¸ {Ö©zvß E¸ÁõUP {ø»°À ö\¯»›ß £oPøÍ 

ÂÁ›UPÄ®.  

Or 

 (b)  Explain the procedure to be followed in the 
forfeiture of shares.  

   £[SPÒ £Ô•uÀ ö\´ÁvÀ ¤ß£ØÓ ÷Ási¯ 

|øh•øÓø¯ ÂÍUSP. 

15. (a) What are the duties of the secretary relating to 
issue of shares?  

   £[S öÁÎ°kÁx öuõhº£õÚ ö\¯»›ß £oPÒ 

¯õøÁ? 

Or 

 (b)  What are the procedures to be followed for transfer 
of shares?  

   £[S ©õØÓzvØS ¤ß£ØÓ ÷Ási¯ ÁÈ•øÓPÒ 

¯õøÁ? 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. What are the statutory and contractual liabilities of  the 
company secretary?  

 {Ö©a ö\¯»›ß \mh¨§ºÁ©õÚ ©ØÖ® J¨£¢u¨ §ºÁ©õÚ 

ö£õÖ¨¦PÒ ¯õøÁ? 

17. Discuss the different stages involved in promotion of a 
company.  

 J¸ {Ö©zvß ÷uõØÖÂ¨¤À Dk£mkÒÍ £À÷ÁÖ 

{ø»PøÍ ÂÁõvUPÄ®.  

18. What are the essentials of a valid meeting?  Explain them 
in detail.  

 J¸ ö\À¾£i¯õPU Ti¯ Tmhzvß AÁ]¯z ÷uøÁPÒ 

¯õøÁ? AÁØøÓ ÂÍUSP. 

19. Describe the duties of secretary relating to transfer of 
shares.  

 £[S ©õØÓ® öuõhº£õÚ ö\¯»›ß £oPøÍ ÂÁ›UPÄ®.  

20. Explain the different types of resolutions. 

 wº©õÚzvß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

  

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2015 

First Semester 

Commerce 

ADVANCED ACCOUNTANCY – I 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What are the functions of accounting? 

 PnUS£vÂ¯¼ß £oPÒ ¯õøÁ? 

2. Give any two limitations of accounting? 

 H÷uÝ® Cμsk PnUS £vÂ¯¼ß Áøμ¯øÓPøÍ TÖP.  

3. What is suspense account? 

 AÚõ©zx PnUS GßÓõÀ GßÚ? 

4. What is meant by errors of omission? 

 Âk¤øÇ GßÓõÀ GßÚ? 

5. Give any two causes of depreciation.  

 ÷u´©õÚzvØPõÚ Põμn[PÒ H÷uÝ® CμsiøÚ TÖP.  

6. Write the formula for calculating straight line method of 
depreciation.   

 ÷|ºU÷Põk ÷u´©õÚ •øÓ°À PnURk ö\´ÁØPõÚ `zvμ® 

GÊxP.  

Sub. Code 

1BCO1C1 
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7. What is meant by gross profit?  

 ö©õzu C»õ£® GßÓõÀ GßÚ? 

8. What is meant by net profit?  

 {Pμ C»õ£® GßÓõÀ GßÚ? 

9. Define fire insurance.  

 w Põ¨¥k – Áøμ¯Ö ö\´P. 

10. What is meant by loss of stock?  

 \μUS CÇ¨¦ GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Prepare Trial balance from the balances  

  Capital Rs. 36,000, Purchases Rs. 1,29,100, 
Premises Rs. 30,000, Discount received Rs. 5,000 
machinery Rs. 8,500, Bad debts Rs. 1,400, Bank 
overdraft Rs. 1,24,000, Cash Rs. 1,000, Creditors  
Rs. 35,000, Debtors Rs. 30,000. 

   RÌÁ¸® C¸¨¦PÎ¼¸¢x C¸¨¦a ÷\õuøÚ u¯õº 

ö\´¯Ä®.  

  •uÀ ¹. 36,000, öPõÒ•uÀ ¹. 1,29,100, ÁÍõP®  

¹. 30,000, uÒÐ£i ö£ØÓx ¹. 5,000 C¯¢vμ®  

¹. 8,500, ÁμõUPhß ¹. 1,400, Á[Q ÷©À Áøμ¨£ØÖ 

¹. 1,24,000, öμõUP® ¹. 1,000, PhÚõÍºPÒ ¹. 35,000, 

PhÚõÎPÒ ¹. 30,000. 

Or 

 (b)  What are the advantages of double entry systems?  

   Cμmøh £vÄ •øÓ°ß |ßø©PÒ ¯õøÁ? 
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12. (a) Rectify the following errors  

  (i) Repairs Rs. 500 wrongly debited to building 
account  

  (ii) Murugan returned goods to us Rs. 1,000. No 
entry in the books  

  (iii) Sales Rs. 1,235 entered Rs. 5,123. 

  (iv) Purchases of motor car Rs. 4,321 entered as 
Rs. 2,143. 

   RÌÁ¸® ¤øÇPøÍ v¸zxP.  

  (i) £Êx £õºzu ¹. 500 uÁÖu»õP Pmih® PnUQÀ 

£ØÖ øÁUP¨£mhx.  

  (ii) •¸Pß |©US v¸¨¤¯ \μUS ¹. 1,000. 

¦zuPzvÀ £vÄ CÀø»   

  (iii) ÂØ£øÚ ¹.  1,235 uÁÓõP ¹. 5,123 GÚ 

£v¯£mkÒÍx. 

  (iv) ÷©mhõº Põº öPõÒ•uÀ ö\´ux ¹. 4,321 uÁÓõP 

¹. 2,143 GÚ £v¯¨£mhx. 

Or 

 (b)  Find out the balance as per pass book from the 
following particulars.  

  (i) Balance as per cash book Rs. 7,500 

  (ii) Cheques issued Rs. 3,200 but not cashed 

  (iii) Cheque paid into bank but not credited  
Rs. 1,850 

  (iv) Customer directly paid into our account  
Rs. 500 

  (v) Bank interest Rs. 250 credited and bank 
charges Rs. 35 debited in the pass book.  
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   RÌÁ¸® Â£μ[PÎ¼¸¢x Á[Q ö\À¾ ¦zuPzvß 

C¸¨ø£ Psk¤i.  

  (i)  öμõUP ¦zuPzvß £i C¸¨¦ ¹. 7,500 

  (ii) ÁÇ[P¨£mh Põ÷\õø»PÒ ¹. 3,200 CxÁøμ 

£n©õUP¨£hÂÀø»  
  (iii) Á[Q°À ö\¾zu¨£mh Põ÷\õø»PÒ ÁμÄ 

øÁUP¨£hÂÀø» ¹. 1,850 

  (iv) ÁõiUøP¯õÍº ÷|›øh¯õP |©x PnUQÀ 

ö\¾zv¯x ¹.  500 

  (v) Á[Q Ámi ¹. 250 ÁμÄ® ©ØÖ® Á[Q Pmhn® 

¹.35 £ØÖ® øÁUP¨£mi¸¢ux ö\À¾ 

¦zuPzvÀ.    

13. (a) On 1st June 2000, Goodwill Ltd purchased second 
hand machine Rs. 40,000 and reconditioned the 
same by spending Rs. 6,000. On January 2001 a 
new machine was purchased Rs. 24,000. On  
30th  April 2002 the machine purchased on January 
2001 was sold for Rs. 16,000 and another machine 
was installed at a cost of Rs. 30,000. The company 
writes off 10% on original every year March 31. 
Show the machinery account update.  

   |Øö£¯º ¼ªöhm áúß 1, 2000 AßÖ J¸ Cμshõ® 

uμ C¯¢vμzøu Áõ[Q¯x ¹. 40,000 Cøu «sk©õP 

¦x¤zu ö\»Ä ¹. 6,000. áÚÁ› 2001 AßÖ J¸ ¦v¯ 

C¯¢vμzøu  ¹. 24,000 US Áõ[Q¯x. 30 H¨μÀ 2002 

AßÖ HØPÚ÷Á Áõ[Q¯ C¯¢vμzøu ¹. 16,000 US 

ÂØ£øÚ ö\´x ÷ÁÖ J¸ C¯¢vμzøu ¹. 30,000. US 

Áõ[Q¯x. C¢{ÖÁÚ® 10 Ãu® JÆöÁõ¸ Á¸h•® 

÷u´©õÚ® }UQ¯x. C¯¢vμ PnUS Cx |õÒ Áøμ 

u¯õº ö\´P.  

Or 

 (b)  What are the needs for providing depreciation?  

   ÷u´©õÚ® ö\´ÁuØPõÚ AÁ]¯[PÒ ¯õøÁ? 
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14. (a) Prepare trading account and profit and loss account 

for the sole trader Mr. Ramesh and balance sheet 
for the year ended 31.12.2005 

 Rs.  Rs. 

Salaries  11,000 Creditors  19,000 

Rent  2,800 Sales  64,000 

Cash 2,000 Capital  60,000 

Debtors  80,000 Loans  20,200 

Factory expenses  1,200   

Purchases 50,000   

Advances  5,000   

Bank  11,200   

 1,63,200  1,63,200 

  Adjustments  

  (i) Closing stock Rs. 18,000 

  (ii) One month salary is in arrear  

  (iii) Two month rent has been paid in advance  

  (iv) Provide 10% for doubtful debts.  

   i\®£º 31, 2005 AßÖ EÒÍ RÌÁ¸® 

C¸¨£PÎ¼¸¢x Â¯õ£õμ C»õ£|mh PnUS ©ØÖ® 

Â¯õ£õ› μ÷©è–ß C¸¨¦ {ø»U SÔ¨ø£²® u¯õº 

ö\´P.  

 ¹.  ¹. 

\®£Í®  11,000 PhÚõÍºPÒ 19,000 

ÁõhøP  2,800 ÂØ£øÚ   64,000 

öμõUP®  2,000 •uÀ 60,000 

PhÚõÎPÒ  80,000 Phß 20,200 

öuõÈØ\õø» ö\»ÁPÒ 1,200   
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öPõÒ•uÀ  50,000   

•ß£n®  5,000   

Á[Q  11,200   

 1,63,200  1,63,200 

  \›UPmhÀPÒ  

  (i) CÖv \μUQ¸¨¦ ¹. 18,000  

  (ii) J¸ ©õu ÁõhøP •ßTmia ö\¾zu¨£mhx  

  (iii) Cμsk ©õu ÁõhøP •ßTmia ö\¾zu¨£mhx.  

  (iv) I¯UPhÝUPõP 10% JxURk ö\´P.  

Or 

 (b)  The Karaikudi criket club has kept its account on 
cash basis and the figures for 2009 are given below. 
You are required to prepare Receipts and Payment 
account for the non trading concern.  

  Entrance fees received Rs. 2,500, secretary’s 
Honorarium Rs. 1,500 subscription received  
Rs. 19,800, cash in hand Rs. 2,350 fees received  
Rs. 600, Locker rent received Rs. 500, Expenses  
Rs. 27,250, cost of investment Rs. 1,100, surplus on 
account Rs. 7,500. 

   PõøμUSi Q›UöPm QÍ¨ ußÝøh¯ PnUSøÍ 

öμõUP Ai¨£øh°À 2009 Á¸hzxUS R÷Ç 

öPõkUP¨£mkÒÍÚ. ö£ÖuÀ ö\¾zxuÀ PnUS JßÖ 

Â¯õ£õμ® CÀ»õu {ÖÁÚzxUPõP u¯õº ö\´¯Ä®.  

   ~øÇÄ Pmhn® ö£ØÓx ¹. 2,500, ö\¯»º ©v¨¦ 

Fv¯® ¹. 1,500, \¢uõ ö£ØÓx ¹. 19,800, øP°¸¨¦ 

öμõUP® ¹. 2,350 Pmhn® ö£ØÓx ¹. 600, £õxPõ¨¦ 

ö£mhP ÁõhøP ö£ØÓx ¹. 500, ö\»ÄPÒ ¹. 27,250, 

•u½kPÎß ©v¨¦ ¹. 1,100, E£› PnUQÀ {¾øÁ  

¹. 7,500. 
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15. (a) On 31 December, 2010 a fire in the campus of a 

business concern, which were carried of a general 
merchandise. Through the books, which were saved 
from fire, it was ascertained that   

Sales from 01.01.2010 to 31.12.2010 Rs. 11,45,000 

Purchases from 01.01.2010 to 31.12.2010 Rs. 4,20,000 

Stock on hand (31.12.2009) Rs. 1,18,000 

  Gross profit (for 5 years) 35% on sales. The value of 
salvaged stock was agreed at Rs. 15,000. Show the 
amount of claim.   

   31.12.2010 AßÖ J¸ Â¯õ£õμ {ÖÁÚzvÀ w 

HØ£mhx. w°¼¸¢x «mP¨£mh PnUQ¯À ¦zuPzvÀ 

Psk¤iUP¨£mhøÁ  

ÂØ£øÚ 01.01.2010 •uÀ 31.12.2010 Rs. 11,45,000 

öPõÒ•uÀ 01.01.2010 •uÀ 31.12.2010 Rs. 4,20,000 

\μUQ¸¨¦ øP°¸¨¦ (31.12.2009) Rs. 1,18,000 

   ö©õzu C»õ£® (5 Á¸h[PÐUS) 35 % ÂØ£øÚ°À 

Psk¤iUP¨£mhx.  w Â£zxUS ¤ÓS C¸¢u \μUQß 

©v¨¦ ¹. 15,000. Põ¨¥mk {ÖÁÚzvh® ÷PmP¨£h 

÷Ási¯ ÷Põ¸›ø© öuõøPø¯U Psk¤i.   

Or 

 (b)  External traders taken out a fire policy covering 
stock-in-trade. A fire occurs on 31.03.2002 and stock 
was destroyed with except value of Rs. 10,340.  

   Stock on 31.3.2002 Rs. 15,000, purchases to the date 
of fire Rs. 65,000, sales to the date of fire  
Rs. 45,000, commission paid to purchases manager 
on purchases 2%, carriage on purchases Rs. 400 
average gross profit on cost 25%. Arrive at the total 
loss of stock.  
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   öÁÎ Â¯õ£õμ {ÖÁÚ® wUPõÚ £õ¼] GkzxÒÍx. 

31.3.2002 AßÖ w Â£zx HØ£mh ÷£õx u¨¤¯ 

\μUQß ©v¨¦ ¹. 10,340 

   C¸¨¦ \μUS 31.3.2002 ¹. 15,000, w Â£zx HØ£mh 

|õÒ Áøμ öPõÒ•uÀ ¹.  65,000, w Â£zx HØ£mh 

|õÒ Áøμ ÂØ£øÚ ¹. 45,000, öPõÒ•uÀ 

÷©»õÍ¸US öPõÒ•uÀ PÈÄ ö\¾zv¯x 2%, 

öPõÒ•uÀ EÒ yUST¼ ¹. 400 AhUP Âø» «x 

\μõ\› ö©õzu C»õ£® 25%. \μUQß 

|èhzöuõøP°øÚ PnUQkP.  

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Prepare a trial balance from the following balances  

 Capital Rs. 1,00,000, Cash in hand Rs. 20,000, Creditors 
Rs. 80,000, Debtors Rs. 1,00,000, Closing stock  
Rs. 40,000,   Fixed assets Rs. 72,000, Discount received 
Rs. 5,000, Bank overdraft Rs. 42,000, Drawings Rs. 6,000, 
Loan Rs. 11,000. 

 RÌÁ¸® C¸¨¦PÎ¼¸¢x C¸¨¦a ÷\õuøÚ JßÖ u¯õº 

ö\´P.  

 •uÀ ¹. 1,00,000, øP°¸¨¦ öμõUP® 20,000, PhÜ¢÷uõºPÒ 

¹. 80,000, PhÚõÎPÒ ¹. 1,00,000, CÖv \μUS ¹. 40,000,   

{ø»¯õÚ ö\õzxPÒ ¹. 72,000, uÒÐ£i ö£ØÓx ¹. 5,000, 

Á[Q ÷©À Áøμ¨£ØÖ ¹. 42,000, Gk¨¦ ¹. 6,000, Phß  

¹. 11,000. 

17. Rectify the following errors and give journal entry  
 (a) Goods sold to Ramu Rs. 500 wrongly posted to 

Raman account  
 (b) Cash received from Arul Rs. 1,358 was posted on  

Rs. 853 
 (c) Wages paid Rs. 250 has been debited as Repairs 

account.  
 (d) Commission paid Rs. 380 was entered as Rs. 830.  
 (e) There is no entry for goods returned by Kumar  

Rs. 1,000 
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 RÌÁ¸® ¤øÇPøÍ v¸zv •uØSÔ÷£k £vÄPøÍ u¸P.  

 (A) μõ•ÂØS ö\´u ÂØ£øÚ ¹. 500 uÁÓõP μõ©ß 

PnUQÀ GÊu¨£mhx.  

 (B) A¸Îhª¸¢x ö£ØÓ öμõUP® ¹. 1,358  PnUQÀ  

¹. 853 £v¯¨£mhx   

 (C) T¼ öPõkzux ¹. 250 £Êx£õºzuÀ PnUQÀ £ØÖ 

øÁUP¨£mhx.  

 (D) PÈÄ öPõkzux ¹. 380, PnUQÀ ¹. 830 GßÖ 

GÊu¨£mhx.  

 (E) S©õº v¸¨¤ AÝ¨¤¯ \μUQØS¨ £vÄ CÀø»  

¹. 1,000 

18. Explain the cause of depreciation. 

 ÷u´©õÚzvØPõÚ Põμn[PøÍ ÂÍUSP. 

19. From the following balance, prepare final account for the 
year ending 31st March, 2007  

 Rs.  Rs. 

Capital 1,40,000 Purchases 90,000 

Return outwards 500 Sales  1,60,000 

Return inwards 700 Building 45,000 

Machinery  25,000 Postage  1,500 

Discount allowed  1,300 Discount earned 100 

Cash in hand 6,000 Cash at bank 19,800 

Debtors  16,000 Stock  20,000 

Motor cycle  24,000 Creditors  7,000 

Wages  5,000 Interest received  1,250 

Salary  2,000 Rent received 750 

Computer  35,000 Generator  18,300 

 Adjustment : 
 (a) Closing stock Rs. 18,000 
 (b) Interest accured but not yet received Rs. 300 
 (c) Rent received in advance Rs. 250 
 (d) Wages outstanding Rs. 500.  
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 RÌPõq® C¸¨¦PÎ¼¸¢x 31.3.2007 – À •iÁøh²® 

CÖv PnUS u¯õº ö\´¯Ä®.  

 ¹.  ¹. 

•uÀ  1,40,000 öPõÒ•uÀ  90,000 

öÁÎv¸¨£®  500 ÂØ£øÚ  1,60,000 

EÒv¸¨£® 700 Pmih®  45,000 

C¯¢vμ®  25,000 Ag\À ö\»Ä  1,500 

uÒÐ£i öPõkzux 1,300 uÒÐ£i ö£ØÓx 100 

øP°¸¨¦ öμõUP®  6,000 Á[Q°¸¨¦  19,800 

PhÚõÎPÒ  16,000 \μUS  20,000 

÷©õmhº ø\UQÒ  24,000 PhÜ¢÷uõºPÒ  7,000 

T¼  5,000 Ámi ö£ØÓx  1,250 

\®£Í®  2,000 ÁõhøP ö£ØÓx 750 

PoÛ  35,000 öáÚ÷μmhº  18,300 

 \›UPmkPÒ  

 (A) CÖv \μUQ¸¨¦ ¹. 18,000 

 (B) ö£Ó¨£h ÷Ási¯ Ámi ¹. 300 

 (C) ÁõhøP •ßTmi ö£ØÓx ¹. 250 

 (D) T¼ öPõk£h ÷Ási¯x ¹. 500 

20. Explain the fire insurance in detail.  

 w Põ¨¥k £ØÔ Â›ÁõP ÂÍUSP. 

———————— 


